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10829H (K) e T 10 005 S0
10830A (k) e = 10 T 507
108310(%) e ) 10 ¥RT05 =
11828(8) e = 10 T e
11838(8) e ol 10 12000 L
11848(N) e & 10 T S
11850 (K) e R 10 LT S
11868 (K) e = 10 T 0
11 A78(2) e ) 10 ¥ S50
1188E(1) e = 10 RV S50
11898(A) e ) 10 T 550
115108(8) e = 10 RV 5o
11 A11A(K) e ) 10 Tan 5a0
118 126 (K) e = 10 T 507
118138 (k) e = 10 oo S0
118140 (2) e = 10 VT oo
119158(1) e ) 10 T 550
118168(H) e = 10 RV S50
118178(8) e ) 10 T 550
118188 (X) e = 10 T b
118198 (K) e =T 10 T 50
118208 (K) e = 10 0 50
11A210(%) e =T 10 T 7
118248(8) e = 10 = =
118256 (X) e =T 10 D S
11826H (K) e = 10 0 50
118278(K) e =T 10 T 50
118288 (%) e o 10 L S50
118298(1) e =T 10 T 550
118308(H) e o 10 . S50
12B18(8) e =T 10 TET 0
12828(N) e = 10 i =
12838 (K) e =T 10 o =
12848 (k) na =T 10 i 520
12858 (%) e =T 10 e 520
1286E(1) na o 10 1 510
12878(8) e =T 10 o 507
1288E(8) e ) 10 1 50
12898(N) e =T 10 o =
128 108 (K) e ) 10 i =
128118(K) e =T 10 T =
128128(%) e = 10 . 525
128138(1) e =T 10 o 507
128148(8) e = 10 10 5
128156 (8) e =T 10 o 507
128 165 (X) e =T 10 190'550000 =
1281 4 = ' =
7H(K) = f&E ] 10 9,500 850;2
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12H18H(K) W=y @] 10 9,500 85%
12H19H(E) NS, &l 10 10,500 84%
12H20H(X) W=y @] 10 10,500 84%
12H21H(H) NS, &l 10 10,500 84%
12H22H(H) W=y @] 10 10,500 84%
12H238(N) NS, &l 10 9,500 85%
12H24H(K) W=y @] 10 9,500 85%
12H25H(K) NS, &l 10 9,500 85%
1H5H(H) W=y @] 10 10,500 83%
1H6H(N) =y &l 10 9,500 84%
1H7H(CK) W=y @] 10 9,500 84%
1H8H(XK) =y &l 10 9,500 84%
1H9H (&) W= @] 10 10,500 83%
1H10H(XL) =3 &l 10 10,500 83%
1H11H(H) =y @] 10 10,500 83%
1812H(H) =y &l 10 10,500 83%
1H13H(X) =y @] 10 9,500 84%
1H14H(K) =y &l 10 9,500 84%
1H15H(CK) =y @] 10 9,500 84%
1H16H(E) = &l 10 10,500 83%
1H17H(XL) =y @] 10 10,500 83%
1818H(H) =y &l 10 10,500 83%
1H19H(H) =y @] 10 10,500 83%
1H20HX) = &l 10 9,500 84%
1H21H(K) =y @] 10 9,500 84%
1H22H(K) =y &l 10 9,500 84%
1H23H(ER) = ] 10 10,500 83%
1H24H(XL) =3 &l 10 10,500 83%
1H25H(H) = ] 10 10,500 83%
1H26H(H) =3 &l 10 10,500 83%
1H27H(X) = ] 10 9,500 84%
1H28H(K) =3 &l 10 9,500 84%
1H29H(K) = ] 10 9,500 84%
1H30HGE) =3 &l 10 10,500 83%
1H31H(L) = ] 10 10,500 83%
10H26H(H) &l =3 13 10,500 83%
10827H(H) & =y 13 10,500 83%
10H28H(XN) &l =3 13 9,500 84%
10H29H(K) & =) 13 9,500 84%
10H30H(K) &l =3 13 9,500 84%
10H31H(&) &l =) 13 10,500 83%
1182H(H) &l =3 13 15,000 75%
1183H(H) &l (= 13 15,000 75%
11H48(N) fe ] (=} 13 9,500 84%
11H5H(K) &l (= 13 9,500 84%
11H6H(K) &l =3 13 9,500 84%
1187H(E) &l =) 13 10,500 83%
1188H(L) &l =3 13 10,500 83%
11H9H(H) &l = 13 10,500 83%
11510H(H) &l =3 13 10,500 83%
11H11HN) &l (= 13 9,500 84%
11H12H(K) &l =3 13 9,500 84%
11H13H(K) &l =) 13 9,500 84%
11H14H(%) &l =3 13 10,500 83%
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11515H(%) &l e 13 10,500 83%
11816H(H) &l = 13 10,500 83%
11H17H(H) &l e 13 10,500 83%
11H18H(CN) &l = 13 9,500 84%
11H19H(K) f& ] =) 13 9,500 84%
11H20H(K) &l = 13 9,500 84%
11H21H(%) &l e 13 10,500 83%
11823H(H) &l = 13 12,000 80%
11H258(CXN) f& ] =) 13 9,500 84%
11H26H(K) &l = 13 9,500 84%
11H27H(K) f& ] =) 13 9,500 84%
11828H(E) &l = 13 10,500 83%
11529H(%) &l e 13 10,500 83%
11H30H(H) &l il= 13 10,500 83%
12A1H(H) &l =) 13 10,500 84%
12H2HX) &l il= 13 9,000 86%
12H3H(K) & ] =) 13 9,000 86%
12H4H(K) G=lid = 13 9,000 86%
12H5H(GER) &l =) 13 10,000 84%
12H6H(L) &l il= 13 10,000 84%
12A7H(H) &l =) 13 10,000 84%
1258H(H) &l il= 13 10,000 84%
12H9H(X) & ] =) 13 9,000 86%
12H10H(K) &l il= 13 9,000 86%
12H11H(K) & ] =) 13 9,000 86%
12H12H (&) &l = 13 10,000 84%
12H13H(X) &l =) 13 10,000 84%
12H14H(H) &l =3 13 10,000 84%
12H15H(H) & =) 13 10,000 84%
12H16H(XN) &l =3 13 9,000 86%
12H17H(0K) & =) 13 9,000 86%
12H18H(K) &l =3 13 9,000 86%
12H19H (&) &l =) 13 10,000 84%
12H20H(%) &l =3 13 10,000 84%
12821H(H) &l =) 13 10,000 84%
12H22H(AH) &l =3 13 10,000 84%
12H23H(N) & =y 13 9,000 86%
12H24H(K) &l =3 13 9,000 86%
12H25H(K) & =) 13 9,000 86%
185H(H) &l =3 13 10,000 84%
1H6H(CN) &l (= 13 9,000 85%
1H7H(K) &l =3 13 9,000 85%
1H8H(K) &l (= 13 9,000 85%
1H9H (&) &l =3 13 10,000 84%
1H10H(L) &l =) 13 10,000 84%
1811H(H) &l =3 13 10,000 84%
1H12H(H) &l (= 13 10,000 84%
1H13HX) &l =3 13 9,000 85%
1H14H(K) &l (= 13 9,000 85%
1H15H(K) &l =3 13 9,000 85%
1H16H(E) &l = 13 10,000 84%
1H17H(XL) &l =3 13 10,000 84%
1H18H(H) &l =) 13 10,000 84%
1H19H(H) &l =3 13 10,000 84%
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1H20H(X) f& ] e 13 9,000 85%
1H21H(K) &l = 13 9,000 85%
1H22H(K) f& ] e 13 9,000 85%
1523H(%) &l = 13 10,000 84%
1H24H(XL) &l =) 13 10,000 84%
1H25H(H) &l = 13 10,000 84%
1H26H(H) &l =) 13 10,000 84%
1H27H(X) &l = 13 9,000 85%
1H28H(K) f& ] e 13 9,000 85%
1H29H(K) &l = 13 9,000 85%
1H30HGE) &l =) 13 10,000 84%
1831H(L) &l = 13 10,000 84%
10H26H(H) W= @] 14 11,000 82%
10H27H(H) =3 &l 14 11,000 82%
10H28H(N) =y @] 14 10,000 84%
10H29H(K) =y &l 14 10,000 84%
10H30H(K) =y @] 14 10,000 84%
10H31H(%&) =y &l 14 11,000 82%
11H2H(H) =y @] 14 15,000 75%
1183H(H) = e ] 14 15,000 75%
1154H(X) =y @] 14 10,000 84%
11H5H(K) =y &l 14 10,000 84%
11H6H(K) =y @] 14 10,000 84%
1187H(GE) = &l 14 11,000 82%
11H8H(L) =y @] 14 11,000 82%
1189H((H) =y &l 14 11,000 82%
11510H(H) = ] 14 11,000 82%
11H11H(CN) =3 &l 14 10,000 84%
11H12H(0K) = ] 14 10,000 84%
11H13H(K) =3 &l 14 10,000 84%
11H148(&) = ] 14 11,000 82%
11H15H(%) =3 &l 14 11,000 82%
11816H(H) = ] 14 11,000 82%
11H17H(H) =3 &l 14 11,000 82%
11H18H(N) = ] 14 10,000 84%
11H19H(K) =3 &l 14 10,000 84%
11H20H(K) =y ] 14 10,000 84%
11H21H(%&) =3 &l 14 11,000 82%
11H22H (%) = ] 14 12,000 80%
11823H(H) W=y &l 14 12,000 80%
11H25H(AN) W=y il 14 10,000 84%
11H26H(K) W=y &l 14 10,000 84%
11H27H(K) W=y il 14 10,000 84%
11H28H(%&) W=y &l 14 11,000 82%
11H29H(X) W=y e ] 14 11,000 82%
118308 (H) W=y &l 14 11,000 82%
12H1H(H) W=y il 14 10,500 84%
12H2H(X) W=y &l 14 9,500 85%
12H3H(K) = fE 14 9,500 85%
12H4H(K) =y &l 14 9,500 85%
12H5H(E) = e ] 14 10,500 84%
12H6H(L) =y &l 14 10,500 84%
12A7H(H) = &l 14 10,500 84%
12H8H(H) =y &l 14 10,500 84%
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12H9H(X) W=y @] 14 9,500 85%
12H10H(K) NS, &l 14 9,500 85%
12H11H(K) W=y @] 14 9,500 85%
12H12H(%&) NS, &l 14 10,500 84%
12H13H(X) W=y @] 14 10,500 84%
12H14H(H) NS, &l 14 10,500 84%
12H15H(H) W=y @] 14 10,500 84%
12H16H(N) NS, &l 14 9,500 85%
12H17H(K) W=y @] 14 9,500 85%
12H18H(K) NS, &l 14 9,500 85%
12H19H (&) W=y @] 14 10,500 84%
12H20H(X) NS, &l 14 10,500 84%
12H21H(H) W= @] 14 10,500 84%
12H22H(H) =3 &l 14 10,500 84%
12H23H(N) =y @] 14 9,500 85%
12H24H(K) =y &l 14 9,500 85%
12H25H(K) =y @] 14 9,500 85%
185H(H) =y &l 14 10,500 83%
1H6H(X) =y @] 14 9,500 84%
1H7H(K) = &l 14 9,500 84%
1H8H(K) =y @] 14 9,500 84%
1H9H (&) =y &l 14 10,500 83%
1H10H(L) =y @] 14 10,500 83%
1H11H((H) = &l 14 10,500 83%
1H12H(H) =y @] 14 10,500 83%
1H13H(CX) =y &l 14 9,500 84%
1H14H(K) = ] 14 9,500 84%
1H15H(K) =3 &l 14 9,500 84%
1H16H(E) = ] 14 10,500 83%
1H17H(XL) =3 &l 14 10,500 83%
1H18H(H) = ] 14 10,500 83%
1H19H(H) =3 &l 14 10,500 83%
1H20H(X) = ] 14 9,500 84%
1H21H(K) =3 &l 14 9,500 84%
1H22H(RK) = ] 14 9,500 84%
1H23H(E) =3 &l 14 10,500 83%
1H24H(L) =y ] 14 10,500 83%
1825H(H) =3 &l 14 10,500 83%
1H26H(H) = ] 14 10,500 83%
1H27H(KX) W=y &l 14 9,500 84%
1H28H(K) W=y il 14 9,500 84%
1H29H(K) W=y &l 14 9,500 84%
1H30H(GER) W=y ] 14 10,500 83%
18A31H(L) W=y &l 14 10,500 83%
10H26H(H) &l =) 15 10,500 83%
10H27H(H) &l =3 15 10,500 83%
10H28H(AN) &l (= 15 9,500 84%
10H29H(K) &l =3 15 9,500 84%
10H30H(K) &l (= 15 9,500 84%
10H31H(E) &l =3 15 10,500 83%
1182H(H) &l = 15 15,000 75%
1183H(H) &l =3 15 15,000 75%
11548H(X) &l =) 15 9,500 84%
11H5H(0K) &l =3 15 9,500 84%
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11H6H(K) f& ] =) 15 9,500 84%
11H7H(E) &l = 15 10,500 83%
1188H(L) &l =) 15 10,500 83%
11H9H((H) &l = 15 10,500 83%
11510H(H) &l =) 15 10,500 83%
11H11HCN) &l = 15 9,500 84%
11H12H(K) f& ] =) 15 9,500 84%
11H13H(K) &l = 15 9,500 84%
11H14H(%&) &l =) 15 10,500 83%
11H15H(%) &l = 15 10,500 83%
11516H(H) &l =) 15 10,500 83%
11817H(H) &l = 15 10,500 83%
11H18H(N) e ] =) 15 9,500 84%
11H19H(K) &l il= 15 9,500 84%
11H20H(K) & ] =) 15 9,500 84%
11H21H(&) &l il= 15 10,500 83%
11H22H(%) &l =) 15 12,000 80%
11823H(H) &l il= 15 12,000 80%
11H25HCN) & ] =) 15 9,500 84%
11H26H(K) &l il= 15 9,500 84%
11H27H(K) & ] =) 15 9,500 84%
11H28H(&) &l il= 15 10,500 83%
11H29H(%) &l =) 15 10,500 83%
11830H(H) &l il= 15 10,500 83%
12A1H(H) &l =) 15 10,000 84%
12H2HX) &l = 15 9,000 86%
12H3H(K) & =) 15 9,000 86%
12H4H(K) &l =3 15 9,000 86%
12H5H(ER) &l =) 15 10,000 84%
12H6H(L) &l =3 15 10,000 84%
12H7H(H) &l =) 15 10,000 84%
12858H(H) &l =3 15 10,000 84%
12H9H(X) & =) 15 9,000 86%
12H10H(K) &l =3 15 9,000 86%
12H11H(K) & =) 15 9,000 86%
12H12H(%&) &l =3 15 10,000 84%
12H13H(X) &l =) 15 10,000 84%
12H14H(H) &l =3 15 10,000 84%
12H15H(H) & =) 15 10,000 84%
12H16H(XN) &l =3 15 9,000 86%
12H17H(0K) &l (= 15 9,000 86%
12H18H(K) &l =3 15 9,000 86%
12H19H (%) &l =) 15 10,000 84%
12H20H(%) &l =3 15 10,000 84%
12821H(H) &l =) 15 10,000 84%
12H22H(AH) &l =3 15 10,000 84%
12H23H(N) &l (= 15 9,000 86%
12H24H(K) &l =3 15 9,000 86%
12H25H(K) &l (= 15 9,000 86%
185H(H) &l =3 15 10,000 84%
1H6H(CN) &l (= 15 9,000 85%
1H7H(CK) &l =3 15 9,000 85%
1H8H(XK) &l =) 15 9,000 85%
1H9H (&) &l =3 15 10,000 84%
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1H10H(X) &l =) 15 10,000 84%
1H11H(H) & e 15 10,000 84%
1H12H(H) &l =) 15 10,000 84%
1H13H(CN) & e 15 9,000 85%
1H14H(K) &l =) 15 9,000 85%
1H15H(K) & e 15 9,000 85%
1H16H(E) &l =) 15 10,000 84%
1H17H(XL) & e 15 10,000 84%
1H18H(H) &l =) 15 10,000 84%
1H19H(H) & e 15 10,000 84%
1H20H(X) &l =) 15 9,000 85%
1H21H(K) & e 15 9,000 85%
1H22H(K) &l =) 15 9,000 85%
1H23H(%) & =) 15 10,000 84%
1H24H(%) &l e 15 10,000 84%
1H25H(H) &l =) 15 10,000 84%
1H26H(H) &l e 15 10,000 84%
1H27H(CN) &l =) 15 9,000 85%
1H28H(K) &l =) 15 9,000 85%
1H29H(K) &l =) 15 9,000 85%
1HA30H(E) &l e 15 10,000 84%
1H31H(L) &l = 15 10,000 84%
10H26H(H) =) &l 16 10,500 83%
10H27H(H) NS &l 16 10,500 83%
10H28H(AN) =) &l 16 9,500 84%
10H29H(K) NS, &l 16 9,500 84%
10H30H(XK) =) &l 16 9,500 84%
10H31H(%&) =) &l 16 10,500 83%
11H2H(H) =) &l 16 15,000 75%
11H3H((AH) =) &l 16 15,000 75%
11H4H(KN) =) &l 16 9,500 84%
11H5H(K) =) &l 16 9,500 84%
11H6H(K) =) &l 16 9,500 84%
1187H(E) =) &l 16 10,500 83%
11H8H(L) =) &l 16 10,500 83%
11H9H(H) =) &l 16 10,500 83%
11H10H(H) =) &l 16 10,500 83%
11811HCN) =) &l 16 9,500 84%
11H12H0K) =) &l 16 9,500 84%
11H13H(K) =) &l 16 9,500 84%
11H14H(£&) =) &l 16 10,500 83%
11H15H(%) =) &l 16 10,500 83%
11H16H(H) =) &l 16 10,500 83%
11H17H(H) =) &l 16 10,500 83%
11H18HCN) =) e ] 16 9,500 84%
11H19H0K) =) &l 16 9,500 84%
11H20H(K) =) e ] 16 9,500 84%
11H21H(%&) =) &l 16 10,500 83%
11H22H(%) =) &l 16 12,000 80%
11H23H(H) =) &l 16 12,000 80%
11H25H0N) =) e ] 16 9,500 84%
11H26H0K) =) &l 16 9,500 84%
11H27H(K) e &l 16 9,500 84%
11H28H(%&) =) &l 16 10,500 83%
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7BEH
X

11829H(%) (X5
11830H(H) wWa _ &%
12828(KX) s 8 16 = p—s
1283H(K) e tam 16 10,500 %
12848(X) Ty 12 16 10,500 83%
12H58(2) = 1aH 16 10,000 83%
12868 (X e I 16 9,000 84%
12H ) = 1=l 16 9,000 86%

7H(H) = H e
12888(B) s 12 16 9,000 6%
12H9A(X) = 1aH 16 10,000 86%
125108 (K) e 1&0 16 10,000 84%
12811H(K) wa 2 16 10,000 84%
12812H(£) = Felta 16 10,000 34%
12H13H(%) =) 1@ 16 9,000 84%
128148(H) wa 12 16 9,000 86%
12H156(8) = & 16 9,000 86%
1283168 (N) = =] 16 10,000 86%
12817H(K) & 1@ 16 10,000 84%
12818A(K) = =] 16 10,000 84%
12A19A(&) e & 16 10,000 84%
12H20H(E) =) fi=I 16 9,000 84%
12821H(B) = 1@ 16 9,000 86%
128228(8) ) el 16 9,000 86%
12A23A(K) e & 16 10,000 86%
128248 (K) = =] 16 10,000 84%
12258 (k) e & 16 10,000 84%
185H(8) = &) 16 10,000 84%
1A6H(X) wa & 16 9,000 84%
178 () = 18 16 9,000 86%
1H8H(XK) = 1E 16 9,000 86%
1H9H(& = 18 16 10,000 36%
18108 ) = 1R 16 9,000 84%
(L) = 5] ©) 859

1H11H(H) =y &[T 16 ,000 o
1B128(8) s & 16 9,000 85%
1A13H(A) e & 16 10,000 85%
1B 148 (K) e e 16 10,000 84%
18158 (K) = el 16 10,000 84%
1516HGER) il fEIE] 16 10,000 84%
18178 (%) fia a0 16 9,000 84%
15186 (8) filiz & 16 9,000 85%
1819H(8) = Gl 16 9,000 85%
1H20H(X) =) ] 16 10,000 85%
1H21H(K) = 12 16 10,000 84%
1H22H(K) = 12 16 10,000 84%
1A23H(2) = 1 16 10,000 84%
18246 (%) filiz & 16 9,000 84%
1825H(H) s el 16 9,000 85%
1826H(A) = e 16 9,000 85%
18278 (KN) wa = 16 10,000 85%
1H28H () e eI 16 10,000 84%
1H298(X) s 15 16 10,000 84%
18308(%) e e 16 10,000 84%
1A318 (%) filia i 16 9,000 84%
= 1= 16 9,000 85%
1 16 9,000 85%
16 10,000 85%
10,000 84%
84%
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108266(H) i = oo o
108278(8) i %; 13 11000 S50
10828H (X) = e 19 T 520
108298 (K) E e 19 0000 S
108308 (k) = e 19 T s
10831H(2) R e 19 12000 =
11848(N) = e 19 T 520
11858 (K) E e 19 T0°000 S
1186H(A) = e 19 T s
11878(2) E e 19 12000 =
11888 (1) T e 19 T S50
11898(H) E e 19 11000 S50
118108 (8) = e 19 RV S50
11 A11A(K) ol e 19 T S
118 126 (K) = e 19 T s
118 1368 (A) = e 19 T S
118140 (2) = e 19 VT S50
118158(1) = e 19 L 550
118168(H) ol e 19 . S50
118178(8) = e 19 L 550
118188 (K) ol e 19 o Sao
118 198 (K) = e 19 T S0
118208 (K) ol e 19 5 s
11A210(%) = e 19 L S50
118238(8) ol e 19 S S0
118258(K) = e 19 T S
11826H (K) E e 19 T s
118276 (A) = e 19 T S
118288 (%) ) e 19 . S50
118298(1) R s 19 T 5o
118308(H) ol e 19 o S50
12810(8) = e 19 T 52
12828 (X) ) e 19 i S50
12836 (K) = e 19 o =4
12846 () ) e 19 - =
12858 (%) R s 19 e 5o
1286E(1) ol e 19 ' 51
12876(H) = e 19 T S
12888(8) ) e 19 2y 51
12898(N) =T e 19 Ton Seo
128 108 () Em e 19 i 520
128118(K) = e 19 T =
128128(%) Em e 19 . 5o
128138(1) =T e 19 TET S
128148(8) Em e 19 1 510
128156 (8) =T e 19 o S
128 165 (X) ol e 19 e 5o
128178(K) =T e 19 T =
128 18H () ol e 19 S 520
128190(%) =T e 19 T 5o
128208 (L) Em e 19 10 510
128218(8) =T e 19 e S
122225(5) T e 19 18'288 5
12H23H(N = : o

(N) f&hE =, 19 9,500 85%
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12H24H(K) f& ] e 19 9,500 85%
12H25H(K) &l = 19 9,500 85%
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1H6B(X) 2hEE NI 33 8,500 74%
1H7H(CK) ZaE NI 33 8,500 74%
1H8H(K) 2EE NI 33 8,500 74%
1H9H (&) ZaE NI 33 9,000 72%
1H13HX) ZhE NN 33 8,500 74%
1H14H(K) ZaE NI 33 8,500 74%
1H15H(CK) ZhE NN 33 8,500 74%
1H16H(GE) ZaE NI 33 8,500 74%
1H517H(L) ZhE NN 33 9,000 72%
1H18H(H) ZaE NI 33 9,000 72%
1819H(H) 2EE NI 33 8,500 74%
1H20H(X) ZaE NI 33 8,500 74%
1H21H(K) 2EE NI 33 8,500 74%
1H22H(K) ZaE NI 33 8,500 74%
1H23H(E) 2EE NI 33 8,500 74%
1H24H(L) ZaE NI 33 9,000 72%
1825H(H) 2EE NI 33 9,000 72%
1H26H(H) ZaE NI 33 8,500 74%
1H278H0X) 2EE NI 33 8,500 74%
1H28H(K) ZaE NI 33 8,500 74%
1H29H(K) 2EE NI 33 8,500 74%
1H30HGE) ZaE NI 33 8,500 74%
1HA31H(L) 2EE NI 33 9,000 72%
10H26H(H) NN ZHaE 34 8,000 75%
10H27H(H) NN Bz 34 8,500 74%
10H28H(AN) NN ZHaE 34 8,500 74%
10H29H(K) NN “EE 34 8,500 74%
10H30H(K) NN ZHaE 34 8,500 74%
10H31H(E) NN Bz 34 9,500 71%
11H4H(KN) NN ZHaE 34 8,500 74%
11H5H0K) NN “EE 34 8,500 74%
11H6H(RK) NN ZHaE 34 8,500 74%
1187H(E) NIT, Bz 34 9,000 72%
11H8H(L) NN ZaE 34 9,500 71%
1189H((H) NN “EE 34 9,500 71%
11H10H(H) NN ZHaE 34 9,000 72%
118113 NI HEE 34 8,500 74%
11H12H(0K) NN ZhE 34 8,500 74%
11813H(K) NI HEE 34 8,500 74%
115148 (%&) NN ZhE 34 9,000 72%
11H15H(%) NIT, ZaE 34 9,500 71%
11816H(H) NN 2R 34 9,500 71%
11H17H(H) NN ZaE 34 9,000 72%
11H18H(AN) NN ZhE 34 8,500 74%
11H19H(K) NN “aE 34 8,500 74%
11H20H(K) NN ZhE 34 8,500 74%
11H21H(%&) NIT, ZoaE 34 9,500 71%
11H25H(AN) NN ZhE 34 8,500 74%
11H26H(K) NN ZoaE 34 8,500 74%
11H27H(K) NN ZhE 34 8,500 74%
11H28H (&) NN ZaE 34 9,000 72%
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11H29H(%) NN ZHaE 34 9,500 71%
118308 (H) NIT, ZhE 34 9,500 71%
12H51H(H) NN ZHaE 34 9,000 74%
12H2H(X) NIT, ZhE 34 8,500 75%
12H3H(K) NN ZHaE 34 8,500 75%
12H4H(K) NIT, ZhE 34 8,500 75%
12H5HGER) NN ZHaE 34 9,000 74%
12H6H(L) NIT, ZhE 34 9,500 72%
1287H((H) NN ZHaE 34 9,500 72%
12H8H(AH) NIT, ZhE 34 9,000 74%
12H9H(X) NN ZHaE 34 8,500 75%
12H10H(K) NIT, ZhE 34 8,500 75%
12H11H(K) NN ZHaE 34 8,500 75%
12H12H (&) NN ZhE 34 9,000 74%
12H13H(%) NN ZEaE 34 9,500 72%
12H14H(H) NN ZhE 34 9,500 72%
12H15H(H) NN ZEaE 34 9,000 74%
12H16H(N) NN “EE 34 8,500 75%
12H17H(0K) NN ZEE 34 8,500 75%
12H18H(K) NN BEE 34 8,500 75%
12H19H (&) NN ZEaE 34 9,000 74%
12H20H(X) NN ZhE 34 9,500 72%
12H21H(H) NN ZEE 34 9,500 72%
12H22H(H) NN ZhE 34 9,000 74%
12H23H(N) NN ZEaE 34 9,000 74%
12H24H(K) NN ZhE 34 9,000 74%
12H25H(K) NN ZHaE 34 9,000 74%
1H6H(N) NN Bz 34 9,000 72%
18780K) NN ZHaE 34 9,000 72%
1H8H(RK) NN “EE 34 9,000 72%
1H9H (%) NN ZHaE 34 9,500 71%
1H13HX) NN Bz 34 9,000 72%
1H14H(K) NN ZHaE 34 9,000 72%
1H15H(CK) NN “EE 34 9,000 72%
1H16H(E) NN ZHaE 34 9,000 72%
1H17H(XL) NIT, Bz 34 9,500 71%
1H18H(H) NN ZaE 34 9,500 71%
1H19H(H) NN “EE 34 9,000 72%
1H20H(X) NN ZHaE 34 9,000 72%
1H21H(K) NN ZaE 34 9,000 72%
1H22H(K) NN ZhE 34 9,000 72%
1H23H(GER) NIT, ZaE 34 9,000 72%
1H24H(L) NN ZhE 34 9,500 71%
1H25H(H) NN ZaE 34 9,500 71%
1H26H(H) NN 2R 34 9,000 72%
1H27H(X) NN ZaE 34 9,000 72%
1H28H(K) NN ZhE 34 9,000 72%
1H29H(K) NN “aE 34 9,000 72%
1H30H(ER) NN ZhE 34 9,000 72%
1H31H(L) NIT, ZoaE 34 9,500 71%
10H26H(H) ZaE NI 35 8,000 75%
10H27H(H) ZaE NI 35 8,500 74%
10H28H(N) ZhE NI 35 8,500 74%
10H29H(K) ZaE NI 35 8,500 74%
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10H30H(K) ZaE NI 35 8,500 74%
10H31H(%&) ZhE NN 35 9,500 71%
11H4H(X) ZaE NI 35 8,500 74%
11H55H(K) ZhE NN 35 8,500 74%
11H6H(K) ZaE NI 35 8,500 74%
11H7H(E) ZhE NN 35 9,000 72%
1188H(L) ZaE NI 35 9,500 71%
11H9H((H) ZhE NN 35 9,500 71%
11510H((H) ZaE NI 35 9,000 72%
11H11HCN) ZhE NN 35 8,500 74%
11H12H(K) ZaE NI 35 8,500 74%
11H13H(K) ZhE NN 35 8,500 74%
11H14H(%) ZaE NI 35 9,000 72%
11H15H(%) 2EE NI 35 9,500 71%
11816H(H) ZaE NI 35 9,500 71%
11817H(H) 2EE NI 35 9,000 72%
11H18H(N) ZaE NI 35 8,500 74%
11H19H(K) 2EE NI 35 8,500 74%
11H20H(K) ZaE NI 35 8,500 74%
11H21H(&) 2EE NI 35 9,500 71%
11H25HCN) ZaE NI 35 8,500 74%
11H26H(K) 2EE NI 35 8,500 74%
11H27H(K) ZaE NI 35 8,500 74%
11H28H(%&) 2EE NI 35 9,500 71%
11529H(X) ZaE NI 35 9,500 71%
11H30H(H) 2EE NI 35 9,500 71%
12H1H(H) ZaE NI 35 9,000 74%
12H2H(X) 2EE NI 35 8,500 75%
12H3H(K) ZaE NI 35 8,500 75%
12H4H(K) 2EE NI 35 8,500 75%
12H5H(ER) ZaE NI 35 9,000 74%
12H6H(L) 2EE NI 35 9,500 72%
12A7H(H) ZaE NI 35 9,500 72%
12858H(H) 2EE NI 35 9,000 74%
12H9H(X) ZaE NI 35 8,500 75%
12H10H(K) 2EE NI 35 8,500 75%
12H11H(K) ZaE NI 35 8,500 75%
12H12H(%&) 2EE NI 35 9,000 74%
12H13H(X) ZaE NI 35 9,500 72%
12H14H(H) “aE NI 35 9,500 72%
12H15H(H) ZaE NI 35 9,000 74%
12H16H(XN) “aE NI 35 8,500 75%
12H17H(0K) ZaE NI 35 8,500 75%
12H18H(K) “aE NI 35 8,500 75%
12H19H (%) ZaE NI 35 9,000 74%
12H20H(%) “aE NI 35 9,500 72%
12821H(H) ZaE NI 35 9,500 72%
12H22H(AH) “aE NI 35 9,000 74%
12H23H(N) ZaE NI 35 9,000 74%
12H24H(K) ZaE NI 35 9,000 74%
12H25H(K) ZaE NI 35 9,000 74%
1H6H(X) ZaE NI 35 9,000 72%
18780K) ZhE NI 35 9,000 72%
1H8H(XK) ZaE NI 35 9,000 72%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

1H9H (&) ZaE NI 35 9,500 71%
1H13HX) ZhE NN 35 9,000 72%
1H14H(K) ZaE NI 35 9,000 72%
1H15H(CK) ZhE NN 35 9,000 72%
1H16H(GER) ZaE NI 35 9,000 72%
1H517H(L) ZhE NN 35 9,500 71%
1H18H(H) ZaE NI 35 9,500 71%
1819H(H) ZhE NN 35 9,000 72%
1H20H(X) ZaE NI 35 9,000 72%
1H21H(K) ZhE NN 35 9,000 72%
1H22H(K) ZaE NI 35 9,000 72%
1523H(%) ZhE NN 35 9,000 72%
1H24H(XL) ZaE NI 35 9,500 71%
1825H(H) 2EE NI 35 9,500 71%
1H26H(H) ZaE NI 35 9,000 72%
1H278H0X) 2EE NI 35 9,000 72%
1H28H(K) ZaE NI 35 9,000 72%
1H29H(K) 2EE NI 35 9,000 72%
1H30H(GE) ZaE NI 35 9,000 72%
1HA31H(L) 2EE NI 35 9,500 71%
10H26H(H) NN ZEaE 36 8,000 75%
10H27H(H) NN “EE 36 8,000 75%
10H28H(N) NN ZEE 36 8,000 75%
10H29H(K) NN BEE 36 8,000 75%
10H30H(K) NN ZEaE 36 8,000 75%
10H31H(%&) NN ZhE 36 9,000 72%
11H4H(KN) NN ZHaE 36 8,000 75%
11H5H0K) NN Bz 36 8,000 75%
11H6H(RK) NN ZHaE 36 8,000 75%
1187HGE) NN “EE 36 8,500 74%
11H8H(L) NN ZHaE 36 9,000 72%
1189H((H) NN Bz 36 9,000 72%
11H10H(H) NN ZHaE 36 8,500 74%
11H11H(CN) NN “EE 36 8,000 75%
11H12H(0K) NN ZHaE 36 8,000 75%
11H13H(K) NN Bz 36 8,000 75%
11H148(&) NN ZaE 36 8,500 74%
11H158(%) NN “EE 36 9,000 72%
11816H(H) NN ZHaE 36 9,000 72%
11H17H(H) NN ZaE 36 8,500 74%
11H18H(N) NN ZhE 36 8,000 75%
11H19H(K) NN ZaE 36 8,000 75%
11H20H(K) NN ZhE 36 8,000 75%
11H21H(%&) NN ZaE 36 9,000 72%
11H25H(CN) NN 2R 36 8,000 75%
11H26H(K) NN ZaE 36 8,000 75%
11H27H(K) NN ZhE 36 8,000 75%
11H28H (&) NN “aE 36 8,500 74%
11H29H(X) NN ZhE 36 9,000 72%
118308 (H) NN ZoaE 36 9,000 72%
12H1H(H) NN ZhE 36 8,500 75%
12H2H(X) NN ZoaE 36 8,000 77%
12H3H(K) NN ZhE 36 8,000 77%
12H4H(K) NN ZaE 36 8,000 77%
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12H5HGER) NN ZHaE 36 8,500 75%
12H6H(L) NIT, ZhE 36 9,000 74%
1287H((H) NN ZHaE 36 9,000 74%
12H8H(AH) NN ZhE 36 8,500 75%
12H9H(X) NN ZHaE 36 8,000 77%
12H10H(K) NIT, ZhE 36 8,000 77%
12H11H(K) NN ZHaE 36 8,000 77%
12H12H(GE) NIT, ZhE 36 8,500 75%
12H13H(%) NN ZHaE 36 9,000 74%
12H14H(H) NIT, ZhE 36 9,000 74%
12H15H(H) NN ZHaE 36 8,500 75%
12H16H(N) NIT, ZhE 36 8,000 77%
12H17H(K) NN ZHaE 36 8,000 77%
12H18H(K) NN BEE 36 8,000 77%
12H19H (&) NN ZEaE 36 8,500 75%
12H20H(X) NN ZhE 36 9,000 74%
12H21H(H) NN ZEaE 36 9,000 74%
12H22H(H) NN “EE 36 8,500 75%
12H23H(N) NN ZEE 36 8,500 75%
12H24H(K) NN BEE 36 8,500 75%
12H25H(K) NN ZEaE 36 8,500 75%
185H(H) NN ZhE 36 9,500 71%
1H6H(X) NN ZEE 36 8,500 74%
1H7H(K) NN BEE 36 8,500 74%
1H8H(K) NN ZEaE 36 8,500 74%
1H9H (&) NN ZhE 36 9,000 72%
1H13H(KN) NN ZHaE 36 8,500 74%
1H14H(K) NN Bz 36 8,500 74%
1H15H(K) NN ZHaE 36 8,500 74%
1H16H(GE) NN “EE 36 8,500 74%
1H17H(XL) NN ZHaE 36 9,000 72%
1H18H(H) NN Bz 36 9,000 72%
1H19H(H) NN ZHaE 36 8,500 74%
1H20H(X) NN “EE 36 8,500 74%
1H21H(K) NN ZHaE 36 8,500 74%
1H22H(K) NN Bz 36 8,500 74%
1H23H(ER) NN ZaE 36 8,500 74%
1H24H(XL) NN “EE 36 9,000 72%
1H25H(H) NN ZHaE 36 9,000 72%
1H26H(H) NN ZaE 36 8,500 74%
1H27H(CKN) NN ZhE 36 8,500 74%
1H28H(K) NN ZaE 36 8,500 74%
1H29H(K) NN ZhE 36 8,500 74%
1H30HGE) NN ZaE 36 8,500 74%
1HA31H(L) NN 2R 36 9,000 72%
10H26H(H) “aE NI 37 8,000 75%
108H27H(H) ZaE NI 37 8,500 74%
10H28H(XN) “aE NI 37 8,500 74%
10H29H(K) ZaE NI 37 8,500 74%
10H30H(K) ZaE NI 37 8,500 74%
10H31H(%&) ZaE NI 37 9,500 71%
11H4H(X) ZaE NI 37 8,500 74%
11H5H(K) ZhE NI 37 8,500 74%
11H6H(K) ZaE NI 37 8,500 74%
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1188H(L) ZaE NI 37 9,500 71%
11H9H((H) ZhE NN 37 9,500 71%
11510H(H) ZaE NI 37 9,000 72%
11H11HCN) ZhE NN 37 8,500 74%
11H12H(K) ZaE NI 37 8,500 74%
11H13H(K) ZhE NN 37 8,500 74%
11H14H(%) ZaE NI 37 9,000 72%
11H15H(%) ZhE NN 37 9,500 71%
11516H(H) ZaE NI 37 9,500 71%
11817H(H) ZhE NN 37 9,000 72%
11H18H(N) ZaE NI 37 8,500 74%
11H19H(K) ZhE NN 37 8,500 74%
11H20H(K) ZaE NI 37 8,500 74%
11H21H(&) 2EE NI 37 9,500 71%
11H25HCN) ZaE NI 37 8,500 74%
11H26H(K) 2EE NI 37 8,500 74%
11H27H(K) ZaE NI 37 8,500 74%
11H28H (&) 2EE NI 37 9,000 72%
11H29H(%) ZaE NI 37 9,500 71%
11830H(H) 2EE NI 37 9,500 71%
12A1H(H) ZaE NI 37 9,000 74%
12H2HX) 2EE NI 37 8,500 75%
12H3H(K) ZaE NI 37 8,500 75%
12H4H(K) 2EE NI 37 8,500 75%
12H5H(GER) ZaE NI 37 9,000 74%
12H6H(L) 2EE NI 37 9,500 72%
12H7H(H) ZaE NI 37 9,500 72%
12858H(H) 2EE NI 37 9,000 74%
12H9H(X) ZaE NI 37 8,500 75%
12H10H(K) 2EE NI 37 8,500 75%
12H11H(K) ZaE NI 37 8,500 75%
12H12H(%&) 2EE NI 37 9,000 74%
12H13H(X) ZaE NI 37 9,500 72%
12H14H(H) 2EE NI 37 9,500 72%
12H15H(H) ZaE NI 37 9,000 74%
12H16H(XN) 2EE NI 37 8,500 75%
12H17H(0K) ZaE NI 37 8,500 75%
12H18H(K) 2EE NI 37 8,500 75%
12H19H (&) ZaE NI 37 9,000 74%
12H20H(%) “aE NI 37 9,500 72%
12821H(H) ZaE NI 37 9,500 72%
12H22H(AH) “aE NI 37 9,000 74%
12H23H(N) ZaE NI 37 9,000 74%
12H24H(K) “aE NI 37 9,000 74%
12H25H(K) ZaE NI 37 9,000 74%
1H6H(X) “aE NI 37 9,000 72%
18780K) ZaE NI 37 9,000 72%
1H8H(XK) “aE NI 37 9,000 72%
1H9H (%) ZaE NI 37 9,500 71%
1H13HX) ZaE NI 37 9,000 72%
1H14H(K) ZaE NI 37 9,000 72%
1H15H(K) BEE NI 37 9,000 72%
1H16H(E) ZhE NI 37 9,000 72%
1H17H(XL) ZaE NI 37 9,500 71%
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1H18H(H) ZaE NI 37 9,500 71%
1819H(H) ZhE NN 37 9,000 72%
1H20H(X) ZaE NI 37 9,000 72%
1H21H(K) ZhE NN 37 9,000 72%
1H22H(K) ZaE NI 37 9,000 72%
1523H(%) ZhE NN 37 9,000 72%
1H24H(XL) ZaE NI 37 9,500 71%
1825H(H) ZhE NN 37 9,500 71%
1H26H(H) ZaE NI 37 9,000 72%
1H27HX) ZhE NN 37 9,000 72%
1H28H(K) ZaE NI 37 9,000 72%
1H29H(K) ZhE NN 37 9,000 72%
1H30HGE) ZaE NI 37 9,000 72%
1HA31H(L) 2EE NI 37 9,500 71%
10H26H(H) NN ZEaE 38 8,000 75%
10H27H(H) NN BEE 38 8,500 74%
10H28H(N) NN ZEaE 38 8,500 74%
10H29H(K) NN “EE 38 8,500 74%
10H30H(K) NN ZEE 38 8,500 74%
10H31H(%&) NIT, BEE 38 9,500 71%
1154H(X) NN ZEaE 38 8,500 74%
11H5H(K) NN “EE 38 8,500 74%
11H6H(K) NN ZEE 38 8,500 74%
1187H(GE) NIT, BEE 38 9,000 72%
11H8H(L) NN ZEaE 38 9,500 71%
11810H(H) NN “EE 38 9,000 72%
11H11HN) NN ZHaE 38 8,500 74%
11H12H(K) NN Bz 38 8,500 74%
11H13H(K) NN ZHaE 38 8,500 74%
11H14H (&) NN “EE 38 9,000 72%
11H15H(X) NN ZHaE 38 9,500 71%
11516H((H) NN Bz 38 9,500 71%
11H17H(H) NN ZHaE 38 9,000 72%
11H18H(CXN) NN “EE 38 8,500 74%
11H19H0K) NN ZHaE 38 8,500 74%
11H20H(K) NN Bz 38 8,500 74%
11H21H(&) NN ZaE 38 9,500 71%
11H258(X) NN “EE 38 8,500 74%
11H26H(K) NN ZHaE 38 8,500 74%
11827H(K) NI HEE 38 8,500 74%
11H28H (&) NN ZhE 38 9,000 72%
11H29H(%) NN ZaE 38 9,500 71%
12H1H(H) NN ZhE 38 9,000 74%
12H2H(X) NN ZaE 38 8,500 75%
12H3H(K) NN 2R 38 8,500 75%
12848H(K) NI HEE 38 8,500 75%
12H5H(E) NN ZhE 38 9,000 74%
12856H(XL) NN “aE 38 9,500 72%
12H8H(AH) NN ZhE 38 9,000 74%
12H9H(X) NN ZoaE 38 8,500 75%
12H10H(K) NN ZhE 38 8,500 75%
12A11H(K) NI “HEE 38 8,500 75%
12H12H(%&) NN ZhE 38 9,000 74%
12513H(%) NN ZaE 38 9,500 72%
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12H14H(H) NN ZHaE 38 9,500 72%
12H15H(A) NIT, ZhE 38 9,000 74%
12H16H(XN) NN ZHaE 38 8,500 75%
12H17H(K) NIT, ZhE 38 8,500 75%
12H18H(K) NN ZHaE 38 8,500 75%
12H19H(E) NIT, ZhE 38 9,000 74%
12H20H(X) NN ZHaE 38 9,500 72%
12H21H(H) NIT, ZhE 38 9,500 72%
12H22H(H) NN ZHaE 38 9,000 74%
12H238(CN) NIT, ZhE 38 9,000 74%
12H24H(K) NN ZHaE 38 9,000 74%
12H25H(K) NIT, ZhE 38 9,000 74%
1H6H(X) NN ZHaE 38 9,000 72%

1H7H(K) NN BEE 38 9,000 72%

1H8H(K) NN ZEaE 38 9,000 72%

1H9H (&) NIT, BEE 38 9,500 71%

1H13H(X) NN ZEaE 38 9,000 72%
1H14H(K) NN “EE 38 9,000 72%
1H15H(CK) NN ZEE 38 9,000 72%
1H16H(E) NIT, BEE 38 9,000 72%
1H17H(XL) NN ZEaE 38 9,500 71%
1818H(H) NN “EE 38 9,500 71%
1H19H(H) NN ZEE 38 9,000 72%
1H20HX) NN BEE 38 9,000 72%
1H21H(K) NN ZEaE 38 9,000 72%
1H22H(K) NN “EE 38 9,000 72%
1H23H(ER) NN ZHaE 38 9,000 72%
1H24H(XL) NIT, Bz 38 9,500 71%
1H25H(H) NN ZHaE 38 9,500 71%
1H26H(H) NN “EE 38 9,000 72%
1H27H(KX) NN ZHaE 38 9,000 72%
1H28H(K) NN Bz 38 9,000 72%
1H29H(K) NN ZHaE 38 9,000 72%
1H30HGE) NN “EE 38 9,000 72%
1H31H(L) NN ZHaE 38 9,500 71%
10H26H(H) =3 L5 39 11,600 78%
10827H(H) =y L5 39 9,100 83%
10H28H(X) (=} NS 39 11,100 79%
10H29H(K) = L5 39 11,100 79%
10H30H(K) W=y IN=; 39 11,600 78%
1182H(H) W=y L5 39 11,600 78%
1183H(H) W=y IN=; 39 10,100 81%
1154H(KN) W=y L5 39 10,100 81%
11H5H0K) W=y IN=; 39 11,600 78%
11H6H(K) W=y L5 39 10,100 81%
1187HGE) W=y IN=; 39 10,100 81%
11H8H(L) W=y L5 39 11,100 79%
1189H((H) W=y IN=; 39 10,100 81%
11H10H(H) = IN=; 39 10,100 81%
118113 (=} =] 39 10,100 81%
11H12H(0K) = IN=; 39 10,100 81%
11H13H(K) =y IN=; 39 10,100 81%
118148(%&) = IN=] 39 11,600 78%
11515H(%) =y IN=; 39 11,100 79%
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118168
118 175%% T
11818H(N) e = i
118198 (K) T o ; T il
118208 (K) i is : . .
11821H(%) = /N=] 5 0100 .
11823H(A) = Lo - e -
i - s = 9,100 81%
11825H(N) = Lo : - -
e - e 32 11,100 81%
11827H(XK) = Lo - - -
e - e 32 10,100 81%
i - Lo =2 10,100 81%
11830H(8) = /N=] 5 L10 -
1281H(A) = Lo = - :
12828(N) = /N=] 5 L1 -
12838 (K) = = - o -
12848 (A) = Lo - - -
12H5H(&®) = NS 5 T -
12868 (1) = Lo - - -
1287H(H) = NS 5 610 .
1288H(8) s Lo - g -
12H9B8(XN) = NS 5 S0 -
128108 (K) = Lo - - -
12811H(K) = L5 5 S0 -
12812H(S) = e = - -
12813H(1) = L5 5 e -
12814H(A) = Le - - -
s - cs i 7,300 84%
12816H(N) = L2 - o -
128178(K) = L5 5 S0 -
12818H(K) = L2 - : -
12819H(&) = IN=] 5 T -
= 2 s = 7,300 85%
o - s > 7,300 87%
12822H(8) = L2 - - .
128238 (N) = IN=] 5 10 -
12824H(K) = L2 - - -
128258(K) = IN=] 5 s -
185H(8) = L2 - - -
186H(N) = L5 5 T -
1878 (0K) = = = - .
188H(XK) = L5 5 s -
189H(2) = = = - -
1810H(1) = /N=] 5 AT .
18118(H) = Le = - -
e - s = 7,300 86%
18H138(N) = = = - -
1814H0K) = /N=] 5 800 -
18158 (K) = Le = - -
1816H(&) = IN=] 5 s -
2 iz e = 8,100 85%
1818H(H) = IN=] 5 s -
1819H(H) = = = - -
s NS = s -
- 5 L 85%
= 5100 85%
8,100 =7
85%
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1H20H(X) W=y INS; 39 7,300 86%
1H21H(K) NS, NS 39 7,300 86%
1H22H(K) W=y INS; 39 7,300 86%
1H23HGE) U=} L5 39 8,100 85%
1H24H(XL) W=y INS; 39 8,100 85%
1H25H(H) NS, NS 39 8,100 85%
1H26H(H) W=y INS; 39 8,100 85%
1H27H(X) NS, NS 39 8,100 85%
1H28H(K) W=y INS; 39 7,300 86%
1H29H(K) NS, NS 39 8,100 85%
1H30HGE) W=y INS; 39 8,100 85%
1H31H(%) U=} L5 39 8,100 85%
10H26H(H) L5 =) 40 11,100 79%
10H27H(H) /NS = 40 10,100 81%
10H28H(N) L5 =) 40 11,100 79%
10H29H(K) /NS il= 40 11,100 79%
10H30H(K) INZ] =) 40 11,100 79%
10H31H(%&) /NS = 40 11,600 78%
1151H(XL) L5 =) 40 11,600 78%
1182H(H) /NS = 40 10,100 81%
1154H(X) INZ] =) 40 10,100 81%
11H5H(K) /NS = 40 10,100 81%
11H6H(K) L5 =) 40 10,100 81%
1187H(GE) /NS = 40 10,100 81%
11H8H(L) L5 =) 40 11,100 79%
1189H((H) /NS = 40 11,100 79%
11510H(H) NS =) 40 10,100 81%
11H11H(CN) /NS = 40 10,100 81%
11H12H(0K) NS =) 40 10,100 81%
11H13H(K) /NS = 40 10,100 81%
11H148(&) NS =) 40 11,100 79%
11H15H(%) /NS = 40 10,100 81%
11816H(H) NS =) 40 10,100 81%
11H17H(H) /NS = 40 10,100 81%
11H18H(N) NS =) 40 9,100 83%
11H19H(K) /NS = 40 10,100 81%
11H20H(K) NS =) 40 10,100 81%
11823H(H) /NS = 40 10,100 81%
11824H(H) NS =) 40 10,100 81%
11H258(X) /NS =) 40 10,100 81%
11H26H(K) L5 (= 40 10,100 81%
11H27H(K) /NS =) 40 8,600 84%
11H28H (&) L5 =) 40 8,600 84%
11H29H(%) /NS =) 40 10,100 81%
11830H(H) L5 =) 40 8,600 84%
12851H(H) /NS =) 40 10,100 82%
12H2H(X) L5 (= 40 7,300 87%
12H3H(K) /NS =) 40 7,300 87%
12H4H(K) L5 (= 40 8,100 85%
12H5H(E) L5 =) 40 11,100 80%
12H6H(L) L5 = 40 9,100 83%
1287H(H) NS =) 40 8,100 85%
12H8H(H) L5 =) 40 9,100 83%
12H9H(X) NS =) 40 8,100 85%
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12H10H(K) NS =) 40 7,300 87%
12H11H(K) INZ; = 40 9,100 83%
12H12H(%) NS =) 40 9,100 83%
12H13H(%) L5 = 40 10,100 82%
12H14H(H) NS =) 40 8,100 85%
12H15H(H) L5 = 40 9,100 83%
12H16H(XN) NS =) 40 8,600 84%
12H17H(K) INZ; = 40 8,600 84%
12H18H(K) L5 =) 40 8,600 84%
12H19H(%&) INZ; = 40 9,100 83%
12H20H(X) NS =) 40 9,100 83%
12H21H(H) L5 = 40 8,100 85%
12H22H(H) L5 =) 40 8,100 85%
12H23H(N) /NS = 40 8,600 84%
12H24H(0K) L5 =) 40 8,600 84%
12H25H(K) /NS = 40 9,100 83%
1H5H(A) INZ] =) 40 10,100 81%

1H6H(N) /NS = 40 8,100 85%

18780K) L5 =) 40 7,300 86%

1H8H(XK) /NS = 40 7,300 86%

1H9H (%) INZ] =) 40 9,100 83%

1H10H(L) /NS = 40 9,100 83%
1H11H(H) L5 =) 40 8,100 85%
1H12H(H) /NS = 40 8,100 85%
1H13H(X) L5 =) 40 8,600 84%
1H14H(K) /NS = 40 7,300 86%
1H15H(K) NS =) 40 8,600 84%
1H16H(E) /NS = 40 9,100 83%
1H17H(XL) NS =) 40 9,100 83%
1H18H(H) /NS = 40 8,100 85%
1H19H(H) NS =) 40 9,100 83%
1H20H(X) /NS = 40 8,600 84%
1H21H(K) NS =) 40 7,300 86%
1H22H(K) /NS = 40 7,300 86%
1H23H(ER) NS =) 40 9,100 83%
1H24H(XL) /NS = 40 9,100 83%
1H25H(H) NS =) 40 8,100 85%
1H26H(H) /NS = 40 8,100 85%
1H27H(X) NS =) 40 8,600 84%
1H28H(K) /NS =) 40 7,300 86%
1H29H(K) L5 (= 40 7,300 86%
1H30HGE) /NS =) 40 9,100 83%
1HA31H(L) L5 =) 40 9,100 83%
10H26H(H) W=y IN=; 41 11,100 79%
10H27H(H) W=y L5 41 11,100 79%
10H28H(X) (= L5 41 10,100 81%
10H29H(K) W=y L5 41 9,100 83%
10H30H(K) W=y IN=; 41 10,100 81%
10H31H(%&) = L5 41 11,600 78%
1182H(H) =y IN=; 41 11,100 79%
1183H(AH) = IN=; 41 10,100 81%
11H48(CN) (=} L5 41 9,100 83%
11H5H(K) = IN=] 41 9,100 83%
11H6H(K) =y IN=; 41 10,100 81%
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H(1) 5
1189H(H) e = -
11810H((8) T is . T iu
118118(N) i is . . .
0 - s X 9,100 81%
11813H(XK) = Lo i - -
HE - e = 11,100 81%
e - L8 o 9,100 79%
11816H(H) = /N=] i L0 -
e - Lo = 11,100 83%
11818H(N) = /N=] i 010 -
5 - L8 o 10,100 79%
11820H(XK) = /N=] i 0100 .
11821H(%) = L2 i i -
i - s X 9,100 81%
11823H(A) = = i - -
118258(N) s Lo i = -
118268 (K) = N i 00 .
118278(X) s Lo i o -
11828H(&) = L5 i 5100 .
i 2 s o 9,100 81%
i - cs & 8,600 83%
E B s 1 10,100 84%
128280XN) = L5 i L0 .
: B s 1 11,100 81%
i o 2 - 10,100 79%
12858(&) = Le i - -
1286H (1) = IN=] i c0 -
12878(H) = L2 i - -
1288H(H) = L5 i s -
- s s o 8,100 87%
128108 (K) = IN=] i 510 -
12811H(XK) = L2 i . -
i o i5 - 8,100 82%
= 2 s o 7,300 85%
o - s ! 7,300 87%
12815H(8) = L2 i - -
128168 (N) = IN=] i s -
12817H(K) = L2 i - -
12818H(K) = IN=] i s -
128198(2) = Le i - -
128208 (1) = /N=] i AT -
128218(8) = Le i - :
12822H(8) = /N=] i s -
128238 (N) = Le i - -
128248 (K) = /N=] i s -
128258 (K) = Le i : -
18A58(H) = /N=] i T -
1H6H(N) = = i - -
18780K) = IN=] i s -
: iz e o 8,100 87%
P - cs 2 9,100 85%
18108(%) = = i - -
= IN= i AT -
zs 41 7,300 seo
i 220 86%
9,100 520
83%
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1H11H(H) W=y INS; 41 8,100 85%
1H12H(H) NS, NS 41 8,600 84%
1H13H(X) W=y INS; 41 8,100 85%
1H14H(K) NS, NS 41 7,300 86%
1H15H(K) W=y INS; 41 7,300 86%
1516H(%) NS, NS 41 8,100 85%
1H17H(XL) W=y INS; 41 8,100 85%
1H18H(H) NS, NS 41 8,100 85%
1H19H(H) W=y INS; 41 8,100 85%
1H20H(X) NS, NS 41 7,300 86%
1H21H(K) W=y INS; 41 7,300 86%
1H22H(K) NS, NS 41 7,300 86%
1H23H(GR) W= INS; 41 8,100 85%
1H24H(XL) NS, L5 41 8,100 85%
1H25H(H) =y L5 41 8,100 85%
1H26H(H) =y L5 41 8,100 85%
1H27H(X) =y L5 41 7,300 86%
1H28H(K) =y L5 41 7,300 86%
1H29H(K) =y L5 41 7,300 86%
1H30H(GE) NS L5 41 8,100 85%
1H31H(L) =y L5 41 8,100 85%
10H26H(H) /NS il= 42 11,100 79%
10H27H(H) L5 =) 42 11,100 79%
10H28H(XN) /NS = 42 9,100 83%
10H29H(K) L5 =) 42 10,100 81%
10H30H(XK) /NS = 42 10,100 81%
10H31H(:&) NS =) 42 11,100 79%
11H1H(L) /NS = 42 10,100 81%
1182H(H) NS =) 42 10,100 81%
11H4H(X) /NS = 42 11,100 79%
11H5H(K) NS =) 42 9,100 83%
11H6H(K) /NS = 42 10,100 81%
1187H(GER) NS =) 42 10,100 81%
11H8H(L) L5 = 42 10,100 81%
11H9H(H) NS =) 42 11,100 79%
11510H(A) /NS = 42 10,100 81%
11H11HCN) NS =) 42 9,100 83%
11H12H(K) /NS = 42 9,100 83%
11H13H(K) NS =) 42 10,100 81%
11H14H(%&) L5 =) 42 10,100 81%
11H15H(X) L5 =) 42 10,100 81%
11516H(H) /NS =) 42 10,100 81%
11H17H(H) L5 (= 42 10,100 81%
11H18H(XN) /NS =) 42 9,100 83%
11H19H(0K) L5 (= 42 9,100 83%
11H20H(K) /NS =) 42 10,100 81%
11H21H(&) L5 =) 42 10,100 81%
11H22H(%) L5 =) 42 10,100 81%
11823H(H) L5 = 42 11,100 79%
1183258HCKX) IN=) (=} 42 10,100 81%
11H26H(K) L5 (= 42 8,600 84%
11H27H(K) NS =) 42 8,600 84%
11H28H(%&) L5 =) 42 8,600 84%
11H29H(%) INZ] =) 42 10,100 81%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

11530H(H) NS =) 42 9,100 83%
12H1H(H) INZ; = 42 11,100 80%
12H2H(X) NS =) 42 8,100 85%
12H3H(K) L5 = 42 7,300 87%
12H4H(K) NS =) 42 8,100 85%
12H5H(E) L5 = 42 9,100 83%
12H6H(L) NS =) 42 8,100 85%
12A7H(H) INZ; = 42 9,100 83%
12H8H(H) L5 =) 42 9,100 83%
12H9H(X) INZ; = 42 8,100 85%
12H10H(K) NS =) 42 7,300 87%
12H11H(K) L5 = 42 7,300 87%
12H12H(%) L5 =) 42 9,100 83%
12H13H(%) /NS = 42 8,100 85%
12H14H(H) L5 =) 42 10,100 82%
12H15H(H) /NS = 42 8,600 84%
12H16H(CN) INZ] =) 42 8,100 85%
12H17H(K) /NS = 42 7,300 87%
12H18H(K) L5 =) 42 7,300 87%
12H19H(%&) /NS = 42 9,100 83%
12H20H(x) INZ] =) 42 8,100 85%
12H21H(H) /NS = 42 9,100 83%
12H22H(H) L5 =) 42 8,100 85%
12H23H(N) /NS = 42 7,300 87%
12H24H(0K) L5 =) 42 7,300 87%
12H25H(K) /NS = 42 8,600 84%
1H5H(A) NS =) 42 9,100 83%
1H6H(N) /NS = 42 8,100 85%
18780K) NS =) 42 7,300 86%
1H8H(XK) /NS = 42 7,300 86%
1H9H (%) NS =) 42 9,100 83%
1H10H(L) /NS = 42 8,100 85%
1H11H((H) NS =) 42 8,100 85%
1H12H(H) /NS = 42 10,100 81%
1H13H(X) NS =) 42 8,100 85%
1H14H(K) /NS = 42 7,300 86%
1H15H(K) NS =) 42 7,300 86%
1H16H(GE) /NS = 42 9,100 83%
1H17H(XL) NS =) 42 8,100 85%
1H18H(H) /NS =3 42 8,100 85%
1H19H(H) L5 (= 42 8,100 85%
1H20H(X) /NS =3 42 7,300 86%
1H21H(K) L5 (= 42 7,300 86%
1H22H(K) /NS =3 42 7,300 86%
1H23H(ER) L5 =) 42 9,100 83%
1H24H(XL) /NS =3 42 8,100 85%
1H25H(H) L5 =) 42 8,100 85%
1H26H(H) /NS =3 42 8,100 85%
1H27H(KX) L5 (= 42 8,100 85%
1H28H(K) NS =3 42 7,300 86%
1H29H(K) L5 (= 42 7,300 86%
1H30HGE) NS =3 42 9,100 83%
1HA31H(L) L5 =) 42 8,100 85%
10H26H(H) =y IN=; 43 11,100 79%
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10HZSEEU<§ T
10H29H(K) e = o
22 = 3 - ESEE |5z
. . s & 10,100 Z5[=R
1182H8(H) = /N=] - 510 -
1183H(8) = Lo i - -
118480N) = /N=] - L0 -
1185H(0K) = Lo i - :
11H6H(K) = /N=] - L1 -
11878(&) = Lo i - -
11H8H(1) = /N=] - 3100 .
i - L8 = 9,100 81%
11810H((8) = /N=] - 3100 .
11811H(N) = L2 43 - -
b 4 Lo X 10,100 83%
11813H(XK) = = 43 - -
118148(%) s Lo s o -
118158(1) = L5 - X .
11816H(H) s Lo s - -
i o £2 23 10,100 83%
11818H(N) s Lo s - -
i o 2 13 9,100 79%
11820B(A) s Lo s o -
118218(%) = L5 - 200 :
B 2 s e 9,100 81%
11823H(8) = L5 - X -
11825H(N) = Le s i -
i . 2 23 11,100 83%
11827H(XK) = L2 i - -
11828H(&) = L5 - 5100 :
5 s s 3 9,100 81%
11830H(8) = IN=] - 10 -
- : i 43 10,100 84%
128280XN) = L5 - s -
. E i )’ 8,600 84%
1284H(K) = IN=] - 800 .
12858(&) = L2 i - -
1286H (1) = IN=] - AT -
12878(H) = L2 i - -
1288H(H) = IN=] - S -
12898 (X) = = 43 - -
128108 (K) = /N=] - 10 -
128118(XK) = Le i : -
12812H(&) = /N=] - T -
128138(1) = Le i - -
. - s 22 7,300 87%
128158(8) = Le i - .
12816H(N) = /N=] - s .
. 5 i a2 8,100 83%
i - cs 2 9,100 85%
12819H(2) = Lo i - -
128208 (%) = IN=] - o -
128218(8 = Lo i - -
) = N=) - i -
. : 5500 87%
E 8,100 =
a1 85%
83%
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12H22H(H) W=y INS; 43 8,100 85%
12H23H(N) NS, NS 43 8,100 85%
12H24H(K) W=y INS; 43 7,300 87%
12H25H(K) NS, NS 43 8,100 85%
1H5H(H) W=y INS; 43 8,600 84%

1H6H(N) NS, NS 43 7,300 86%

1H7H(K) W=y INS; 43 7,300 86%

1H8H(XK) NS, NS 43 7,300 86%

1H9H (&) W=y INS; 43 9,100 83%

1H10H(%) U=} L5 43 8,100 85%
1H11H(H) W=y INS; 43 8,100 85%
1H12H(H) NS, NS 43 8,100 85%
1H13H(X) W= INS; 43 8,100 85%
1H14H(K) =3 L5 43 7,300 86%
1H15H(CK) =y L5 43 7,300 86%
1H16H(E) NS L5 43 9,100 83%
1H17H(XL) =y L5 43 8,100 85%
1818H(H) =y L5 43 8,100 85%
1H19H(H) =y L5 43 8,100 85%
1H20H(X) = L5 43 7,300 86%
1H21H(K) =y L5 43 7,300 86%
1H22H(K) =y L5 43 7,300 86%
1H23H(GER) =y L5 43 9,100 83%
1H24H(XL) NS L5 43 8,100 85%
1H25H(H) =y L5 43 9,100 83%
1H26H(H) =y L5 43 8,100 85%
1H27H(X) = L5 43 7,300 86%
1H28H(K) =3 L5 43 7,300 86%
1H29H(K) = L5 43 7,300 86%
1H30HGE) =) L5 43 9,100 83%
1H31H(L) = L5 43 8,100 85%
10H27H(H) /NS = 44 10,100 81%
10H28H(N) NS =) 44 9,100 83%
10H29H(K) /NS = 44 10,100 81%
10H30H(K) NS =) 44 11,100 79%
10H31H(E) /NS = 44 11,600 78%
1151H(XL) NS =) 44 10,100 81%
1182H((H) /NS = 44 10,100 81%
11H5H(K) NS =) 44 9,100 83%
11H6H(K) /NS =) 44 9,100 83%
1187H(E) L5 =) 14 11,600 78%
11H8H(XL) L5 =) 44 11,100 79%
11H9H(H) L5 =) 14 9,100 83%
11510H((H) /NS =) 44 10,100 81%
11H11HN) L5 (= 44 9,100 83%
11H12H(K) /NS =) 44 10,100 81%
11H13H(K) L5 (= 44 10,100 81%
11H14H(%&) L5 =) 44 11,100 79%
11H15H(X) L5 = 14 10,100 81%
11516H(H) NS =) 44 11,100 79%
11H17H(H) L5 (= 44 10,100 81%
11H18H(CAN) NS =) 44 10,100 81%
11H19H(K) L5 =) 44 10,100 81%
11H20H(K) NS =) 44 10,100 81%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

11H21H(%) NS =) 44 11,100 79%
11H22H(%) INZ; = 44 10,100 81%
11823H(H) NS =) 44 11,100 79%
11824H(H) L5 = 44 11,100 79%
11H258(XN) NS =) 44 9,100 83%
11H26H(K) L5 = 44 8,600 84%
11H27H(K) NS =) 44 9,100 83%
11H28H (&) INZ; = 44 9,100 83%
11H29H(%) L5 =) 44 10,100 81%
11H30H(H) INZ; = 44 11,100 79%
12H51H(H) NS =) 44 9,100 83%
12H2H(X) L5 = 44 7,300 87%
12H3H(K) L5 =) 44 7,300 87%
12H4H(K) /NS = 44 8,100 85%
12H5H(GER) L5 =) 44 9,100 83%
12H6H(L) /NS = 44 8,100 85%
12A7H(H) INZ] =) 44 9,100 83%
1258H(H) /NS = 44 8,100 85%
12H9H(X) L5 =) 44 7,300 87%
12H10H(K) /NS = 44 7,300 87%
12H11H(K) INZ] =) 44 7,300 87%
12H12H (&) /NS = 44 9,100 83%
12H13H(%) L5 =) 44 8,100 85%
12H14H(H) /NS = 44 9,100 83%
12H15H(H) L5 =) 44 8,100 85%
12H16H(N) /NS = 44 7,300 87%
12H17H(0K) NS =) 44 7,300 87%
12H18H(K) /NS = 44 7,300 87%
12H19H (&) NS =) 44 9,100 83%
12H20H(%) /NS = 44 8,100 85%
12821H(H) NS =) 44 9,100 83%
12H22H(AH) /NS = 44 8,100 85%
12H23H(N) NS =) 44 7,300 87%
12H24H(K) /NS = 44 8,100 85%
12H25H(K) NS =) 44 8,600 84%
185H(H) /NS = 44 9,100 83%

1H6H(X) NS =) 44 8,100 85%

1H7H(CK) /NS = 44 7,300 86%

1H8H(K) NS =) 44 7,300 86%

1H9H (&) L5 =) 44 9,100 83%

1H10H(L) L5 =) 14 8,100 85%
1H11H(H) /NS =) 44 8,100 85%
1H12H(H) L5 (= 44 10,100 81%
1H13HX) /NS =) 44 8,100 85%
1H14H(K) L5 (= 44 7,300 86%
1H15H(K) /NS =) 44 7,300 86%
1H16H(E) L5 =) 14 9,100 83%
1H17H(XL) /NS =) 44 8,100 85%
1H18H(H) L5 = 14 9,100 83%
1H19H(H) NS =) 44 8,100 85%
1H20H(X) L5 (= 44 7,300 86%
1H21H(K) NS =) 44 7,300 86%
1H22H(K) L5 =) 44 7,300 86%
1H23H(GER) NS =) 44 8,100 85%
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1H24H(%) INZ; =) 44 9,100 83%
1H25H(H) L5 e 44 9,100 83%
1H26H(H) L5 =) 44 8,100 85%
1H27H(CKN) L5 e 44 7,300 86%
1H28H(K) L5 =) 44 7,300 86%
1H29H(K) L5 e 44 8,600 84%
1HA30H(E) L5 =) 44 9,100 83%
1HA31H(L) L5 e 44 8,100 85%
10H26H(H) =) ALIR 45 7,000 82%
10H27H(H) e ALMR 45 7,000 82%
10H28H(N) =) ALIR 45 6,000 85%
10H29H(K) e ALMR 45 6,000 85%
10H30H(XK) =) ALIR 45 6,000 85%
10H31H(&) NS, ALIR 45 7,000 82%
11H2H(H) =) ALIR 45 15,000 62%
1146 () e ALI% 45 6,000 85%
11H5H(K) =) ALIR 45 6,000 85%
11H6H(K) NS, ALIR 45 6,000 85%
1187H(E) =) ALIR 45 7,000 82%
11H8H(L) NS ALIR 45 7,000 82%
11H9H(H) =) ALIR 45 7,000 82%
113106(H) e ALI% 45 7,000 82%
11H11HCN) =) ALIR 45 6,000 85%
11H12H0K) NS ALIR 45 6,000 85%
11H13H(K) =) ALIR 45 6,000 85%
11H14H(%) NS, ALIR 45 7,000 82%
11H15H(X) =) ALIR 45 7,000 82%
117316E(H) s ALI% 45 7,000 82%
11H17H(H) =) ALIR 45 7,000 82%
113186 (X) s ALI% 45 6,000 85%
11H19H(0K) =) ALIR 45 6,000 85%
11H20H(K) =) ALIR 45 6,000 85%
11H21H(£) =) ALIR 45 7,000 82%
114236(H) s ALI% 45 10,000 75%
11H24H(H) =) ALIR 45 10,000 75%
115256 () s ALI% 45 6,000 85%
11H26H(0K) =) ALIR 45 6,000 85%
11H27H(K) =) ALIR 45 6,000 85%
11H28H(&) =) ALIR 45 7,000 82%
11H29H(%) =) ALIR 45 7,000 82%
11H30H(H) =) ALIR 45 7,000 82%
12H1H((AH) =) ALIR 45 6,000 85%
12H2BN) =) ALIR 45 5,000 88%
12H3H(K) =) ALIR 45 5,000 88%
12H4H(K) =) ALIR 45 5,000 88%
12H5H(E) =) ALIR 45 6,000 85%
12H6H(L) =) ALIR 45 6,000 85%
12A7H(H) =) ALIR 45 6,000 85%
12H8H(AH) =) ALIR 45 6,000 85%
12H9H(X) =) ALIR 45 5,000 88%
12H10H(OK) =) ALIR 45 5,000 88%
12H11H(K) =) ALIR 45 5,000 88%
12H12H(&) e ALIR 45 6,000 85%
12H13H(X) =) ALIR 45 6,000 85%
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12H14H(H) W=y ALIR 45 6,000 85%
12H15H(A) NS, ALIR 45 6,000 85%
12H16H(XN) W=y ALIR 45 5,000 88%
12H17H(K) NS, ALIR 45 5,000 88%
12H18H(K) W=y ALIR 45 5,000 88%
12H19H(E) NS, ALIR 45 6,000 85%
12520H(%) W=y ALIR 45 6,000 85%
12H21H(H) NS, ALIR 45 6,000 85%
12H22H(H) W=y ALIR 45 6,000 85%
12H238(CN) NS, ALIR 45 5,000 88%
12H24H(K) (= ALIR 45 5,000 88%
12H25H(K) NS, ALIR 45 5,000 88%
1H5H(H) W= ALIR 45 6,000 85%
1H6H(N) =3 ALIE 45 5,000 87%
18780K) =y ALIR 45 5,000 87%
1H8H(XK) =y ALIE 45 5,000 87%
1H9H (%) =y ALIR 45 6,000 85%
1H10H(L) =y ALIE 45 6,000 85%
1H11H(H) =y ALIR 45 6,000 85%
1812H(H) = ALIE 45 6,000 85%
1H13H(X) =y ALIR 45 5,000 87%
1H14H(K) =y ALIE 45 5,000 87%
1H15H(CK) =y ALIR 45 5,000 87%
1H16H(E) = ALIE 45 6,000 85%
1H17H(XL) =y ALIR 45 6,000 85%
1818H(H) =y ALIE 45 6,000 85%
1H19H(H) = ALIR 45 6,000 85%
1H20H(X) =3 ALIR 45 5,000 87%
1H21H(K) = ALIR 45 5,000 87%
1H22H(K) =3 ALIR 45 5,000 87%
1H23H(ER) = ALIR 45 6,000 85%
1H24H(XL) =3 ALIR 45 6,000 85%
1H25H(H) = ALIR 45 6,000 85%
1H26H(H) =3 ALIR 45 6,000 85%
1H27H(X) = ALIR 45 5,000 87%
1H28H(K) =3 ALIR 45 5,000 87%
1H29H(K) =y ALIR 45 5,000 87%
1H30HGE) =3 ALIR 45 6,000 85%
1H831H(L) = ALIR 45 6,000 85%
10H26H(H) ALIE =3 46 8,000 80%
10H27H(H) ALIR (= 46 8,000 80%
10H28H(XN) ALIE =3 46 7,000 82%
10H29H(K) ALIR (= 46 7,000 82%
10H30H(K) ALIE =3 46 7,000 82%
10H31H(&) ALIR =) 46 8,000 80%
1182H(H) ALIE =3 46 15,000 62%
1154H(KN) ALIR (= 46 7,000 82%
11H5H0K) ALIE =3 46 7,000 82%
11H6H(K) ALIR (= 46 7,000 82%
1187HGE) ALIE =3 46 8,000 80%
11H8H(L) ALIR = 46 8,000 80%
1159H((H) ALIE =3 46 8,000 80%
11810H(H) ALIR =) 46 8,000 80%
118118CN) ALIR =3 46 7,000 82%
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11H12H(K) AL =) 46 7,000 82%
11H13H(K) ALIR = 46 7,000 82%
11H14H(%) ALIR e 46 8,000 80%
11H158(%) ALIR = 46 8,000 80%
11516H(H) ALIR e 46 8,000 80%
11817H(A) ALIR = 46 8,000 80%
11H18H(N) AL =) 46 7,000 82%
11H19H(K) ALIR = 46 7,000 82%
11H20H(K) AL =) 46 7,000 82%
11821HGE) ALIR = 46 8,000 80%
11823H(H) ALIR e 46 8,000 80%
11H258CN) ALIR = 46 7,000 82%
11H26H(K) AL =) 46 7,000 82%
11H27H(K) ALIR il= 46 7,000 82%
11H28H (&) ALIR =) 46 8,000 80%
11H29H(%) ALIE il= 46 8,000 80%
11830H(H) ALIR =) 46 8,000 80%
1281H(H) ALIE il= 46 6,000 85%
12H2H(X) AL =) 46 5,000 88%
12H3H(K) ALIE il= 46 5,000 88%
12H4H(K) AL =) 46 5,000 88%
12H5HGE) ALIE il= 46 6,000 85%
12H6H(XL) ALIR =) 46 6,000 85%
1287H(H) ALIE il= 46 6,000 85%
12H8H(H) ALIR =) 46 6,000 85%
12H9H(X) ALIE = 46 5,000 88%
12H10H(K) AL =) 46 5,000 88%
12H11H(K) ALIE =3 46 5,000 88%
12H12H(:&) AL =) 46 6,000 85%
12H13H(%) ALIE =3 46 6,000 85%
12H14H(H) AL =) 46 6,000 85%
12H15H(A) ALIE =3 46 6,000 85%
12H16H(N) AL =) 46 5,000 88%
12H17H(K) ALIE =3 46 5,000 88%
12H18H(K) AL =) 46 5,000 88%
12H19H(%) ALIE =3 46 6,000 85%
12H20H(x) AL =y 46 6,000 85%
12H21H(H) ALIE =3 46 6,000 85%
12822H(H) AL =) 46 6,000 85%
12H238(XN) ALIE =3 46 5,000 88%
12H24H(0K) ALIR (= 46 5,000 88%
12H25H(K) ALIE =3 46 5,000 88%
1H5H(A) ALIR (= 46 6,000 85%
1H6H(X) ALIE =3 46 5,000 87%
18780K) ALIR (= 46 5,000 87%
1H8H(XK) ALIE =3 46 5,000 87%
1H9H (%) ALIR =) 46 6,000 85%
1H10H(TL) ALIE =3 46 6,000 85%
1H11H(H) ALIR = 46 6,000 85%
1812H(H) ALIE =3 46 6,000 85%
1H13H(KN) ALIR (= 46 5,000 87%
1H14H(K) ALIE =3 46 5,000 87%
1H15H(K) ALIR =) 46 5,000 87%
1H16H(GE) ALIR =3 46 6,000 85%
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1H17H(X) ALIR =) 46 6,000 85%
1H18H(H) ALIR e 46 6,000 85%
1H19H(H) ALIR =) 46 6,000 85%
1H20H(XN) ALIR e 46 5,000 87%
1H21H(K) ALIR =) 46 5,000 87%
1H22H(K) ALIR e 46 5,000 87%
1H23H(E) ALIR =) 46 6,000 85%
1H24H(L) AL e 46 6,000 85%
1H25H(H) ALIR =) 46 6,000 85%
1H26H(H) ALIR e 46 6,000 85%
1H27H(KX) ALIR =) 46 5,000 87%
1H28H(K) ALIR e 46 5,000 87%
1H29H(K) ALIR =) 46 5,000 87%
19308 () ALI% filie 46 6,000 85%
1H31H(XL) ALIR e 46 6,000 85%
10H26H(H) NS ALIR 47 8,000 80%
10H27H(H) =) ALIR 47 8,000 80%
10H28E () e ALI% 47 7,000 82%
10H29H(K) =) ALIR 47 7,000 82%
10H30H(XK) NS ALIR 47 7,000 82%
10H31H(%) =) ALIR 47 8,000 80%
1148 () e ALI% 47 7,000 82%
11H5H(K) =) ALIR 47 7,000 82%
11H6H(K) NS ALIR 47 7,000 82%
1187H(E) =) ALIR 47 8,000 80%
11H8H(L) NS, ALIR 47 8,000 80%
11H9H(H) =) ALIR 47 8,000 80%
11H10H(H) =) ALIR 47 8,000 80%
11H11HN) =) ALIR 47 7,000 82%
11H12H0K) =) ALIR 47 7,000 82%
11H13H(K) =) ALIR 47 7,000 82%
117146(%) filie ALI% 47 8,000 80%
11H15H(X) =) ALIR 47 8,000 80%
11H16H(H) =) ALIR 47 8,000 80%
11H17H(H) =) ALIR 47 8,000 80%
11H18H(N) =) ALIR 47 7,000 82%
11H19H(0K) =) ALIR 47 7,000 82%
11H20H(K) =) ALIR 47 7,000 82%
11H21H(£) =) ALIR 47 8,000 80%
11H23H(H) =) ALIR 47 8,000 80%
11H25H0N) =) ALIR 47 7,000 82%
11H26H0K) =) ALIR 47 7,000 82%
11H27H(K) =) ALIR 47 7,000 82%
11H28H(%&) =) ALIR 47 8,000 80%
11H29H(%) =) ALIR 47 8,000 80%
11H30H(H) =) ALIR 47 8,000 80%
12H1H(H) =) ALIR 47 6,000 85%
12H2H(X) =) ALIR 47 5,000 88%
12H3H(K) =) ALIR 47 5,000 88%
12H4H(K) =) ALIR 47 5,000 88%
12A5H(&) =) ALIR 47 6,000 85%
12H6H(L) =) ALIR 47 6,000 85%
12H7H(H) e ALIR 47 6,000 85%
12H8H(AH) =) ALIR 47 6,000 85%
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12H9H(X) =) ALIR 47 5,000 88%
12H10H(K) e ALMR 47 5,000 88%
12H11H(K) =) ALIR 47 5,000 88%
12H12H(&) e ALMR 47 6,000 85%
12H13H(%) =) ALIR 47 6,000 85%
12H14H(H) e ALMR 47 6,000 85%
12H15H(H) =) ALIR 47 6,000 85%
12H16H(AN) e ALMR 47 5,000 88%
12H317H0K) =) ALIR 47 5,000 88%
12H18H(XK) e ALMR 47 5,000 88%
12H19H(%) =) ALIR 47 6,000 85%
12H20H(X) e ALMR 47 6,000 85%
12H21H(H) =) ALIR 47 6,000 85%
12H226(H) e ALI% 47 6,000 85%
12H23H(N) =) ALIR 47 5,000 88%
12H24H(0K) NS ALIR 47 5,000 88%
12H25H(K) =) ALIR 47 5,000 88%
EEEE)) e ALI% 47 6,000 85%

1H6H(CN) =) ALIR 47 5,000 87%

1878 (k) e ALI% 47 5,000 87%

1H8H(K) =) ALIR 47 5,000 87%

1H98 (&) fils ALI% 47 6,000 85%

1H10H(XL) =) ALIR 47 6,000 85%
1H11H(H) NS ALIR 47 6,000 85%
1H12H(H) =) ALIR 47 6,000 85%
151368 (%) s 1LI% 47 5,000 87%
1H14H0K) =) ALIR 47 5,000 87%
1H15H(CK) =) ALIR 47 5,000 87%
1H16H(E) =) ALIR 47 6,000 85%
151768 (t) filie ALI% 47 6,000 85%
1H18H(H) =) ALIR 47 6,000 85%
15196 (8) s ALI% 47 6,000 85%
1H20H(X) =) ALIR 47 5,000 87%
1H218(K) s ALI% 47 5,000 87%
1H22H(K) =) ALIR 47 5,000 87%
1H23H(E) =) ALIR 47 6,000 85%
1H24H(XL) =) ALIR 47 6,000 85%
1256 (H) s ALI% 47 6,000 85%
1H26H(H) =) ALIR 47 6,000 85%
1H278(4) e iLIE 47 5,000 87%
1H28H(K) =) ALIR 47 5,000 87%
1H29H(K) =) ALIR 47 5,000 87%
1A30H(E) =) ALIR 47 6,000 85%
1H31H(XL) =) ALIR 47 6,000 85%
10H26H(H) ALIR =) 48 7,000 82%
10H27H(H) ALIR =) 48 7,000 82%
10H28H(N) ALIR =) 48 6,000 85%
10H29H(K) ALIR =) 48 6,000 85%
10H30H(XK) ALIR = 48 6,000 85%
10H31H(%) ALIR =) 48 7,000 82%
11H2H(H) ALIR =) 48 15,000 62%
11H4H(X) ALIR =) 48 6,000 85%
11H5H(K) ALIR =) 48 6,000 85%
11H6H(K) ALIR =) 48 6,000 85%
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11H7H(E) ALIR =) 48 7,000 82%
11H8H(XL) ALIR e 48 7,000 82%
11H9H(H) ALIR =) 48 7,000 82%
11H10H(H) ALIR e 48 7,000 82%
11811HCN) ALIR =) 48 6,000 85%
11H12H(0K) ALIR e 48 6,000 85%
11H13H(K) ALIR =) 48 6,000 85%
11H14H(&) AL e 48 7,000 82%
11H15H(%) ALIR =) 48 7,000 82%
11H16H(H) ALIR e 48 7,000 82%
11H17H(H) ALIR =) 48 7,000 82%
11H18H(AN) ALIR e 48 6,000 85%
11819H0K) ALIR =) 48 6,000 85%
11H20H(K) ALIR =) 48 6,000 85%
11821H(&) ALIR e 48 7,000 82%
114236(H) LR e 48 10,000 75%
11H25H(AN) ALIR e 48 6,000 85%
11H26H0K) ALIR =) 48 6,000 85%
11H27H(K) ALIR e 48 6,000 85%
115286 (%) ALI% filie 48 7,000 82%
11H29H(%) ALIR e 48 7,000 82%
114308(H) LR filie 48 7,000 82%
12H1H(H) ALIR e 48 6,000 85%
12H26 (%) LR filie 48 5,000 88%
12H3H(K) ALIR e 48 5,000 88%
12H4H(K) ALIR =) 48 5,000 88%
12H5H(E) ALIR file 48 6,000 85%
12H6H(L) ALIR = 48 6,000 85%
12H7H(H) ALIR file 48 6,000 85%
12H8H(AH) ALIR = 48 6,000 85%
12H9H(X) ALIR =) 48 5,000 88%
12H10HCK) ALIR = 48 5,000 88%
12H11H(K) ALIR =) 48 5,000 88%
12H12H(&) ALIR = 48 6,000 85%
12H13H(X) ALIR file 48 6,000 85%
12H14H(H) ALIR = 48 6,000 85%
12H15H(H) ALIR =) 48 6,000 85%
12H16H(N) ALIR = 48 5,000 88%
12H17H(OK) ALIR =) 48 5,000 88%
12H18H(XK) ALIR =) 48 5,000 88%
12H19H(&) ALIR =) 48 6,000 85%
12H20H(%) ALIR =) 48 6,000 85%
12H21H(H) ALIR =) 48 6,000 85%
12H22H(AH) ALIR =) 48 6,000 85%
12H23HN) ALIR =) 48 5,000 88%
12H24H(0K) ALIR =) 48 5,000 88%
12H25H(K) ALIR =) 48 5,000 88%
1H5H(A) ALIR =) 48 6,000 85%

1H6H(N) ALIR = 48 5,000 87%

1H78H(0K) ALIR =) 48 5,000 87%

1H8H(XK) ALIR = 48 5,000 87%

1H9H(E) ALIR =) 48 6,000 85%

1H10H(XL) ALIR =) 48 6,000 85%
1H11H(H) ALIR =) 48 6,000 85%
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1H12H(H) ALIR e 48 6,000 85%
1H13HX) ALIR = 48 5,000 87%
1H14H(K) AL =) 48 5,000 87%
1H15H(CK) ALIR = 48 5,000 87%
1H16H(GER) ALIR e 48 6,000 85%
1H517H(L) ALIR = 48 6,000 85%
1H18H(H) ALIR e 48 6,000 85%
1819H(H) ALIR = 48 6,000 85%
1H20H(X) AL =) 48 5,000 87%
1H21H(K) ALIR = 48 5,000 87%
1H22H(K) AL =) 48 5,000 87%
1523H(%) ALIR = 48 6,000 85%
1H24H(XL) ALIR =) 48 6,000 85%
1825H(H) ALIR il= 48 6,000 85%
1H26H(H) ALIR =) 48 6,000 85%
1H278H0X) ALIE il= 48 5,000 87%
1H28H(K) AL =) 48 5,000 87%
1H29H(K) ALIE il= 48 5,000 87%
1H30H(GE) ALIR =) 48 6,000 85%
1HA31H(L) ALIE il= 48 6,000 85%
10H26H(H) =y ALIR 49 7,000 82%
10H27H(H) =y ALIE 49 7,000 82%
10H28H(N) =y ALIR 49 6,000 85%
10H29H(K) = ALIE 49 6,000 85%
10H30H(K) =y ALIR 49 6,000 85%
10H31H(%&) =y ALIE 49 7,000 82%
1154H(X) = ALIR 49 6,000 85%
11H5H0K) =3 ALIR 49 6,000 85%
11H6H(RK) = ALIR 49 6,000 85%
1187HGE) =3 ALIR 49 7,000 82%
11H8H(L) = ALIR 49 7,000 82%
1189H((H) =3 ALIR 49 7,000 82%
11510H(H) = ALIR 49 7,000 82%
11H11H(CN) =3 ALIR 49 6,000 85%
11H12H(0K) = ALIR 49 6,000 85%
11H13H(K) =3 ALIR 49 6,000 85%
11H148(&) =y ALIR 49 7,000 82%
11H158(%) =3 ALIR 49 7,000 82%
11816H(H) = ALIR 49 7,000 82%
11H17H(H) W=y ALIR 49 7,000 82%
11H18H(N) W=y ALIR 49 6,000 85%
11H19H(K) W=y ALIR 49 6,000 85%
11H20H(K) W=y ALIR 49 6,000 85%
11H21H(%&) W=y ALIR 49 7,000 82%
11H25H(CN) W=y ALIR 49 6,000 85%
11H26H(K) W=y ALIR 49 6,000 85%
11H27H(K) W=y ALIR 49 6,000 85%
11H28H (&) W=y ALIR 49 7,000 82%
11H29H(X) = ALIR 49 7,000 82%
118308 (H) =y ALIR 49 7,000 82%
12H1H(H) = ALIR 49 6,000 85%
12H2H(X) =y ALIR 49 5,000 88%
12H3H(K) = ALIR 49 5,000 88%
12H4H(K) =y ALIR 49 5,000 88%
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12H5HGER) W=y ALIR 49 6,000 85%
12H6H(L) NS, ALIR 49 6,000 85%
1287H((H) W=y ALIR 49 6,000 85%
12H8H(AH) =y ALIR 49 6,000 85%
12H9H(X) W=y ALIR 49 5,000 88%
12H10H(K) NS, ALIR 49 5,000 88%
12H11H(K) W=y ALIR 49 5,000 88%
12H12H(GE) NS, ALIR 49 6,000 85%
12H13H(%) W=y ALIR 49 6,000 85%
12H14H(H) NS, ALIR 49 6,000 85%
12H15H(H) W=y ALIR 49 6,000 85%
12H16H(N) NS, ALIR 49 5,000 88%
12H17H(K) (= ALIR 49 5,000 88%
12H18H(K) =3 ALIE 49 5,000 88%
12H19H (&) =y ALIR 49 6,000 85%
12H20H(X) =y ALIE 49 6,000 85%
12821H(H) =y ALIR 49 6,000 85%
12H22H(A) =y ALIE 49 6,000 85%
12H23H(N) =y ALIR 49 5,000 88%
12H24H(K) = ALIE 49 5,000 88%
12H25H(K) =y ALIR 49 5,000 88%
185H(H) =y ALIE 49 6,000 85%
1H6H(X) =y ALIR 49 5,000 87%
1H7H(K) = ALIE 49 5,000 87%
1H8H(K) =y ALIR 49 5,000 87%
1H9H (&) =y ALIE 49 6,000 85%
1H10H(L) = ALIR 49 6,000 85%
1811H(H) =3 ALIR 49 6,000 85%
1H12H(H) = ALIR 49 6,000 85%
1H13HX) =3 ALIR 49 5,000 87%
1H14H(K) = ALIR 49 5,000 87%
1H15H(K) =3 ALIR 49 5,000 87%
1H16H(E) = ALIR 49 6,000 85%
1H17H(XL) =3 ALIR 49 6,000 85%
1H18H(H) = ALIR 49 6,000 85%
1819H(H) =3 ALIR 49 6,000 85%
1H20H(X) =y ALIR 49 5,000 87%
1H21H(K) =3 ALIR 49 5,000 87%
1H22H(RK) = ALIR 49 5,000 87%
1H23H(GER) W=y ALIR 49 6,000 85%
1H24H(L) W=y ALIR 49 6,000 85%
1H25H(H) W=y ALIR 49 6,000 85%
1H26H(H) W=y ALIR 49 6,000 85%
1H27H(X) W=y ALIR 49 5,000 87%
1H28H(K) W=y ALIR 49 5,000 87%
1H29H(K) W=y ALIR 49 5,000 87%
1H30H(GER) W=y ALIR 49 6,000 85%
18A31H(L) W=y ALIR 49 6,000 85%
10H26H(H) ALIR (= 50 8,000 80%
10827H(A) ALIE =3 50 8,000 80%
10H28H(N) ALIR (= 50 7,000 82%
10H29H(K) ALIE =3 50 7,000 82%
10H30H(XK) ALIR =) 50 7,000 82%
10H31H(E) ALIR =3 50 8,000 80%




IBEX4Hi

aE&e (X f& EE p——

EERE F5|x

1151H(L) ALIR e 50 15,000 62%
1154H(X) ALI = 50 7,000 82%
11H5H0K) AL e 50 7,000 82%
11H6H(K) ALI = 50 7,000 82%
1187HGER) ALIR e 50 8,000 80%
11H8H(L) ALIR = 50 8,000 80%
1159H((H) ALIR e 50 8,000 80%
11810H(A) ALIR = 50 8,000 80%
118118CN) AL e 50 7,000 82%
11H12H(K) ALIR = 50 7,000 82%
11H13H(K) AL e 50 7,000 82%
118148 GE) ALIR = 50 8,000 80%
11515H(%) ALIR e 50 8,000 80%
11816H(H) ALIR il= 50 8,000 80%
11H17H(H) ALIR =) 50 8,000 80%
11H18H(CN) ALIE il= 50 7,000 82%
11H19H0K) AL =) 50 7,000 82%
11H208H(K) ALIE il= 50 7,000 82%
11H21H(£) ALIR =) 50 8,000 80%
11H25H(CN) ALIE il= 50 7,000 82%
11H26H(K) AL =) 50 7,000 82%
11H278H(K) ALIE il= 50 7,000 82%
11H28H (&) ALIR =) 50 8,000 80%
11H29H(%) ALIE il= 50 8,000 80%
11830H(H) ALIR =) 50 8,000 80%
1281H(H) ALIE = 50 6,000 85%
12H2H(X) AL =) 50 5,000 88%
12H3H(K) ALIE =3 50 5,000 88%
12H4H(K) AL =) 50 5,000 88%
12H5HGE) ALIE =3 50 6,000 85%
12H6H(L) ALIR =) 50 6,000 85%
1287H(H) ALIE =3 50 6,000 85%
12H8H(H) AL =) 50 6,000 85%
12H9H(X) ALIE =3 50 5,000 88%
12H10H(K) AL =) 50 5,000 88%
12H11H(K) ALIE =3 50 5,000 88%
12H12H(:&) ALIR =y 50 6,000 85%
12H13H(%) ALIE =3 50 6,000 85%
12H14H(H) ALIR =) 50 6,000 85%
12515H(A) ALIE =3 50 6,000 85%
12H16H(N) ALIR (= 50 5,000 88%
12H17H(K) ALIE =3 50 5,000 88%
12H18H(K) ALIR (= 50 5,000 88%
125198 (&) ALIE =3 50 6,000 85%
12H20H(%) ALIR (= 50 6,000 85%
12H21H(H) ALIE =3 50 6,000 85%
12H22H(H) ALIR (= 50 6,000 85%
12H238(XN) ALIE =3 50 5,000 88%
12H24H(0K) ALIR (= 50 5,000 88%
12H25H(K) ALIE =3 50 5,000 88%
1H5H(A) ALIR (= 50 6,000 85%
1H6H(X) ALIE =3 50 5,000 87%
18780K) ALIR =) 50 5,000 87%
1H8H(XK) ALIR =3 50 5,000 87%
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1H9H (&) ALIR e 50 6,000 85%
1H10H(L) ALIR = 50 6,000 85%
1H11H(H) ALIR e 50 6,000 85%
1812H(H) ALIR = 50 6,000 85%
1H13H(X) ALIR e 50 5,000 87%
1514H(K) AL (=3 50 5,000 87%
1H15H(K) ALIR e 50 5,000 87%
1516H(%) ALIR = 50 6,000 85%
1H17H(XL) ALIR e 50 6,000 85%
1818H(H) ALIR = 50 6,000 85%
1H19H(H) ALIR e 50 6,000 85%
1H20HX) ALIR = 50 5,000 87%
1H21H(K) ALIR e 50 5,000 87%
1H22H(K) AL e 50 5,000 87%
1H23H(GER) ALIR =) 50 6,000 85%
1H24H(L) ALIE il= 50 6,000 85%
1H25H(H) ALIR =) 50 6,000 85%
1H26H(A) AL e 50 6,000 85%
1H27H(X) ALIR =) 50 5,000 87%
1H28H(7K) AL e 50 5,000 87%
1H29H(RK) ALIR =) 50 5,000 87%
1H30H(E) AL e 50 6,000 85%
1H31H(L) ALIR =) 50 6,000 85%
10H26H(H) AN il= 51 9,500 78%
10H27H(H) AN =) 51 9,500 78%
10H28H(XN) AN = 51 9,500 78%
10H29H(K) ABR =) 51 9,500 78%
10H30H(K) AN =3 51 9,500 78%
10H31H(:&) ABR =) 51 9,500 78%
11H1H(L) AN =3 51 9,500 78%
1182H(H) ABR =) 51 9,500 78%
1183H(H) AN =3 51 9,500 78%
1154H(X) ABR =) 51 9,500 78%
11H5H0K) AN =3 51 9,500 78%
11H6H(RK) ABR =) 51 9,500 78%
1187HGE) AN =3 51 9,500 78%
11H8H(L) ABR =y 51 9,500 78%
11H9H(H) N (U=} 51 9,500 78%
11510H(H) ABR =) 51 9,500 78%
11H11H(CN) AN =3 51 9,500 78%
11H12H(0K) ABR (= 51 9,500 78%
11H13H(K) AN =3 51 9,500 78%
115148 (%&) ABR (= 51 9,500 78%
11815H(%) AN =3 51 9,500 78%
11816H(H) ABR (= 51 9,500 78%
11H17H(H) AN =3 51 9,500 78%
11H18H(AN) ABR (= 51 9,500 78%
11H19H(K) AN =3 51 9,500 78%
11H20H(K) ABR (= 51 9,500 78%
11H21H(%&) AN =3 51 9,500 78%
11H22H(X) ABR (= 51 9,500 78%
11823H(H) AN =3 51 9,500 78%
11824H(H) AN e 51 9,500 78%
11H258(X) ABR =3 51 9,500 78%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

11H26H(K) ABR e 51 9,500 78%
11H27H(K) AN (=3 51 9,500 78%
11H28H (&) ABR e 51 9,500 78%
11H29H(%) ABR (=3 51 9,500 78%
11H30H(H) ABR e 51 9,500 78%
1281H(H) AN (=3 51 8,500 81%
12H2H(X) ABR e 51 8,000 82%
12H3H(K) AN (=3 51 8,000 82%
12H4H(K) ABR e 51 8,000 82%
12H5H(%) ABR (=3 51 8,000 82%
12H6H(XL) ABR =) 51 8,000 82%
1287H((H) AN (=3 51 8,000 82%
12H8H(H) ABR e 51 7,500 83%
12H9H(X) AN il= 51 7,500 83%
12H10H(K) AN =) 51 7,500 83%
12H118(K) AN il= 51 7,500 83%
12H12H(£) AN =) 51 7,500 83%
12H13H(%) AN = 51 7,500 83%
12H14H(H) AN =) 51 7,500 83%
12H15H(H) AN il= 51 7,500 83%
12H16H(CN) AN =) 51 7,500 83%
12H17H(K) AN il= 51 7,500 83%
12H18H(K) AN =) 51 7,500 83%
12H19H(%&) AN = 51 8,500 81%
12H20H(x) AN =) 51 8,500 81%
12H21H(H) AN = 51 8,500 81%
12822H(H) ABR =) 51 8,500 81%
12H23HCX) N (U=} 51 8,500 81%
12H24H(K) ABR =) 51 8,500 81%
12H25H(K) AN =3 51 8,500 81%
185H(H) ABR =) 51 8,500 80%

1H6H(N) AN =3 51 8,500 80%

18780K) ABR =) 51 7,500 83%

1H8H(XK) AN =3 51 7,500 83%

1H9H (%) ABR =) 51 8,500 80%

1H10H(L) AN =3 51 8,500 80%
1H11H((H) ABR =y 51 8,000 81%
1812H(H) AN =3 51 8,500 80%
1H13H(X) ABR =) 51 8,500 80%
1H14H(K) AN =3 51 7,500 83%
1H15H(K) ABR (= 51 7,500 83%
1H16H(GE) AN =3 51 7,500 83%
1H17H(XL) ABR (= 51 7,500 83%
1H18H(H) AN =3 51 7,500 83%
1H19H(H) ABR (= 51 7,500 83%
1H20H(X) AN =3 51 7,500 83%
1H21H(K) ABR (= 51 7,500 83%
1H22H(K) AN =3 51 7,500 83%
1H23H(ER) ABR (= 51 7,500 83%
1H24H(XL) AN =3 51 7,500 83%
1H25H(H) ABR (= 51 7,500 83%
1H26H(H) AN =3 51 7,500 83%
1H27H(X) AN e 51 7,500 83%
1H28H(K) ABR =3 51 7,500 83%
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1H29H(K) ABR e 51 7,500 83%
1H30H(R) ABR (=3 51 7,500 83%
1HA31H(L) ABR e 51 7,500 83%
10H26H(H) =y AN 52 9,500 78%
10H27H(H) W=y AP 52 9,500 78%
10H28H(N) =y N 52 9,500 78%
10H29H(K) W=y AP 52 9,500 78%
10H30H(XK) =y AN 52 9,500 78%
10H31H(E) W=y AP 52 9,500 78%
11H1H(L) =y AN 52 9,500 78%
11582H(H) W=y AP 52 9,500 78%
1183H(H) =y N 52 9,500 78%
11H4H(X) W= AP 52 9,500 78%
11H5H(K) =3 AN 52 9,500 78%
11H6H(K) =y AP 52 9,500 78%
1187H(GE) =y AN 52 9,500 78%
11H8H(L) =y AP 52 9,500 78%
1189H((H) =y KB 52 9,500 78%
11510H(H) =y AP 52 9,500 78%
11H11HCN) = AN 52 9,500 78%
11H12H(0K) =y AP 52 9,500 78%
11H13H(K) =y KB 52 9,500 78%
11H14H(£) =y AP 52 9,500 78%
11H15H(%) = AN 52 9,500 78%
11816H(H) =y AP 52 9,500 78%
11817H(H) =y KB 52 9,500 78%
11H18H(N) = ABR 52 9,500 78%
11H19H(K) =3 AP 52 9,500 78%
11H20H(K) = ABR 52 9,500 78%
11H21H(%&) =3 AP 52 9,500 78%
11H22H (%) = ABR 52 9,500 78%
11523H(H) =3 AP 52 9,500 78%
11824H(H) = ABR 52 9,500 78%
1183258CK) (=} N 52 9,500 78%
11H26H(K) = ABR 52 9,500 78%
11H27H(K) =3 AP 52 9,500 78%
11H28H (&) =y ABR 52 9,500 78%
11H29H(%) =3 AP 52 9,500 78%
11830H(H) = ABR 52 9,500 78%
12851H(H) W=y AP 52 8,500 81%
12H2H(X) W=y N 52 8,000 82%
12H3H(K) W=y AP 52 8,000 82%
12H4H(K) W=y N 52 8,000 82%
12H5HGE) W=y AP 52 8,000 82%
12H6H(L) W=y N 52 8,000 82%
1287H(H) W=y AP 52 8,000 82%
12H8H(H) W=y N 52 7,500 83%
12H9H(X) W=y AP 52 7,500 83%
12H10H(K) = N 52 7,500 83%
12H11H(K) =y KB 52 7,500 83%
12H12H(%&) = ABR 52 7,500 83%
12H13H(%) =y KB 52 7,500 83%
12H14H(H) = KB 52 7,500 83%
12H15H(A) =y AP 52 7,500 83%
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12H16H(XN) W=y AP 52 7,500 83%
12H17H(K) =y AN 52 7,500 83%
12H18H(K) W=y AP 52 7,500 83%
12H19H(%&) =y AN 52 8,500 81%
12520H(x) W=y AP 52 8,500 81%
12H21H(H) =y N 52 8,500 81%
12H22H(H) W=y AP 52 8,500 81%
12H238(N) =y AN 52 8,500 81%
12H24H(K) W=y AP 52 8,500 81%
12H25H(K) =y AN 52 8,500 81%
1H5H(H) W=y AP 52 8,500 80%
1H6H(N) =y N 52 8,500 80%
1H7H(K) W= AP 52 7,500 83%
1H8H(XK) =3 AN 52 7,500 83%
1H9H (%) =y AP 52 8,500 80%
1H10H(L) =y AN 52 8,500 80%
1H11H(H) =y AP 52 8,000 81%
1812H(H) =y KB 52 8,500 80%
1H13H(X) =y AP 52 8,500 80%
1H14H(K) = AN 52 7,500 83%
1H15H(K) =y AP 52 7,500 83%
1H16H(E) =y KB 52 7,500 83%
1H17H(XL) =y AP 52 7,500 83%
1818H(H) = AN 52 7,500 83%
1H19H(H) =y AP 52 7,500 83%
15208 (N) (U= N 52 7,500 83%
1H21H(K) = ABR 52 7,500 83%
1H22H(K) =3 AP 52 7,500 83%
1H23H(ER) = ABR 52 7,500 83%
1H24H(XL) =3 AP 52 7,500 83%
1H25H(H) = ABR 52 7,500 83%
1826H(H) =3 AP 52 7,500 83%
1H27H(X) = ABR 52 7,500 83%
1H28H(K) =3 AP 52 7,500 83%
1H29H(K) = ABR 52 7,500 83%
1H30HGE) =3 AP 52 7,500 83%
1H31H(L) =y ABR 52 7,500 83%
10H26H(H) AN =3 53 9,500 78%
10827H(H) ABR =) 53 9,500 78%
10H28H(XN) AN =3 53 9,500 78%
10H29H(K) ABR (= 53 9,500 78%
10H30H(K) AN =3 53 9,500 78%
10H31H(&) ABR (= 53 9,500 78%
1181H(E) AN =3 53 9,500 78%
1182H(H) ABR (= 53 9,500 78%
1183H(H) AN =3 53 9,500 78%
1154H(KN) ABR (= 53 9,500 78%
11H5H0K) AN =3 53 9,500 78%
11H6H(K) ABR (= 53 9,500 78%
1187HGE) AN =3 53 9,500 78%
11H8H(L) ABR (= 53 9,500 78%
1159H((H) AN =3 53 9,500 78%
11810H(H) AN e 53 9,500 78%
118118CN) ABR =3 53 9,500 78%
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11H12H(K) ABR e 53 9,500 78%
11H13H(K) AN (=3 53 9,500 78%
11H14H(%) ABR =) 53 9,500 78%
11H15H(%) ABR (=3 53 9,500 78%
11516H(H) ABR =) 53 9,500 78%
11817H(H) AN (=3 53 9,500 78%
11H18H(N) ABR e 53 9,500 78%
11H19H(K) AN (=3 53 9,500 78%
11H20H(K) ABR e 53 9,500 78%
11H21H(&) ABR (=3 53 9,500 78%
11H22H(%) ABR =) 53 9,500 78%
11823H(H) AN (=3 53 9,500 78%
11H24H(H) ABR =) 53 9,500 78%
11H25H(CN) AN = 53 9,500 78%
11H26H(K) AN =) 53 9,500 78%
11H27H(K) N e 53 9,500 78%
11H28H (&) AN =) 53 9,500 78%
11H29H(%) AN = 53 9,500 78%
11830H(H) AN =) 53 9,500 78%
1281H(H) AN = 53 8,500 81%
12H2H(X) AN =) 53 8,000 82%
12H3H(K) AN = 53 8,000 82%
12H4H(K) AN =) 53 8,000 82%
12H5HGE) AN = 53 8,000 82%
12H6H(XL) AN =) 53 8,000 82%
1287H(H) AN = 53 8,000 82%
12H8H(AH) ABR =) 53 7,500 83%
12H9H(X) AN =3 53 7,500 83%
12H10H(K) ABR =) 53 7,500 83%
12H11H(K) AN =3 53 7,500 83%
12H12H(&) ABR =) 53 7,500 83%
12H13H(%) AN =3 53 7,500 83%
12H14H(H) ABR =) 53 7,500 83%
12H15H(A) AN =3 53 7,500 83%
12H16H(N) ABR =) 53 7,500 83%
12H17H(K) AN =3 53 7,500 83%
12H18H(K) ABR =y 53 7,500 83%
12H19H(%&) AN =3 53 8,500 81%
12H20H(x) ABR =) 53 8,500 81%
12H21H(H) AN =3 53 8,500 81%
12H22H(H) ABR (= 53 8,500 81%
12H238(XN) AN =3 53 8,500 81%
12H24H(0K) ABR (= 53 8,500 81%
12H25H(K) AN =3 53 8,500 81%
1H5H(A) ABR (= 53 8,500 80%
1H6H(X) AN =3 53 8,500 80%
18780K) ABR (= 53 7,500 83%
1H8H(XK) AN =3 53 7,500 83%
1H9H (%) ABR (= 53 8,500 80%
1H10H(L) AN =3 53 8,500 80%
1H11H(H) ABR (= 53 8,000 81%
1H12H(H) AN =3 53 8,500 80%
1H13H(X) AN e 53 8,500 80%
1H14H(K) ABR =3 53 7,500 83%
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1H15H(K) ABR e 53 7,500 83%
1H16H(E) ABR (=3 53 7,500 83%
1H17H(XL) ABR =) 53 7,500 83%
1H18H(H) AN (=3 53 7,500 83%
1H19H(H) ABR =) 53 7,500 83%
1H20H(X) AN (=3 53 7,500 83%
1H21H(K) ABR e 53 7,500 83%
1H22H(K) AN (=3 53 7,500 83%
1H23H(GR) ABR =) 53 7,500 83%
1H24H(L) ABR (=3 53 7,500 83%
1H25H(H) ABR =) 53 7,500 83%
1H26H(H) AN (=3 53 7,500 83%
1H27H(X) ABR e 53 7,500 83%
1H28H(K) AN = 53 7,500 83%
1H29H(K) AN =) 53 7,500 83%
1H30H(GE) AN = 53 7,500 83%
1H31H(L) AN =) 53 7,500 83%
10H26H(H) =y KB 54 9,500 78%
10H27H(H) =y AP 54 9,500 78%
10H28H(XN) = AN 54 9,500 78%
10H29H(K) =y AP 54 9,500 78%
10H30H(K) =y KB 54 9,500 78%
10H31H(:&) =y AP 54 9,500 78%
1151H(L) = AN 54 9,500 78%
11H2H(H) =y AP 54 9,500 78%
1183H(H) =y KB 54 9,500 78%
1154H(X) = ABR 54 9,500 78%
11H5H0K) =3 AP 54 9,500 78%
11H6H(RK) = ABR 54 9,500 78%
1187H(E) =3 AP 54 9,500 78%
11H8H(L) = ABR 54 9,500 78%
11H9H(H) (=} N 54 9,500 78%
11510H(H) = ABR 54 9,500 78%
11H11H(CN) =3 AP 54 9,500 78%
11H12H(0K) = ABR 54 9,500 78%
11H13H(K) =3 AP 54 9,500 78%
11H148(&) =y ABR 54 9,500 78%
11H15H(%) =3 AP 54 9,500 78%
11816H(H) = ABR 54 9,500 78%
11H17H(H) W=y AP 54 9,500 78%
11H18H(AN) W=y N 54 9,500 78%
11H19H(K) W=y AP 54 9,500 78%
11H20H(K) W=y N 54 9,500 78%
11H21H(%&) W=y AP 54 9,500 78%
11H22H (%) W=y N 54 9,500 78%
11823H(H) W=y AP 54 9,500 78%
11H24H(H) W=y N 54 9,500 78%
11H258(X) W=y AP 54 9,500 78%
11H26H(K) = N 54 9,500 78%
11H27H(K) =y KB 54 9,500 78%
11H28H (&) = ABR 54 9,500 78%
11H29H(%) =y KB 54 9,500 78%
11830H(H) = KB 54 9,500 78%
1251H(H) =y AP 54 8,500 81%
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12H28(X) =
12H3E0K) ﬁi AR EE "
= 8,000
12A58(&) L KR 21 8.000 82%
1286 (L) e KR 2 8,000 82%
12A78(8) L KR 21 8.000 82%
12886 (H) e KR 2 8,000 82%
DR0BGK | s PN > 7.500 82%
128118k = *F >4 ; 83%
) wa R 7,500
12812H(& = X >4 83%
) Wa BR 7,500
DALAL) | Wa AR > 7.500 83%
128148(H = g 54 : 83%
) Wa BR 7,500
128315H(H) ﬂlli KR 24 7 500 83%
12H16H (X = N 24 ’ 83%
) W BR 7,500
123178 (K) 'fIJ.Ii ABR 24 7,500 83%
12H18H(K = PN 24 } 83%
) s R 7,500
12819H(2) ﬂlli IR 54 =ieee 83%
128208 (1) 05 KR >4 = 83%
12821H(H = xF >4 ; 83%
) s R 8,500
12822H(8 = N >4 81%
) e R 8,500
128238 (AN) ﬂlli IR 54 8500 81%
12824H(K) 4|JJ2 xR 54 8,500 81%
12H25H(K) m_li KPR 24 8,500 81%
=) 8,500
1H6H(N) = N 24 81%
= 8,500
187E(K) 2 Al 24 81%
= 8,500
1H8H(XK) = N >4 80%
= 8,500
1598(&) e IR 21 7,500 80%
1)% 1OE(j:) ,m.li j(wi 54 7,500 830/0
1H118(H) = KR >4 ’ 83%
= 8,500
1H12H(8) 'fIJ.IE" PR 54 3500 80%
1A 158 () e N > 8,500 80%
18168 (&) = AR >4 2500 80%
LA178(L) T xR > 7.500 83%
1318H(H) = ABR 24 ' 83%
= 7,500
1H19H(A) = AR >4 83%
= 7,500
1820H(X) = A 24 2500 83%
1H218(K) mf\ AR >4 7,500 83%
1822H(K) ﬂhz xR 54 7’500 83%
1238 (& = AR 24 ’ 83%
) e 7,500
1H24H(1) ﬂJJE PR 54 =500 83%
1H25H(B) 5 AR 4 =200 83%
1H26H(H = B >4 ’ 83%
) e R 7,500
1H27H(N) 4IJ.IE‘ xR 54 =200 83%
1528H(K) = N 24 2500 83%
18298 (X) 5 PN >4 =200 83%
1H30HGE) ﬂJJE xR 54 7’500 83%
18318(1) e KR >4 —T 83%
10827H(B =] xF 54 z 83%
) R R 7,500
10828H (N = = 54 83%
108 )| EEE i =9 7,500
20B0K) | & izl 6,500 83%
JES = 59 “ 81%
*EEIIEJ 6 000 0
59 6,000 83%
- 83%
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10H30H(K) ZaE @] 59 6,000 83%
1154H(X) ZhE &l 59 6,500 81%
11H5H0K) ZaE @] 59 6,500 81%
11H9H((H) ZhE &l 59 7,000 80%
11510H(H) ZaE @] 59 7,000 80%
11H11HCN) ZhE &l 59 6,500 81%
11H12H(K) ZaE @] 59 6,500 81%
11H13H(K) ZhE &l 59 6,500 81%
11516H(H) ZaE @] 59 7,000 80%
11817H(H) ZhE &l 59 7,000 80%
11H18H(N) ZaE @] 59 6,500 81%
11H19H(K) ZhE &l 59 6,500 81%
11H20H(K) ZaE @] 59 6,500 81%
11H27H(K) 2EE &l 59 6,500 81%
11830H(H) ZaE @] 59 7,000 80%
1281H(H) 2EE &l 59 7,500 80%
12H2H(X) ZaE @] 59 7,000 81%
12H3H(K) 2EE &l 59 7,000 81%
12H4H(K) ZaE @] 59 7,000 81%
1287H(H) 2EE &l 59 7,500 80%
12H8H(AH) ZaE @] 59 7,500 80%
12H9H(X) 2EE &l 59 6,500 83%
12H10H(K) ZaE @] 59 6,500 83%
12H118(K) 2EE &l 59 6,500 83%
12H14H(H) ZaE @] 59 7,500 80%
12H15H(H) 2EE &l 59 7,500 80%
12H16H(N) ZaE ] 59 7,000 81%
12H17H(K) 2EE &l 59 7,000 81%
12H18H(K) ZaE ] 59 7,000 81%
12H21H(H) 2EE &l 59 7,500 80%
12822H(H) ZaE ] 59 7,500 80%
12H238(XN) 2EE ] 59 7,000 81%
12H24H(K) ZaE ] 59 7,000 81%
12H25H(K) 2EE &[] 59 7,000 81%
1H5H(A) ZaE ] 59 7,500 79%

1H6H(N) 2EE &l 59 6,500 81%

18780K) ZaE ] 59 6,500 81%

1H8H(XK) 2EE &[] 59 6,500 81%

1H9H (%) ZaE ] 59 7,500 79%

1H11H(H) “aE @] 59 7,500 79%
1H12H(H) ZaE ] 59 7,500 79%
1H13HX) “aE @] 59 7,000 80%
1H14H(K) ZaE ] 59 7,000 80%
1H15H(K) “aE &l 59 7,000 80%
1H16H(E) ZaE e ] 59 7,500 79%
1H17H(XL) “aE @] 59 7,500 79%
1H18H(H) ZaE e ] 59 7,500 79%
1H19H(H) “aE @] 59 7,500 79%
1H20H(X) ZaE e ] 59 7,000 80%
1H21H(K) ZaE &l 59 7,000 80%
1H22H(K) ZaE e ] 59 7,000 80%
1H23HGER) ZaE &[] 59 7,500 79%
1H24H(XL) ZhE fe ] 59 7,500 79%
1H25H(H) ZaE @] 59 7,500 79%
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1H26H(H) ZaE @] 59 7,500 79%
1H27HX) ZhE &l 59 7,000 80%
1H28H(K) ZaE @] 59 7,000 80%
1H29H(K) ZhE &l 59 7,000 80%
1H30HGE) ZaE @] 59 7,500 79%
1831H(L) ZhE &l 59 7,500 79%
10H28H(N) &l ZHaE 60 6,000 83%
10H29H(K) &l ZhE 60 6,000 83%
10H30H(K) &l ZHaE 60 6,500 81%
1154H(X) &l ZhE 60 6,500 81%
11H5H0K) &l ZHaE 60 6,500 81%
11H6H(K) &l ZhE 60 6,500 81%
1188H(L) &l ZHaE 60 7,000 80%
11H11HCN) &l BEE 60 6,500 81%
11H12H(0K) &l ZEaE 60 6,500 81%
11H13H(K) &l BEE 60 6,500 81%
11H14H(£) &l ZEaE 60 7,000 80%
11H15H(%) &l “EE 60 7,000 80%
11H18H(N) &l ZEE 60 6,500 81%
11H19H(K) &l BEE 60 6,500 81%
11H20H(K) &l ZEaE 60 6,500 81%
11H21H(&) &l “EE 60 7,000 80%
11H28H (&) &l ZEE 60 7,000 80%
11H29H(%) &l BEE 60 7,000 80%
12H2H(KX) &l ZEaE 60 7,000 81%
12H3H(K) &l “EE 60 7,000 81%
12H4H(K) &l ZHaE 60 7,000 81%
12H5HGE) &l Bz 60 7,500 80%
12H6H(XL) &l ZHaE 60 7,500 80%
12H9H(X) &l “EE 60 6,500 83%
12H10H(K) &l ZHaE 60 6,500 83%
12H11H(K) &l Bz 60 6,500 83%
12H12H(:&) &l ZHaE 60 7,500 80%
12H13H(%) &l “EE 60 7,500 80%
12H16H(N) &l ZHaE 60 7,000 81%
12H17H(K) &l Bz 60 7,000 81%
12H18H(XK) &l ZaE 60 7,000 81%
12H19H(%&) &l “EE 60 7,500 80%
12H20H(x) &l ZHaE 60 7,500 80%
12H238(XN) &l ZaE 60 7,000 81%
12H24H(0K) &l ZhE 60 7,000 81%
12H25H(K) &l ZaE 60 7,000 81%
1H6H(X) &l ZhE 60 6,500 81%
1H7H(K) &l ZaE 60 6,500 81%
1H8H(K) &l 2R 60 6,500 81%
1H9H (&) &l ZaE 60 7,500 79%
1H10H(L) &l ZhE 60 7,500 79%
1811H(H) &l “aE 60 7,500 79%
1H12H(H) &l ZhE 60 7,500 79%
1H13HX) &l ZoaE 60 7,000 80%
1H14H(K) &l ZhE 60 7,000 80%
1H15H(K) &l ZoaE 60 7,000 80%
1H16H(E) &l ZhE 60 7,500 79%
1H17H(XL) &l ZaE 60 7,500 79%
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1H18H(H) &l ZHaE 60 7,500 79%
1819H(H) &l ZhE 60 7,500 79%
1H20H(X) &l ZHaE 60 7,000 80%
1H21H(K) &l ZhE 60 7,000 80%
1H22H(K) &l ZHaE 60 7,000 80%
1523H(%) &l ZhE 60 7,500 79%
1H24H(XL) &l ZHaE 60 7,500 79%
1825H(H) &l ZhE 60 7,500 79%
1H26H(H) &l ZHaE 60 7,500 79%
1H27HX) &l ZhE 60 7,000 80%
1H28H(K) &l ZHaE 60 7,000 80%
1H29H(K) &l ZhE 60 7,000 80%
1H30HGE) &l ZHaE 60 7,500 79%
1HA31H(L) &l BEE 60 7,500 79%
10H26H(H) ZaE PA) 61 9,000 73%
10H27H(H) ZhE PAV) 61 9,000 73%
10H28H(N) ZaE PA) 61 7,500 78%
10H29H(K) ZhE PA) 61 7,500 78%
10H30H(K) ZaE PA) 61 8,000 76%
10H31H(%&) ZhE PAV) 61 9,500 72%
11H2H(H) ZaE X5 61 9,500 72%
1183H(H) ZhE PAV) 61 9,500 72%
1154H(X) ZaE PA) 61 9,000 73%
11H5H(K) ZhE PA) 61 7,500 78%
11H6H(K) ZaE PA) 61 9,000 73%
11H8H(L) ZhE PAV) 61 9,000 73%
11H9H(H) ZaE PAVJ) 61 9,500 72%
11510H(A) ZhE PA) 61 9,500 72%
11H11HCN) ZaE PAV) 61 9,500 72%
11H12H(K) ZhE PA) 61 8,000 76%
11H13H(K) ZaE PAV) 61 9,000 73%
11H14H (&) ZhE PA) 61 9,000 73%
11H15H(X) ZaE PAVJ) 61 9,500 72%
11516H(H) ZhE PA) 61 9,000 73%
11817H(H) ZaE PAV) 61 9,500 72%
11H18H(CXN) ZhE PA) 61 8,500 75%
11H19H0K) ZaE PAV) 61 7,500 78%
11H20H(K) 2EE PA) 61 8,500 75%
11823H(H) ZaE PAV) 61 8,500 75%
11H24H(H) “aE PA) 61 9,000 73%
11H25H(CN) ZaE PAV) 61 7,500 78%
11H26H(K) “aE DAV 61 7,500 78%
11H27H(K) ZaE PAV) 61 8,500 75%
11H28H (&) ZaE PA) 61 9,000 73%
11H29H(X) ZaE PAV) 61 9,000 73%
118308 (H) “aE PA) 61 9,000 73%
12H1H(H) ZaE PAV) 61 9,000 75%
12H2H(X) “aE PA) 61 8,500 76%
12H3H(K) ZaE PAV) 61 8,500 76%
12H4H(K) ZaE DAV 61 8,500 76%
12H5H(E) ZaE PAV) 61 8,500 76%
12H6H(L) ZaE PA) 61 9,000 75%
12A7H(H) ZhE PAa) 61 8,500 76%
12H8H(H) ZaE A 61 8,000 78%
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12H9H(X) ZaE A 61 8,000 78%
12H10H(K) ZhE PAV) 61 7,500 79%
12H11H(K) ZaE A5 61 8,500 76%
12H12H(%&) ZhE PAV) 61 9,000 75%
12H13H(X) ZaE A 61 8,500 76%
12H14H(H) ZhE PAV) 61 8,500 76%
12H15H(H) ZaE A 61 8,500 76%
12H16H(N) ZhE PAV) 61 7,500 79%
12H17H(K) ZaE A5 61 7,500 79%
12H18H(K) ZhE PAV) 61 8,500 76%
12H19H (&) ZaE A 61 8,500 76%
12H20H(X) ZhE PAV) 61 8,500 76%
12H21H(H) ZaE PA) 61 7,500 79%
12H22H(A) ZhE PA) 61 8,000 78%
12H23H(N) ZaE PA) 61 7,500 79%
12H24H(K) ZhE PAV) 61 7,500 79%
12H25H(K) ZaE PA) 61 9,000 75%
185H(H) ZhE PA) 61 7,500 78%
1H6H(X) ZaE PA) 61 7,500 78%
1H7H(K) ZhE PA) 61 7,500 78%
1H8H(K) ZaE PA) 61 8,500 75%
1H9H(E) ZhE PAV) 61 9,000 73%
1H10H(L) ZaE PA) 61 9,000 73%
1811H(H) ZhE PA) 61 7,500 78%
1H12H(H) ZaE PA) 61 8,500 75%
1H13HX) ZhE PA) 61 7,500 78%
1H14H(K) ZaE PAV) 61 7,500 78%
1H158(K) 2EE A5 61 8,500 75%
1H16H(E) ZaE PAV) 61 9,000 73%
1H17H(L) ZhE PA) 61 9,000 73%
1H18H(H) ZaE PAV) 61 7,500 78%
1819H(H) ZhE PA) 61 7,500 78%
1H20H(X) ZaE PAV) 61 7,500 78%
1H21H(K) ZhE PA) 61 7,500 78%
1H22H(RK) ZaE PAV) 61 8,500 75%
1H23HGE) ZhE PA) 61 9,000 73%
1H24H(L) ZaE PAV) 61 9,000 73%
1825H(H) ZhE PA) 61 8,500 75%
1H26H(H) ZaE PAV) 61 8,500 75%
1H27H(KX) “aE PA) 61 7,500 78%
1H28H(K) ZaE PAV) 61 7,500 78%
1H29H(K) g 2Y=] A5 61 7,500 78%
1H30H(GER) ZaE PAV) 61 9,000 73%
18A31H(L) ZaE DAV 61 9,500 72%
10H27H(H) PAV) 2R 62 7,500 78%
10H28H(XN) PAV) ZaE 62 8,500 75%
10H29H(K) PAV) ZhE 62 7,500 78%
10H30H(K) PAV) “aE 62 7,500 78%
10H31H(%&) PAV) ZhE 62 9,500 72%
11H1H(L) PAV) ZoaE 62 9,000 73%
1182H(H) PAV) ZhE 62 9,500 72%
11H4H(X) PAV) ZoaE 62 8,000 76%
11H5H(K) PAV) ZhE 62 7,500 78%
11H6H(K) %) ZaE 62 7,500 78%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

1187HGER) ) ZHaE 62 9,000 73%
11H8H(L) PAV) g 2Ya] 62 7,500 78%
1159H((H) ) ZHaE 62 9,000 73%
11H10H(H) PAV) ZhE 62 7,500 78%
11H11HCN) ) ZHaE 62 8,000 76%
11H12H(K) PAV) ZhE 62 8,000 76%
11H13H(K) %) ZHaE 62 8,000 76%
11H14H(%&) PV BEE 62 9,500 72%
11H15H(%) ) ZHaE 62 9,000 73%
11H16H(H) PAV) ZhE 62 9,000 73%
11H17H(H) ) ZHaE 62 8,500 75%
11H18H(N) PAV) ZhE 62 8,500 75%
11H19H(K) A7 ZHaE 62 7,500 78%
11H20H(K) PAV) BEE 62 8,000 76%
11H21H(£) PA) ZEaE 62 9,000 73%
11H22H(%) PAV) BEE 62 9,000 73%
11823H(H) PAV) ZEaE 62 8,500 75%
11824H(H) PAV) ZhE 62 9,000 73%
11H25HCN) PA) ZEE 62 9,000 73%
11H26H(K) PAV) BEE 62 7,500 78%
11H27H(K) PAV) ZEaE 62 8,000 76%
11H28H () PAV) “EE 62 8,000 76%
11H29H(%) PAV) ZEE 62 8,000 76%
11830H(H) PAV) ZhE 62 9,000 73%
12A1H(H) PA) ZEaE 62 7,500 79%
12H2H(X) PAV) ZhE 62 7,500 79%
12H3H(K) PAV) ZHaE 62 7,000 80%
12H4H(K) PAV) Bz 62 7,000 80%
12H5H(ER) PAV) ZHaE 62 8,000 78%
12H6H(L) PAV) “EE 62 9,000 75%
12H7H(H) PAV) ZHaE 62 8,000 78%
12858H(H) PAV) Bz 62 8,000 78%
12H9H(X) PAV) ZHaE 62 7,000 80%
12H10H(K) PAV) “EE 62 7,000 80%
12H11H(K) PAV) ZHaE 62 7,000 80%
12H12H(%&) PAV) Bz 62 8,500 76%
12H13H(X) PAV) ZaE 62 8,500 76%
12H14H(H) PAV) “EE 62 8,000 78%
12H15H(H) PAV) ZHaE 62 7,500 79%
12H16H(XN) PAV) ZaE 62 7,000 80%
12H17H(0K) PAV) ZhE 62 7,000 80%
12H18H(K) PAV) ZaE 62 8,000 78%
12H19H (%) PAV) ZhE 62 8,000 78%
12H20H(%) PAV) ZaE 62 8,500 76%
12821H(H) PAV) 2R 62 8,000 78%
12H22H(AH) PAV) ZaE 62 7,500 79%
12H23H(N) PAV) ZhE 62 7,500 79%
12H24H(K) PAV) “aE 62 7,000 80%
12H25H(K) PAV) ZhE 62 7,000 80%
185H(H) PAV) ZoaE 62 9,000 73%
1H6H(CN) PAV) ZhE 62 7,500 78%
1H7H(CK) PAV) ZoaE 62 7,000 79%
1H8H(XK) PAV) ZhE 62 7,000 79%
1H9H (&) %) ZaE 62 7,000 79%
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1H10H(XL) ) ZHaE 62 7,500 78%
1H11H(H) PAV) ZhE 62 7,000 79%
1H12H(H) ) ZHaE 62 8,500 75%
1H13H(CX) PAV) ZhE 62 7,000 79%
1H14H(K) ) ZHaE 62 7,000 79%
1H15H(CK) PAV) ZhE 62 7,000 79%
1H16H(GE) %) ZHaE 62 7,000 79%
1H17H(L) PV BEE 62 7,500 78%
1H18H(H) ) ZHaE 62 7,000 79%
1H19H(H) PAV) ZhE 62 7,000 79%
1H20H(X) ) ZHaE 62 7,000 79%
1H21H(K) PAV) ZhE 62 7,000 79%
1H22H(K) A7 ZHaE 62 7,000 79%
1H23H(E) A5 “hE 62 7,000 79%
1H24H(XL) PA) ZEaE 62 8,000 76%
1H25H(H) PAV) ZhE 62 7,000 79%
1H26H(H) PAV) ZEaE 62 7,000 79%
1H27H(X) PAV) ZhE 62 7,000 79%
1H28H(K) PA) ZEE 62 7,500 78%
1H29H(K) PAV) ZhE 62 7,000 79%
1H30H(GE) PAV) ZEaE 62 7,000 79%
1831H(L) PAV) “EE 62 7,000 79%
10H26H(H) ZaE X5 65 9,000 73%
10H27H(H) ZhE PAV) 65 9,000 73%
10H28H(N) ZaE X5 65 7,500 78%
10H29H(K) ZhE PAV) 65 9,000 73%
10H30H(K) ZaE PAVJ) 65 8,500 75%
10H31H(E) ZhE PAV) 65 8,500 75%
1151H(XL) ZaE PAVJ) 65 9,000 73%
11H2H(H) ZhE PAV) 65 9,000 73%
1154H(X) ZaE PAVJ) 65 7,500 78%
11H5H0K) ZhE PA) 65 7,500 78%
11H6H(RK) ZaE PAVJ) 65 8,000 76%
1187H(E) ZhE PAV) 65 7,500 78%
11H8H(L) ZaE PAVJ) 65 8,000 76%
11H9H(H) ZhE PAV) 65 8,500 75%
11510H(H) ZaE PAVJ) 65 8,000 76%
118118CN) ZhE PA) 65 7,500 78%
11H12H(0K) ZaE PAVJ) 65 8,000 76%
11H13H(K) “aE DAV 65 7,500 78%
115148 (%&) ZaE PAV) 65 8,500 75%
11H15H(%) ZaE DAV 65 8,500 75%
11816H(H) ZaE PAV) 65 8,500 75%
11H17H(H) ZaE DAV 65 8,500 75%
11H18H(N) ZaE PAV) 65 8,500 75%
11H19H(K) “aE DAV 65 7,500 78%
11H20H(K) ZaE PAV) 65 8,500 75%
11H21H(%&) ZaE DAV 65 7,500 78%
11H22H(X) ZaE PAV) 65 8,500 75%
11823H(H) ZaE DAV 65 9,000 73%
11824H(H) ZaE PAV) 65 9,500 72%
11H258(XN) ZaE DAV 65 7,500 78%
11H26H(K) ZhE PAV) 65 7,500 78%
11H27H(K) ZaE DAV 65 7,500 78%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

11H28H (&) ZaE DAV 65 7,500 78%
11H29H(%) ZhE PAV) 65 7,500 78%
11H30H(H) ZaE DAV 65 8,000 76%
12H1H(H) ZhE PAV) 65 7,500 79%
12H2H(X) ZaE DAV 65 7,000 80%
12H3H(K) ZhE PAV) 65 7,000 80%
12H4H(K) ZaE DAV 65 7,000 80%
12H5H(E) ZhE PAV) 65 7,000 80%
12H6H(XL) ZaE DAV 65 7,000 80%
12A7H(H) ZhE PAV) 65 8,500 76%
12H8H(H) ZaE DAV 65 7,500 79%
12H9H(X) ZhE PAV) 65 7,000 80%
12H10H(K) ZaE PA) 65 7,000 80%
12H11H(K) 2EE PAV) 65 7,500 79%
12H12H(£) ZaE X5 65 7,000 80%
12H13H(%) ZhE PA) 65 7,000 80%
12H14H(H) ZaE X5 65 8,500 76%
12H15H(A) ZhE PA) 65 8,500 76%
12H16H(CN) ZaE X5 65 7,000 80%
12H17H(K) ZhE PA) 65 7,000 80%
12H18H(K) ZaE X5 65 7,000 80%
12H19H(%&) ZhE PAV) 65 7,500 79%
12H20H(x) ZaE X5 65 8,500 76%
12821H(H) ZhE PA) 65 8,500 76%
12H22H(H) ZaE X5 65 7,500 79%
12H238(N) ZhE PA) 65 7,000 80%
12H24H(K) ZaE PAV) 65 7,500 79%
12H25H(K) 2EE PA) 65 8,000 78%
1H5H(A) ZaE PAVJ) 65 7,500 78%
1H6HN) 2EE A5 65 7,000 79%
18780K) ZaE PAVJ) 65 7,500 78%
1H8H(XK) 2EE PA) 65 7,000 79%
1H9H (%) ZaE PAVJ) 65 7,000 79%
1H10H(L) ZhE PAV) 65 7,500 78%
1H11H((H) ZaE PAVJ) 65 7,500 78%
1812H(H) ZhE PA) 65 7,500 78%
1H13H(X) ZaE PAVJ) 65 7,000 79%
1H14H(K) ZhE PA) 65 7,000 79%
1H15H(K) ZaE PAVJ) 65 7,000 79%
1H16H(GE) ZaE DAV 65 7,000 79%
1H17H(XL) ZaE PAV) 65 7,000 79%
1H18H(H) “aE DAV 65 7,000 79%
1H19H(H) ZaE PAV) 65 7,000 79%
1H20H(X) “aE DAV 65 7,000 79%
1H21H(K) ZaE PAV) 65 7,000 79%
1H22H(K) “aE DAV 65 8,000 76%
1H23H(ER) ZaE PAV) 65 7,000 79%
1H24H(XL) ZaE DAV 65 7,000 79%
1H25H(H) ZaE PAV) 65 7,000 79%
1H26H(H) ZaE DAV 65 7,500 78%
1H27H(X) ZaE PAV) 65 7,000 79%
1H28H(K) ZaE DAV 65 7,000 79%
1H29H(K) ZhE PAV) 65 7,000 79%
1H30HGE) ZaE DAV 65 8,500 75%
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1HA31H(L) ZaE DAV 65 7,000 79%
10H26H(H) PAV) ZhE 66 8,500 75%
10H27H(H) ) ZHaE 66 9,000 73%
10H28H(N) PAV) ZhE 66 9,000 73%
10H29H(K) ) ZHaE 66 8,000 76%
10H30H(K) PAV) ZhE 66 8,500 75%
10H31H(E) %) ZHaE 66 8,500 75%
1151H(L) PV BEE 66 8,500 75%
11582H(H) ) ZHaE 66 9,500 72%
11H3H(AH) PAV) ZhE 66 9,500 72%
11H4H(X) ) ZHaE 66 7,500 78%
11H5H(K) PAV) ZhE 66 8,500 75%
11H6H(K) A7 ZHaE 66 8,500 75%
1187H(GE) PAV) BEE 66 9,500 72%
11H9H(H) PA) ZEaE 66 9,500 72%
11810H(H) PAV) ZhE 66 9,500 72%
11H11HN) PAV) ZEaE 66 8,500 75%
11H12H(K) PAV) “EE 66 8,500 75%
11H13H(K) PA) ZEE 66 8,500 75%
11H14H (&) PAV) BEE 66 9,000 73%
11H15H(%) PAV) ZEaE 66 9,500 72%
11H16H(H) PAV) ZhE 66 9,000 73%
11H17H(H) PAV) ZEE 66 9,500 72%
11H18H(CN) PAV) BEE 66 8,500 75%
11H19H(0K) PA) ZEaE 66 8,500 75%
11H20H(XK) PAV) ZhE 66 9,000 73%
11H21H(&) PAV) ZHaE 66 9,000 73%
11H22H (%) PAV) ZhE 66 8,500 75%
11823H(H) PAV) ZHaE 66 9,000 73%
11824H(A) PAV) ZhE 66 9,500 72%
11H25H(CN) PAV) ZHaE 66 9,000 73%
11H26H(K) PAV) ZhE 66 8,000 76%
11H27H(K) PAV) ZHaE 66 7,500 78%
11H28H(E) PAV) ZhE 66 8,000 76%
11H29H(X) PAV) ZHaE 66 9,000 73%
115308 (H) PAV) ZhE 66 9,000 73%
12H1H(H) PAV) ZaE 66 7,500 79%
12H2H(X) PAV) “EE 66 7,500 79%
12H3H(K) PAV) ZHaE 66 7,500 79%
12H4H(K) PAV) ZaE 66 8,500 76%
12H5H(E) PAV) ZhE 66 9,000 75%
12856H(XL) PAV) ZaE 66 8,000 78%
1287H(H) PAV) ZhE 66 9,000 75%
1258H(H) PAV) ZaE 66 8,000 78%
12H9H(X) PAV) 2R 66 8,000 78%
12H10H(K) PAV) ZaE 66 7,500 79%
12H11H(K) PAV) ZhE 66 8,000 78%
12H12H(%&) PAV) “aE 66 9,000 75%
12H13H(X) PAV) ZhE 66 8,500 76%
12H14H(H) PAV) ZoaE 66 9,000 75%
12H15H(H) PAV) ZhE 66 8,000 78%
12H16H(X) A5 “HEE 66 7,500 79%
12H17H(K) PAV) ZhE 66 8,000 78%
12H18H(K) %) ZaE 66 7,500 79%
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125198 (&) ) ZHaE 66 8,500 76%
12H20H(*L) PAV) g 2Ya] 66 8,000 78%
12H21H(H) ) ZHaE 66 9,000 75%
12H22H(A) PAV) ZhE 66 8,000 78%
12H238(XN) ) ZHaE 66 7,500 79%
12H24H(K) PAV) ZhE 66 7,500 79%
12H25H(K) %) ZHaE 66 8,000 78%
185H(H) PV ZhE 66 9,000 73%
1H6H(X) ) ZHaE 66 8,000 76%
1H7HCK) PAV) ZhE 66 7,500 78%
1H8H(XK) ) ZHaE 66 7,500 78%
1598 (%) A5 BhE 66 8,500 75%
1H10H(L) A7 ZHaE 66 7,500 78%
1811H(H) PAV) BEE 66 8,500 75%
1H12H(H) PA) ZEaE 66 9,000 73%
1H13HX) PAV) BEE 66 7,500 78%
1H14H(K) PAV) ZEaE 66 7,500 78%
1H15H(K) PAV) “EE 66 8,000 76%
1H16H(E) PA) ZEE 66 8,500 75%
1H17H(L) PAV) BEE 66 7,500 78%
1H18H(H) PAV) ZEaE 66 9,000 73%
1819H(H) PAV) “EE 66 8,000 76%
1H20H(X) PAV) ZEE 66 7,500 78%
1H21H(K) PAV) BEE 66 7,500 78%
1H22H(K) PA) ZEaE 66 8,000 76%
1H23HGE) PAV) “EE 66 8,500 75%
1H24H(L) PAV) ZHaE 66 7,500 78%
1825H(H) PAV) ZhE 66 9,000 73%
1H26H(H) PAV) ZHaE 66 8,000 76%
1H27H(X) PAV) “EE 66 7,500 78%
1H28H(K) PAV) ZHaE 66 7,500 78%
1H29H(K) PAV) Bz 66 8,500 75%
1H30H(GER) PAV) ZHaE 66 8,500 75%
1H31H(L) PAV) ZhE 66 7,500 78%
10H26H(H) ABR ] 67 6,000 80%
10H27H(H) AN &l 67 6,000 80%
10H28H(N) ABR ] 67 6,000 80%
10H29H(K) AN &l 67 6,000 80%
10H30H(K) ABR ] 67 6,000 80%
10H31H(E) AN &l 67 6,000 80%
1183H(H) ABR il 67 6,500 79%
11H4H(X) AN &l 67 6,000 80%
11H5H(K) ABR il 67 6,000 80%
11H6H(K) AN &l 67 6,000 80%
11H10H(H) ABR il 67 6,500 79%
11H11H(CN) AN &l 67 6,000 80%
11H12H(0K) ABR il 67 6,000 80%
11H13H(K) AN &l 67 6,000 80%
118148(%&) ABR fE 67 6,000 80%
11H158(%) AN &l 67 6,500 79%
11816H(H) ABR fE 67 6,000 80%
11H17H(H) AN &l 67 6,500 79%
11H18H(N) AN fe ] 67 6,000 80%
11H19H(K) ABR &l 67 6,000 80%
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11H20H(K) ABR @] 67 6,000 80%
11H21H(&) ABR =lid 67 6,000 80%
11823H(H) ABR @] 67 6,000 80%
11824H(H) AN =lid 67 6,000 80%
11H27H(K) ABR @] 67 5,500 82%
11H28H (&) ABR e[ 67 5,500 82%
11530H(H) ABR @] 67 5,500 82%
1281H(H) AN fe ] 67 6,000 81%
12H2H(X) ABR @] 67 5,500 83%
12H3H(K) AN =lid 67 5,500 83%
12H4H(K) ABR @] 67 5,500 83%
12H5H(%) ABR =lid 67 5,500 83%
12H6H(L) ABR @] 67 6,000 81%
1287H(H) AN &l 67 5,500 83%
12H8H(H) AN il 67 6,000 81%
12H9H(X) AN &l 67 5,500 83%
12H10H(K) AN @] 67 5,500 83%
12H118(K) AN &l 67 5,500 83%
12H12H(£) AN @] 67 5,500 83%
12H13H(%) AN &l 67 6,000 81%
12H14H(H) AN @] 67 5,500 83%
12H15H(H) AN &l 67 6,000 81%
12H16H(CN) AN @] 67 5,500 83%
12H17H(K) AN &l 67 5,500 83%
12H18H(K) AN @] 67 5,500 83%
12H19H(%&) AN &l 67 5,500 83%
12821H(H) ABR ] 67 5,500 83%
12H22H(AH) AN ] 67 6,000 81%
12H23H(N) ABR ] 67 5,500 83%
12H24H(K) AN &l 67 5,500 83%
12H25H(K) ABR ] 67 5,500 83%
185H(H) AN &l 67 6,000 80%
1H6H(N) ABR fE 67 5,500 82%
1H7H(CK) AN &[] 67 5,500 82%
1H8H(K) ABR fE 67 5,500 82%
1H9H (&) AN ] 67 5,500 82%
1H10H(L) ABR ] 67 6,500 79%
1811H(H) AN &[] 67 5,500 82%
1H12H(H) ABR fE 67 5,500 82%
1H13HX) AN @] 67 5,500 82%
1H14H(K) ABR il 67 5,500 82%
1H15H(K) AN @] 67 5,500 82%
1H16H(E) ABR il 67 5,500 82%
1H17H(XL) AN &l 67 6,500 79%
1H18H(H) ABR il 67 5,500 82%
1H19H(H) AN &l 67 6,000 80%
1H20H(XN) ABR il 67 5,500 82%
1H21H(K) AN @] 67 5,500 82%
1H22H(K) ABR fE 67 5,500 82%
1H23HGER) AN &[] 67 5,500 82%
1H24H(L) ABR fE 67 6,000 80%
1H25H(H) AN &[] 67 5,500 82%
1H26H(H) AN fe ] 67 6,000 80%
1H27H(X) ABR @] 67 5,500 82%
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1H28H(K) ABR @] 67 5,500 82%
1H29H(K) AN =lid 67 5,500 82%
1H30HGE) ABR @] 67 5,500 82%
1HA31H(L) AN =lid 67 6,500 79%
10H27H(H) &l AP 68 6,000 80%
10H28H(XN) &l N 68 6,000 80%
10H29H(K) f& ] AP 68 6,000 80%
10H30H(K) &l AN 68 6,000 80%
10H31H(E) &l AP 68 6,000 80%
1182H(H) &l AN 68 6,500 79%
1183H(H) &l AP 68 6,500 79%
11H4HX) &l N 68 6,000 80%
11H5H0K) e ] AP 68 6,000 80%
11H6H(K) &l AN 68 6,000 80%
1187HGER) &l AP 68 6,000 80%
11H8H(L) &l AN 68 6,500 79%
11H9H((H) &l AP 68 6,000 80%
11810H(H) &l KB 68 6,500 79%
11511HCN) & ] AP 68 6,000 80%
11H12H(K) &l AN 68 6,000 80%
11H13H(K) & ] AP 68 6,000 80%
11H14H (&) &l KB 68 6,000 80%
11H15H(%) &l AP 68 6,500 79%
11H16H(H) fe M) N 68 6,000 80%
11H17H(H) &l AP 68 6,500 79%
11H18H(CN) &l KB 68 6,000 80%
11H19H0K) & ABR 68 6,000 80%
11H20H(K) &l AP 68 6,000 80%
11H21H(&) &l ABR 68 6,500 79%
11H24H(H) &l AP 68 6,500 79%
11H25H(CN) & ABR 68 6,000 80%
11H26H(K) &l AP 68 5,500 82%
11H27H(K) & ABR 68 5,500 82%
11H28H(E) &l AP 68 5,500 82%
11830H(H) &l ABR 68 5,500 82%
1281H(H) &l AP 68 6,000 81%
12H2H(X) & ABR 68 5,500 83%
12H3H(K) &l AP 68 5,500 83%
12H4H(K) & ABR 68 5,500 83%
12H5HGE) &l AP 68 5,500 83%
12H6H(L) &l N 68 6,000 81%
1287H(H) &l AP 68 5,500 83%
12H8H(H) &l N 68 6,000 81%
12H9H(X) &l AP 68 5,500 83%
12H10H(K) &l N 68 5,500 83%
12H11H(K) &l AP 68 5,500 83%
12H12H(%&) &l ABR 68 5,500 83%
12H14H(H) &l AP 68 5,500 83%
12H15H(H) &l N 68 6,000 81%
12H16H(XN) &l KB 68 5,500 83%
12H17H(0K) &l N 68 5,500 83%
12H18H(K) &l KB 68 5,500 83%
12H19H(%&) &l KB 68 5,500 83%
12H22H(H) &l AP 68 6,000 81%
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12H238(XN) f& ] AP 68 5,500 83%
12H24H(K) &l AN 68 5,500 83%
12H25H(K) f& ] AP 68 5,500 83%
185H(H) &l AN 68 6,000 80%
1H6H(X) f& ] AP 68 5,500 82%
1H7HCK) &l N 68 5,500 82%
1H8H(XK) f& ] AP 68 5,500 82%
1H9H(E) &l AN 68 5,500 82%
1H11H(H) &l AP 68 5,500 82%
1812H(H) &l AN 68 5,500 82%
1H13H(X) f& ] AP 68 5,500 82%
1H14H(K) &l N 68 5,500 82%
1H15H(K) e ] AP 68 5,500 82%
1H16H(E) &l AN 68 5,500 82%
1H17H(XL) &l AP 68 6,000 80%
1818H(H) &l AN 68 5,500 82%
1H19H(H) &l AP 68 6,000 80%
1H20HX) &l KB 68 5,500 82%
1H21H(K) & ] AP 68 5,500 82%
1H22H(K) &l AN 68 5,500 82%
1H23H(GER) &l AP 68 5,500 82%
1H24H(L) G=lid KB 68 6,000 80%
1H25H(H) &l AP 68 5,500 82%
1826H(H) &l AN 68 6,000 80%
1H27H(X) & ] AP 68 5,500 82%
1H28H(K) &l KB 68 5,500 82%
1H29H(K) & ABR 68 5,500 82%
1H30HGE) &l AP 68 5,500 82%
1H831H(L) &l ABR 68 6,000 80%
10H26H(H) AN &l 69 6,000 80%
10827H(H) ABR ] 69 6,000 80%
10H28H(XN) AN &l 69 6,000 80%
10H29H(K) ABR ] 69 6,000 80%
10H30H(K) AN &l 69 6,000 80%
10H31H(:&) ABR ] 69 6,000 80%
11H4H(X) AN &l 69 6,000 80%
11H5H(K) ABR ] 69 6,000 80%
11H6H(K) AN &l 69 6,000 80%
1187H(GER) ABR ] 69 6,500 79%
11510H((H) AN @] 69 6,500 79%
11H11HN) ABR il 69 6,000 80%
11H12H(K) AN @] 69 6,000 80%
11H15H(X) ABR il 69 6,500 79%
11516H(H) AN @] 69 6,500 79%
11H17H(H) ABR il 69 6,500 79%
11H18H(N) AN @] 69 6,000 80%
11H19H0K) ABR il 69 6,000 80%
11H20H(K) AN @] 69 6,000 80%
11H21H(&) ABR fE 69 6,500 79%
11H27H(K) AN &[] 69 5,500 82%
11H28H (&) ABR fE 69 6,000 80%
118308 (H) AN &[] 69 6,000 80%
12H1H(H) AN fe ] 69 6,000 81%
12H4H(K) ABR @] 69 5,500 83%
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12H5HGER) ABR @] 69 6,000 81%
12H6H(L) AN =lid 69 6,000 81%
1287H((H) ABR @] 69 6,000 81%
1258H(H) AN =lid 69 6,000 81%
12H9H(X) ABR @] 69 5,500 83%
12H10H(K) AN e[ 69 5,500 83%
12H11H(K) ABR @] 69 5,500 83%
12H12H(%&) AN fe ] 69 6,000 81%
12H14H(H) ABR @] 69 6,000 81%
12H16H(N) AN =lid 69 5,500 83%
12H17H(K) ABR @] 69 5,500 83%
12H18H(K) AN =lid 69 5,500 83%
12H19H (&) ABR @] 69 6,000 81%
12821H(H) AN &l 69 6,000 81%
12822H(H) AN il 69 6,000 81%
12H238(N) AN &l 69 5,500 83%
12H24H(0K) AN @] 69 5,500 83%
1H6H(N) AN &l 69 5,500 82%
18780K) AN il 69 5,500 82%
1H8H(XK) AN &l 69 5,500 82%
1H9H (%) AN @] 69 6,000 80%
1H10H(L) AN &l 69 6,000 80%
1H11H(H) AN @] 69 6,000 80%
1812H(H) AN &l 69 6,000 80%
1H13H(X) AN il 69 5,500 82%
1H14H(K) AN &l 69 5,500 82%
1H15H(K) ABR fE 69 5,500 82%
1H16H(GE) AN &l 69 6,000 80%
1H17H(XL) ABR ] 69 6,000 80%
1H18H(H) AN &l 69 6,000 80%
1H19H(H) ABR ] 69 6,000 80%
1H20H(X) AN ] 69 5,500 82%
1H21H(K) ABR fE 69 5,500 82%
1H22H(K) AN &[] 69 5,500 82%
1H23H(ER) ABR ] 69 6,000 80%
1H24H(XL) AN &l 69 6,000 80%
1H25H(H) ABR ] 69 6,000 80%
1H26H(H) AN &l 69 6,000 80%
1H27H(X) ABR fE 69 5,500 82%
1H28H(K) AN @] 69 5,500 82%
1H29H(K) ABR il 69 5,500 82%
1H30HGE) AN @] 69 6,000 80%
1HA31H(L) ABR il 69 6,000 80%
10H26H(H) &l AP 70 6,000 80%
10H27H(H) &l N 70 6,000 80%
10H28H(XN) &l AP 70 6,000 80%
10H29H(K) &l N 70 6,000 80%
10H30H(K) &l AP 70 6,000 80%
1154H(X) &l N 70 6,000 80%
11H5H(0K) &l KB 70 6,000 80%
11H6H(K) &l N 70 6,000 80%
1187HGE) &l KB 70 6,500 79%
11H8H(L) &l KB 70 6,500 79%
118118CN) &l AP 70 6,000 80%
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11H12H(K) f& ] AP 70 6,000 80%
11H13H(K) &l AN 70 6,000 80%
11H14H(%) &l AP 70 6,500 79%
11H15H(%) &l AN 70 6,500 79%
11H18H(CN) f& ] AP 70 6,000 80%
11H19H(K) &l N 70 6,000 80%
11H20H(K) f& ] AP 70 6,000 80%
11H21H(&) &l AN 70 6,500 79%
11H26H(K) f& ] AP 70 5,500 82%
11H27H(K) &l AN 70 5,500 82%
11H28H (&) &l AP 70 6,000 80%
11H29H(%) &l N 70 6,000 80%
1251H(H) &l AP 70 6,000 81%
12H2HX) &l AN 70 5,500 83%
12H3H(K) & ] AP 70 5,500 83%
12H4H(K) &l AN 70 5,500 83%
12H5H(GER) &l AP 70 6,000 81%
12H6H(L) G=lid ABR 70 6,000 81%
12H7H(H) &l AP 70 6,000 81%
1258H(H) &l AN 70 6,000 81%
12H9H(X) & ] AP 70 5,500 83%
12H10H(K) &l KB 70 5,500 83%
12H11H(K) & ] AP 70 5,500 83%
12H12H (&) &l AN 70 6,000 81%
12H13H(X) &l AP 70 6,000 81%
12H14H(H) &l KB 70 6,000 81%
12H15H(H) & ABR 70 6,000 81%
12H16H(XN) &l AP 70 5,500 83%
12H17H(0K) & ABR 70 5,500 83%
12H18H(K) &l AP 70 5,500 83%
12H19H (&) &l ABR 70 6,000 81%
12H208H(%L) &l AP 70 6,000 81%
12821H(H) &l ABR 70 6,000 81%
12H22H(AH) &l AP 70 6,000 81%
12H23H(N) & ABR 70 5,500 83%
12H24H(K) &l AP 70 5,500 83%
12H25H(K) & ABR 70 5,500 83%
185H(H) &l AP 70 6,000 80%
1H6H(N) & ABR 70 5,500 82%
1H7H(K) &l AP 70 5,500 82%
1H8H(K) &l N 70 5,500 82%
1H9H (&) &l AP 70 6,000 80%
1H10H(L) &l ABR 70 6,000 80%
1811H(H) &l AP 70 6,000 80%
1H12H(H) &l N 70 6,000 80%
1H13HX) &l AP 70 5,500 82%
1H14H(K) &l N 70 5,500 82%
1H15H(K) &l AP 70 5,500 82%
1H16H(E) &l ABR 70 6,000 80%
1H17H(XL) &l KB 70 6,000 80%
1H18H(H) &l ABR 70 6,000 80%
1H19H(H) &l KB 70 6,000 80%
1H20H(X) &l KB 70 5,500 82%
1H21H(K) &l AP 70 5,500 82%
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1H22H(K) f& ] AP 70 5,500 82%
1H23H(R) &l AN 70 6,000 80%
1H24H(XL) &l AP 70 6,000 80%
1825H(H) &l AN 70 6,000 80%
1H26H(H) &l AP 70 6,000 80%
1H27H0X) &l N 70 5,500 82%
1H28H(K) f& ] AP 70 5,500 82%
1H29H(K) &l AN 70 5,500 82%
1H30HGE) &l AP 70 6,000 80%
1HA31H(L) &l AN 70 6,000 80%
10H26H(H) ABR it 71 7,000 83%
10H27H(H) AN ot 71 7,000 83%
10H28H(XN) ABR it 71 7,000 83%
10H29H(K) AN it 71 7,000 83%
11H2H(H) AN ok 71 7,000 83%
1183H(H) AN it 71 7,000 83%
1154H(X) AN ok 71 6,500 84%
11H5H(K) AN it 71 6,000 85%
11H6H(K) AN ok 71 6,000 85%
1189H((H) AN it 71 6,000 85%
11510H(H) AN ok 71 6,500 84%
11H11H(CN) AN it 71 6,000 85%
11H12H(0K) AN ok 71 6,000 85%
11H13H(K) AN it 71 6,000 85%
11H14H(£) AN ok 71 6,000 85%
11H15H(%) AN it 71 6,500 84%
11816H(H) ABR ik 71 6,000 85%
11H17H(H) AN it 71 6,500 84%
11H18H(N) ABR ik 71 6,000 85%
11H19H(K) AN it 71 6,000 85%
11H20H(K) ABR ik 71 6,000 85%
11H258(X) AN it 71 6,500 84%
11H26H(K) ABR ik 71 6,000 85%
11H27H(K) AN it 71 6,000 85%
11H28H (&) ABR ik 71 6,000 85%
115308 (H) AN it 71 6,000 85%
12H1H(H) ABR ik 71 6,500 85%
12H2H(X) AN it 71 6,000 86%
12H3H(K) ABR ik 71 6,000 86%
12H4H(K) AN it 71 6,000 86%
12H5H(E) AN o) 71 6,000 86%
12856H(XL) AN it 71 6,500 85%
1287H(H) AN o) 71 6,000 86%
1258H(H) AN it 71 6,500 85%
12H9H(X) AN ot 71 6,000 86%
12H10H(K) AN it 71 6,000 86%
12H11H(K) AN it 71 6,000 86%
12H12H(%&) AN it 71 6,000 86%
12H15H(H) AN it 71 6,500 85%
12H16H(XN) AN it 71 6,000 86%
12H17H(0K) AN it 71 6,000 86%
12H18H(K) AN it 71 6,000 86%
12H19H(%&) AN e 71 6,000 86%
12520H(%) ABR it 71 6,500 85%
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12H21H(H) ABR it 71 6,000 86%
12H22H(H) AN ot 71 6,500 85%
12H238(XN) ABR it 71 6,000 86%
12H24H(K) AN ot 71 6,000 86%
12H25H(K) ABR it 71 6,000 86%
185H(H) AN ot 71 6,500 84%
1H6H(X) ABR it 71 6,000 85%
1H7HCK) AN ot 71 6,000 85%
1H8H(XK) ABR it 71 6,000 85%
1H9H(GE) AN ot 71 6,000 85%
1H10H(L) ABR it 71 6,500 84%
1811H((H) AN ot 71 6,000 85%
1H12H(H) ABR it 71 6,000 85%
1H13HX) AN it 71 6,500 84%
1H14H(K) AN ok 71 6,000 85%
1H15H(CK) AN it 71 6,000 85%
1H16H(E) AN ok 71 6,000 85%
1H17H(XL) AN it 71 6,500 84%
1H18H(H) AN ok 71 6,000 85%
1819H(H) AN it 71 6,500 84%
1H20H(X) AN ok 71 6,000 85%
1H21H(K) AN it 71 6,000 85%
1H22H(K) AN ok 71 6,000 85%
1H23H(E) AN it 71 6,000 85%
1H24H(L) AN ok 71 6,500 84%
1825H(H) AN it 71 6,000 85%
1H26H(H) ABR ik 71 6,500 84%
1H27H(X) AN it 71 6,000 85%
1H28H(K) ABR ik 71 6,000 85%
1H29H(RK) AN it 71 6,000 85%
1H30H(GER) ABR ik 71 6,000 85%
1H31H(L) AN it 71 6,500 84%
10H27H(H) b, ABR 72 7,000 83%
10H29H(K) Eoibi) AP 72 7,000 83%
10H30H(K) b, ABR 72 7,000 83%
11582H(H) Eoibi) AP 72 7,000 83%
1183H(H) o) ABR 72 7,000 83%
11H4H(X) Eoibi) AP 72 6,500 84%
11H6H(K) b, ABR 72 6,000 85%
1187HGE) poibi) AP 72 6,000 85%
118510H(H) o) ABR 72 6,500 84%
11H11H(CN) poibi) AP 72 6,000 85%
11H13H(K) o) ABR 72 6,000 85%
11H14H(%&) poibi) AP 72 6,000 85%
11816H(H) b ABR 72 6,000 85%
11H17H(H) poibi) AP 72 6,500 84%
11H19H0K) b ABR 72 6,000 85%
11H20H(XK) poibi) AP 72 6,000 85%
11823H(H) o) ABR 72 6,000 85%
11H24H(H) Eoibi) KB 72 6,000 85%
11H26H(K) o) ABR 72 6,000 85%
11H27H(K) Eoibi) KB 72 6,000 85%
11H28H(%&) it KB 72 6,000 85%
11530H(H) ok AP 72 6,000 85%
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12H51H(H) b AP 72 6,500 85%
12H2HX) it AN 72 6,000 86%
12H3H(K) b AP 72 6,000 86%
12H4H(K) it AN 72 6,000 86%
12H5HGER) b AP 72 6,000 86%
12H6H(L) ik N 72 6,500 85%
1287H(H) b AP 72 6,000 86%
1258H(H) it AN 72 6,500 85%
12H9H(X) b AP 72 6,000 86%
12H10H(K) it AN 72 6,000 86%
12H11H(K) b AP 72 6,000 86%
12H12H(%&) it N 72 6,000 86%
12H14H(H) b AP 72 6,000 86%
12H15H(A) ik AN 72 6,500 85%
12H16H(AN) Eolb) AP 72 6,000 86%
12H17H(K) ik AN 72 6,000 86%
12H18H(XK) o) AP 72 6,000 86%
12H19H(%&) Eoibi) KB 72 6,000 86%
12821H(H) Eolb) AP 72 6,000 86%
12H22H(A) ik AN 72 6,500 85%
12H23H(N) o) AP 72 6,000 86%
12H24H(K) ik KB 72 6,000 86%
12H25H(K) Eolb) AP 72 6,000 86%
185H(H) ik AN 72 6,500 84%
1H6H(X) Eolb) AP 72 6,000 85%
1H7H(K) ik KB 72 6,000 85%
1H8H(K) o) ABR 72 6,000 85%
1H9H (&) Eoibi) AP 72 6,000 85%
1H10H(L) b, ABR 72 6,500 84%
1811H(H) Eoibi) AP 72 6,000 85%
1H12H(H) b, ABR 72 6,000 85%
1H13HX) Eoibi) AP 72 6,500 84%
1H14H(K) b, ABR 72 6,000 85%
1H15H(K) Eoibi) AP 72 6,000 85%
1H16H(E) b, ABR 72 6,000 85%
1H17H(XL) Eoibi) AP 72 6,500 84%
1H18H(H) o) ABR 72 6,000 85%
1H19H(H) Eoibi) AP 72 6,500 84%
1H20H(X) b, ABR 72 6,000 85%
1H21H(K) poibi) AP 72 6,000 85%
1H22H(K) o) ABR 72 6,000 85%
1H23H(GER) poibi) AP 72 6,000 85%
1H24H(L) o) ABR 72 6,500 84%
1H25H(H) poibi) AP 72 6,000 85%
1H26H(H) b ABR 72 6,500 84%
1H27H(X) poibi) AP 72 6,000 85%
1H28H(K) b ABR 72 6,000 85%
1H29H(K) poibi) AP 72 6,000 85%
1H30H(ER) o) ABR 72 6,000 85%
1H31H(L) Eoibi) KB 72 6,500 84%
10H26H(H) AN it 73 7,000 83%
10H28H(XN) AN it 73 7,000 83%
10H29H(K) AN e 73 7,000 83%
10H30H(K) ABR it 73 7,000 83%
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10H31H(E) ABR it 73 7,000 83%
11H4HX) AN ot 73 7,000 83%
11H5H0K) ABR it 73 6,000 85%
11H6H(K) AN ot 73 6,000 85%
1187HGER) ABR it 73 7,000 83%
1189H((H) AN ot 73 6,500 84%
11510H(H) ABR it 73 6,500 84%
11H11H(CN) AN ot 73 6,000 85%
11H12H(K) ABR it 73 6,000 85%
11H13H(K) AN ot 73 6,000 85%
11H14H(%) ABR it 73 6,500 84%
11H15H(%) AN ot 73 6,500 84%
11516H(H) ABR it 73 6,500 84%
11817H(A) AN it 73 6,500 84%
11H18H(N) AN ok 73 6,000 85%
11H19H(K) AN it 73 6,000 85%
11H20H(K) AN ok 73 6,000 85%
11H21H(&) AN it 73 6,500 84%
11H25HCN) AN ok 73 6,000 85%
11H26H(K) AN it 73 6,000 85%
11H27H(K) AN ok 73 6,000 85%
11H28H () AN it 73 6,500 84%
11H29H(%) AN ok 73 6,500 84%
1281H(H) AN it 73 6,500 85%
12H2H(X) AN ok 73 6,000 86%
12H3H(K) AN it 73 6,000 86%
12H4H(K) ABR ik 73 6,000 86%
12H5HGE) AN it 73 6,500 85%
12H6H(XL) ABR ik 73 6,500 85%
1287H(H) AN it 73 7,000 83%
12H8H(AH) ABR ik 73 6,500 85%
12H9H(X) AN it 73 6,000 86%
12H10H(K) ABR ik 73 6,000 86%
12H11H(K) AN it 73 6,000 86%
12H12H(&) ABR ik 73 6,500 85%
12H14H(H) AN it 73 7,000 83%
12H15H(H) ABR ik 73 6,500 85%
12H16H(XN) AN it 73 6,000 86%
12H17H(0K) ABR ik 73 6,000 86%
12H18H(K) AN it 73 6,000 86%
12H19H (%) AN it 73 6,500 85%
12520H(%) AN it 73 6,500 85%
12821H(H) AN it 73 7,000 83%
12522H(A) AN it 73 6,500 85%
12H23H(N) AN ot 73 6,000 86%
12H24H(K) AN it 73 6,000 86%
12H25H(K) AN it 73 6,000 86%
185H(H) AN it 73 6,500 84%
1H6H(N) AN it 73 6,000 85%
1H7H(CK) AN it 73 6,000 85%
1H8H(K) AN it 73 6,000 85%
1H9H (&) AN it 73 6,500 84%
1H10H(XL) AN e 73 6,500 84%
1811H(H) ABR it 73 6,500 84%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x
1H12H(H) ABR it 73 7,000 83%
1H13HX) AN ot 73 6,000 85%
1H14H(K) ABR it 73 6,000 85%
1H15H(CK) AN ot 73 6,000 85%
1H16H(GER) ABR it 73 6,500 84%
1H17H(XL) AN ot 73 6,500 84%
1H18H(H) ABR it 73 6,500 84%
1819H(H) AN ot 73 6,500 84%
1H20H(X) ABR it 73 6,000 85%
1H21H(K) AN ot 73 6,000 85%
1H22H(K) ABR it 73 6,000 85%
1H23H(ER) AN ot 73 6,500 84%
1H24H(XL) ABR it 73 6,500 84%
1825H(H) AN it 73 6,500 84%
1H26H(H) AN ok 73 6,500 84%
1H278H0X) AN it 73 6,000 85%
1H28H(K) AN ok 73 6,000 85%
1H29H(K) AN it 73 6,000 85%
1H30H(GE) AN ok 73 6,500 84%
1HA31H(L) AN it 73 6,500 84%
10H28H(AN) o) AP 74 7,000 83%
10H29H(K) ik KB 74 7,000 83%
10H30H(K) Eolb) AP 74 7,000 83%
11H5H(K) ik AN 74 6,000 85%
1187HGER) Eolb) AP 74 6,500 84%
11H8H(L) ik KB 74 7,000 83%
11510H(H) o) ABR 74 6,500 84%
11H11H(CN) Eoibi) AP 74 6,000 85%
11H12H(0K) b, ABR 74 6,000 85%
11H13H(K) Eoibi) AP 74 7,000 83%
11H148(&) b, ABR 74 7,000 83%
11H158(%) Eoibi) AP 74 7,000 83%
11816H(H) b, ABR 74 7,000 83%
11H17H(H) Eoibi) AP 74 6,500 84%
11H18H(N) b, ABR 74 6,000 85%
11H19H(K) Eoibi) AP 74 6,000 85%
11H20H(K) o) ABR 74 6,000 85%
11H258(X) Eoibi) AP 74 6,000 85%
11H26H(K) b, ABR 74 6,000 85%
11H27H(K) poibi) AP 74 6,000 85%
11H29H(X) o) ABR 74 6,500 84%
118308 (H) poibi) AP 74 6,500 84%
12H1H(H) o) ABR 74 6,500 85%
12H2H(X) poibi) AP 74 6,000 86%
12H3H(K) b ABR 74 6,000 86%
12H4H(K) poibi) AP 74 6,000 86%
12H5H(E) b ABR 74 6,500 85%
12856H(XL) poibi) AP 74 6,500 85%
1287H(H) o) ABR 74 6,500 85%
1258H(H) Eoibi) KB 74 6,500 85%
12H9H(X) o) ABR 74 6,000 86%
12H10H(K) Eoibi) KB 74 6,000 86%
12H11H(K) it KB 74 6,000 86%
12H12H(%) ok AP 74 6,500 85%
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12H13H(%) b AP 74 6,500 85%
12H16H(N) it AN 74 6,000 86%
12H17H(K) b AP 74 6,000 86%
12H18H(K) it AN 74 6,000 86%
12H198H (&) b AP 74 6,500 85%
12H20H(X) ik N 74 6,500 85%
12H21H(H) b AP 74 6,500 85%
12H22H(H) it AN 74 6,500 85%
12H23H(N) b AP 74 6,000 86%
12H24H(K) it AN 74 6,000 86%
12H25H(K) b AP 74 6,000 86%
185H(H) it N 74 6,500 84%
1H6H(X) b AP 74 6,000 85%
1H7H(K) ik AN 74 6,000 85%
1H8H(K) Eolb) AP 74 6,000 85%
1H9H (&) ik AN 74 6,500 84%
1H10H(L) o) AP 74 6,500 84%
1811H(H) Eoibi) KB 74 6,500 84%
1H12H(H) Eolb) AP 74 6,500 84%
1H13HX) ik AN 74 6,000 85%
1H14H(K) o) AP 74 6,000 85%
1H15H(K) ik KB 74 6,000 85%
1H16H(E) Eolb) AP 74 6,500 84%
1H17H(XL) ik AN 74 6,500 84%
1H18H(H) Eolb) AP 74 6,500 84%
1819H(H) ik KB 74 6,500 84%
1H20H(X) o) ABR 74 6,000 85%
1H21H(K) Eoibi) AP 74 6,000 85%
1H22H(K) b, ABR 74 6,000 85%
1H23HGE) Eoibi) AP 74 6,500 84%
1H24H(L) b, ABR 74 6,500 84%
1825H(H) Eoibi) AP 74 6,500 84%
1H26H(H) b, ABR 74 6,500 84%
1H27H(X) Eoibi) AP 74 6,000 85%
1H28H(K) b, ABR 74 6,000 85%
1H29H(K) Eoibi) AP 74 6,000 85%
1H30H(GER) o) ABR 74 6,500 84%
1H31H(L) Eoibi) AP 74 6,500 84%
10H26H(H) ABR ik 89 7,000 83%
10827H(H) AN it 89 7,000 83%
10H28H(N) AN it 89 7,000 83%
11H4H(X) AN it 89 7,000 83%
11H5H(K) AN it 89 6,000 85%
11H6H(K) AN it 89 6,000 85%
1187H(E) AN ot 89 7,000 83%
1188H(L) AN it 89 7,000 83%
11H12H(0K) AN it 89 6,000 85%
11H13H(K) AN it 89 6,000 85%
11H15H(X) AN it 89 7,000 83%
11H19H(K) AN it 89 6,000 85%
11H20H(K) AN it 89 6,000 85%
11H258(XN) AN it 89 6,000 85%
11H26H(K) AN e 89 6,000 85%
11H28H (&) ABR it 89 6,500 84%
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11529H(%) ABR it 89 6,000 85%
1281H(H) AN ot 89 6,000 86%
12H2H(X) ABR it 89 6,000 86%
12H3H(K) AN ot 89 6,000 86%
12H4H(K) ABR it 89 6,000 86%
12H6H(L) AN ot 89 6,000 86%
12H8H(H) ABR it 89 6,000 86%
12H9H(X) AN ot 89 6,000 86%
12H11H(K) ABR it 89 6,000 86%
12H12H(%&) AN ot 89 6,500 85%
12H13H(%) ABR it 89 6,000 86%
12H14H(H) AN ot 89 7,000 83%
12H15H(H) ABR it 89 6,000 86%
12H16H(N) AN it 89 6,000 86%
12H17H(0K) AN ok 89 6,000 86%
12H18H(K) AN it 89 6,000 86%
12H19H (&) AN ok 89 6,500 85%
12H20H(X) AN it 89 6,000 86%
12821H(H) AN ok 89 7,000 83%
12H22H(A) AN it 89 6,000 86%
12H23H(N) AN ok 89 6,000 86%
12H24H(K) AN it 89 6,000 86%
12H25H(K) AN ok 89 6,000 86%
185H(H) AN it 89 6,000 85%
1H6H(X) AN ok 89 6,000 85%
1H7H(K) AN it 89 6,000 85%
1H8H(K) ABR ik 89 6,000 85%
1H9H (&) AN it 89 6,500 84%
1H10H(L) ABR ik 89 6,000 85%
1811H(H) AN it 89 6,500 84%
1H12H(H) ABR ik 89 7,000 83%
1H13HX) AN it 89 6,000 85%
1H14H(K) ABR ik 89 6,000 85%
1H15H(K) AN it 89 6,000 85%
1H16H(E) ABR ik 89 6,500 84%
1H17H(XL) AN it 89 6,000 85%
1H18H(H) ABR ik 89 7,000 83%
1H19H(H) AN it 89 6,000 85%
1H20H(X) ABR ik 89 6,000 85%
1H21H(K) AN it 89 6,000 85%
1H22H(K) AN it 89 6,000 85%
1H23H(GER) AN it 89 6,500 84%
1H24H(L) AN it 89 7,000 83%
1H25H(H) AN it 89 6,500 84%
1H26H(H) AN ot 89 6,000 85%
1H27H(X) AN it 89 6,000 85%
1H28H(K) AN it 89 6,000 85%
1H29H(K) AN it 89 6,000 85%
1H30H(ER) AN it 89 6,500 84%
1H31H(L) AN it 89 6,000 85%
10H28H(N) o) ABR 90 7,000 83%
10H30H(K) Eoibi) KB 90 7,000 83%
1151H(XL) it KB 90 7,000 83%
11H4H(X) ok AP 90 6,000 85%
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11H5H0K) b AP 90 6,000 85%
11H6H(K) it AN 90 6,000 85%
1187HGER) b AP 90 6,500 84%
11H8H(L) it AN 90 6,000 85%
1159H((H) b AP 90 7,000 83%
11810H(A) ik N 90 6,000 85%
11H11HCN) b AP 90 6,000 85%
11H12H(K) it AN 90 6,000 85%
11H13H(K) b AP 90 6,000 85%
11H14H(%&) it AN 90 6,500 84%
11515H(%) b AP 90 6,000 85%
11816H(H) it N 90 7,000 83%
11817H(H) b AP 90 6,000 85%
11H18H(CN) ik AN 90 6,000 85%
11H19H0K) Eolb) AP 90 6,000 85%
11H20H(K) ik AN 90 6,000 85%
11H21H(&) o) AP 90 7,000 83%
11H22H(%) Eoibi) KB 90 6,000 85%
11823H(H) Eolb) AP 90 7,000 83%
11H258(N) ik AN 90 6,000 85%
11H26H(K) o) AP 90 6,000 85%
11H27H(K) ik KB 90 6,000 85%
11H28H (&) Eolb) AP 90 6,500 84%
11H29H(%) ik AN 90 6,000 85%
11830H(H) Eolb) AP 90 6,500 84%
1281H(H) ik KB 90 6,000 86%
12H2H(X) o) ABR 90 6,000 86%
12H3H(K) Eoibi) AP 90 6,000 86%
12H4H(K) b, ABR 90 6,000 86%
12H5HGE) Eoibi) AP 90 6,500 85%
12H6H(L) b, ABR 90 6,000 86%
12858H(H) Eoibi) AP 90 6,000 86%
12H9H(X) b, ABR 90 6,000 86%
12H10H(K) Eoibi) AP 90 6,000 86%
12H11H(K) b, ABR 90 6,000 86%
12H12H(%&) Eoibi) AP 90 6,500 85%
12H13H(X) o) ABR 90 6,000 86%
12H15H(A) Eoibi) AP 90 6,000 86%
12H16H(N) b, ABR 90 6,000 86%
12H17H(K) poibi) AP 90 6,000 86%
12H18H(K) o) ABR 90 6,000 86%
125198 (&) poibi) AP 90 6,500 85%
12H20H(%) o) ABR 90 6,000 86%
12521H(H) poibi) AP 90 6,500 85%
12H22H(H) b ABR 90 6,000 86%
12H238(XN) poibi) AP 90 6,000 86%
12H24H(0K) b ABR 90 6,000 86%
12H25H(K) poibi) AP 90 6,000 86%
1H5H(A) o) ABR 90 6,000 85%

1H6H(X) Eoibi) KB 90 6,000 85%

1878H0K) o) ABR 90 6,000 85%

1H8H(XK) Eoibi) KB 90 6,000 85%

1H9H (%) it KB 90 6,500 84%

1H10H(XL) ok AP 90 6,000 85%
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1H11H(H) b AP 90 6,500 84%
1812H(H) it AN 90 6,500 84%
1H13H(CX) b AP 90 6,000 85%
1H14H(K) it AN 90 6,000 85%
1H15H(K) b AP 90 6,000 85%
1H16H(E) ik N 90 6,500 84%
1H17H(XL) b AP 90 7,000 83%
1H20HX) it AN 90 6,000 85%
1H21H(K) b AP 90 6,000 85%
1H22H(K) it AN 90 6,000 85%
1H23H(GER) b AP 90 7,000 83%
1H27H0X) it N 90 6,000 85%
1H28H(K) b AP 90 6,000 85%
1H29H(K) ik AN 90 6,000 85%
1H30H(GE) Eolb) AP 90 6,500 84%
1HA31H(L) ik AN 90 6,000 85%
10H26H(H) AN = 79 10,000 76%
10H27H(H) AN B5S 79 10,000 76%
10H28H(N) AN = 79 10,000 76%
10H29H(K) AN B5S 79 10,000 76%
10H30H(K) AN = 79 10,000 76%
10H31H(%&) AN B5S 79 10,000 76%
1151H(XL) AN = 79 10,000 76%
1182H(H) AN B5S 79 10,000 76%
11H3H(H) AN = 79 10,000 76%
11H480X) AN B5S 79 9,000 78%
11H5H(K) ABR B 79 9,000 78%
11H6H(K) AN B5S 79 9,000 78%
1187H(GER) ABR B 79 9,000 78%
11H8H(L) AN B5S 79 9,000 78%
11H9H(H) ABR B 79 9,000 78%
11510H(A) AN B5S 79 9,000 78%
11H11HCN) ABR B 79 9,000 78%
11H12H(K) AN B5S 79 9,000 78%
11H13H(K) ABR B 79 9,000 78%
11H14H (&) AN B5S 79 9,000 78%
11H15H(X) ABR B 79 9,000 78%
11516H(H) AN B5S 79 9,000 78%
11817H(H) ABR B 79 9,000 78%
11H18H(XN) AN =) 79 9,000 78%
11H19H0K) ABR BS 79 9,000 78%
11H20H(K) AN =) 79 9,000 78%
11H21H(&) ABR =) 79 10,000 76%
11H22H(%) AN =) 79 10,000 76%
11823H(H) ABR =) 79 10,000 76%
11H24H(H) AN =) 79 10,000 76%
11H25H(CN) ABR B5S 79 9,000 78%
11H26H(K) AN =) 79 9,000 78%
11H27H(K) ABR BES 79 9,000 78%
11H28H (&) AN =) 79 9,000 78%
11H29H(X) ABR B 79 9,000 78%
118308 (H) AN =) 79 9,000 78%
12H1H(H) AN B5S 79 9,000 79%
12H2H(X) ABR =) 79 8,500 80%
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12H3H(K) ABR = 79 8,500 80%
12H4H(K) AN B5S 79 8,500 80%
12H5HGER) ABR B 79 8,500 80%
12H6H(L) ABR B5S 79 8,500 80%
1287H(H) ABR = 79 8,500 80%
1288H(H) AN B5S 79 8,500 80%
12H9H(X) ABR = 79 8,500 80%
12H10H(K) AN B5S 79 8,500 80%
12H11H(K) ABR B 79 8,500 80%
12H12H(%&) ABR B5S 79 8,500 80%
12H13H(X) ABR B 79 8,500 80%
12H14H(H) AN B5S 79 8,500 80%
12H15H(H) ABR = 79 8,500 80%
12H16H(N) AN (=) 79 8,500 80%
12H17H(0K) AN = 79 8,500 80%
12H18H(K) AN =) 79 8,500 80%
12H19H (&) AN = 79 8,500 80%
12H20H(X) AN (=) 79 8,500 80%
12H21H(H) AN = 79 8,500 80%
12H22H(H) AN (=) 79 8,500 80%
12H23H(N) AN = 79 8,500 80%
12H24H(K) AN (=) 79 8,500 80%
12H25H(K) AN = 79 8,500 80%
185H(H) AN B5S 79 9,500 77%
1H6H(X) AN = 79 8,500 79%
1H7H(K) AN B5S 79 8,500 79%
1H8H(K) ABR B 79 8,500 79%
1H9H (&) AN (=) 79 9,500 77%
1H10H(L) ABR B 79 9,500 77%
1H11H(H) AN (=) 79 9,500 77%
1H12H(H) ABR B 79 9,500 77%
1H13HX) AN (=) 79 9,500 77%
1H14H(K) ABR B 79 8,500 79%
1H15H(K) AN (=) 79 8,500 79%
1H16H(E) ABR B 79 8,500 79%
1H17H(XL) AN (=) 79 8,500 79%
1H18H(H) ABR B 79 8,500 79%
1H19H(H) AN (=) 79 8,500 79%
1H20H(X) ABR B 79 8,500 79%
1H21H(K) AN =) 79 8,500 79%
1H22H(K) ABR BS 79 8,500 79%
1H23H(E) AN =) 79 8,500 79%
1H24H(L) ABR =) 79 8,500 79%
1H25H(H) AN =) 79 8,500 79%
1H26H(H) ABR B5S 79 8,500 79%
1H27H(KX) AN =) 79 8,500 79%
1H28H(K) ABR B5S 79 8,500 79%
1H29H(K) AN =) 79 8,500 79%
1H30H(ER) ABR B 79 8,500 79%
1H31H(L) AN =) 79 8,500 79%
10H26H(H) =) ABR 80 10,000 76%
10H27H(H) =] KB 80 10,000 76%
10H28H(N) BE KB 80 10,000 76%
10H29H(K) =] AP 80 10,000 76%
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10H30H(K) BS AP 80 10,000 76%
10H31H(%&) RS AN 80 10,000 76%
1151H(L) =] AP 80 10,000 76%
1182H(H) RS AN 80 10,000 76%
1183H(H) =] AP 80 10,000 76%
11H4HX) RS N 80 9,000 78%
11H5H0K) BS AP 80 9,000 78%
11H6H(K) RS AN 80 9,000 78%
11H7HGER) =] AP 80 9,000 78%
11H8H(L) RS AN 80 9,000 78%
1159H((H) =] AP 80 9,000 78%
11510H(A) RS N 80 9,000 78%
118118CN) BS AP 80 9,000 78%
11H12H(K) RS AN 80 9,000 78%
11H13H(K) B AP 80 9,000 78%
11H14H (&) RS AN 80 9,000 78%
11H15H(%) =] AP 80 9,000 78%
11H16H(H) RS KB 80 9,000 78%
11H17H(H) =] AP 80 9,000 78%
11H18H(CN) RS AN 80 9,000 78%
11H19H0K) B AP 80 9,000 78%
11H208H(K) RS KB 80 9,000 78%
11H21H(£) =] AP 80 10,000 76%
11H22H(%) RS AN 80 10,000 76%
11823H(H) =] AP 80 10,000 76%
11824H(H) RS KB 80 10,000 76%
11H25H(CN) B ABR 80 9,000 78%
11H26H(K) RS AP 80 9,000 78%
11H27H(K) B ABR 80 9,000 78%
11H28H(E) RS AP 80 9,000 78%
11H29H(X) =] ABR 80 9,000 78%
115308 (H) RS AP 80 9,000 78%
12H1H(H) B ABR 80 9,000 79%
12H2H(X) RS AP 80 8,500 80%
12H3H(K) B ABR 80 8,500 80%
12H4H(K) RS AP 80 8,500 80%
12H5H(ER) =] ABR 80 8,500 80%
12H6H(L) RS AP 80 8,500 80%
12H7H(H) =] ABR 80 8,500 80%
1258H(H) =] AP 80 8,500 80%
12H9H(X) =) N 80 8,500 80%
12H10H(K) =] AP 80 8,500 80%
12H11H(K) =) N 80 8,500 80%
12H12H(%&) =] AP 80 8,500 80%
12H13H(%) =) ABR 80 8,500 80%
12H14H(H) =] AP 80 8,500 80%
12H15H(H) =) N 80 8,500 80%
12H16H(XN) =] AP 80 8,500 80%
12H17H(0K) =) N 80 8,500 80%
12H18H(K) =] KB 80 8,500 80%
12H19H (%) =) ABR 80 8,500 80%
12H208H(XL) =] KB 80 8,500 80%
12821H(H) BE KB 80 8,500 80%
12H22H(H) =] AP 80 8,500 80%
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12H238(XN) BS AP 80 8,500 80%
12H24H(K) RS AN 80 8,500 80%
12H25H(K) BS AP 80 8,500 80%
185H(H) RS AN 80 9,500 77%
1H6H(X) BS AP 80 8,500 79%
1H7HCK) RS N 80 8,500 79%
1H8H(XK) BS AP 80 8,500 79%
1H9H(E) RS AN 80 9,500 77%
1H10H(L) =] AP 80 9,500 77%
1811H(H) RS AN 80 9,500 77%
1H12H(H) =] AP 80 9,500 77%
1H13HX) RS N 80 9,500 77%
1H14H(K) BS AP 80 8,500 79%
1H15H(CK) RS AN 80 8,500 79%
1H16H(E) =] AP 80 8,500 79%
1H17H(XL) RS AN 80 8,500 79%
1H18H(H) =] AP 80 8,500 79%
1819H(H) RS KB 80 8,500 79%
1H20H(X) B AP 80 8,500 79%
1H21H(K) RS AN 80 8,500 79%
1H22H(K) B AP 80 8,500 79%
1H23H(E) RS KB 80 8,500 79%
1H24H(L) =] AP 80 8,500 79%
1825H(H) RS AN 80 8,500 79%
1H26H(H) =] AP 80 8,500 79%
1H278H0X) RS KB 80 8,500 79%
1H28H(K) B ABR 80 8,500 79%
1H29H(K) RS AP 80 8,500 79%
1H30H(GER) =] ABR 80 8,500 79%
1H31H(L) RS AP 80 8,500 79%
10H26H(H) ABR B 81 10,000 76%
10H27H(H) AN B5S 81 10,000 76%
10H28H(N) ABR B 81 10,000 76%
10H29H(K) AN B5S 81 10,000 76%
10H30H(K) ABR B 81 10,000 76%
10H31H(E) AN B5S 81 10,000 76%
1151H(XL) ABR B 81 10,000 76%
1182H((H) AN B5S 81 10,000 76%
1183H(H) ABR B 81 10,000 76%
11H4H(X) AN == 81 9,000 78%
11H5H(K) ABR BS 81 9,000 78%
11H6H(K) AN == 81 9,000 78%
1187H(E) ABR BS 81 9,000 78%
1188H(L) AN == 81 9,000 78%
11H9H(H) ABR B5S 81 9,000 78%
11510H((H) AN == 81 9,000 78%
11H11HN) ABR B5S 81 9,000 78%
11H12H(K) AN == 81 9,000 78%
11H13H(K) ABR BES 81 9,000 78%
11H14H(%&) AN B5S 81 9,000 78%
11H15H(X) ABR BES 81 9,000 78%
11516H(H) AN B5S 81 9,000 78%
11817H(H) AN B5S 81 9,000 78%
11H18H(CN) ABR == 81 9,000 78%
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11H19H(K) ABR = 81 9,000 78%
11H20H(XK) AN B5S 81 9,000 78%
11H21H(%) ABR B 81 10,000 76%
11H22H(X) AN B5S 81 10,000 76%
11823H(H) ABR = 81 10,000 76%
11824H(H) AN B5S 81 10,000 76%
11H258(XN) ABR = 81 9,000 78%
11H26H(K) AN B5S 81 9,000 78%
11H27H(K) ABR B 81 9,000 78%
11H28H(%&) AN B5S 81 9,000 78%
11529H(%) ABR B 81 9,000 78%
11H30H(H) AN B5S 81 9,000 78%
1251H(H) ABR = 81 9,000 79%
12H2HX) AN B5S 81 8,500 80%
12H3H(K) AN = 81 8,500 80%
12H4H(K) AN B5S 81 8,500 80%
12H5H(GER) AN = 81 8,500 80%
12H6H(L) AN B5S 81 8,500 80%
12H7H(H) AN = 81 8,500 80%
1258H(H) AN B5S 81 8,500 80%
12H9H(X) AN = 81 8,500 80%
12H10H(K) AN B5S 81 8,500 80%
12H11H(K) AN = 81 8,500 80%
12H12H (&) AN B5S 81 8,500 80%
12H13H(X) AN = 81 8,500 80%
12H14H(H) AN B5S 81 8,500 80%
12H15H(H) ABR B 81 8,500 80%
12H16H(XN) AN B5S 81 8,500 80%
12H17H(0K) ABR B 81 8,500 80%
12H18H(K) AN B5S 81 8,500 80%
12H19H (&) ABR B 81 8,500 80%
12H208H(%L) AN B5S 81 8,500 80%
12821H(H) ABR B 81 8,500 80%
12H22H(AH) AN B5S 81 8,500 80%
12H23H(N) ABR B 81 8,500 80%
12H24H(K) AN B5S 81 8,500 80%
12H25H(K) ABR B 81 8,500 80%
185H(H) AN B5S 81 9,500 77%
1H6H(N) ABR B 81 8,500 79%
1H7H(K) AN == 81 8,500 79%
1H8H(K) ABR BS 81 8,500 79%
1H9H (&) AN == 81 9,500 77%
1H10H(L) ABR BS 81 9,500 77%
1811H(H) AN == 81 9,500 77%
1H12H(H) ABR B5S 81 9,500 77%
1H13HX) AN == 81 9,500 77%
1H14H(K) ABR B5S 81 8,500 79%
1H15H(K) AN == 81 8,500 79%
1H16H(E) ABR BES 81 8,500 79%
1H17H(XL) AN B5S 81 8,500 79%
1H18H(H) ABR BES 81 8,500 79%
1H19H(H) AN B5S 81 8,500 79%
1H20H(X) AN B5S 81 8,500 79%
1H21H(K) ABR == 81 8,500 79%
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1H22H(K) ABR = 81 8,500 79%
1H23H(R) AN B5S 81 8,500 79%
1H24H(XL) ABR B 81 8,500 79%
1825H(H) AN B5S 81 8,500 79%
1H26H(H) ABR = 81 8,500 79%
1H27H0X) AN B5S 81 8,500 79%
1H28H(K) ABR = 81 8,500 79%
1H29H(K) AN B5S 81 8,500 79%
1H30HGE) ABR B 81 8,500 79%
1HA31H(L) AN B5S 81 8,500 79%
10H26H(H) =] AP 82 10,000 76%
10827H(A) RS N 82 10,000 76%
10H28H(XN) BS AP 82 10,000 76%
10H29H(K) RS AN 82 10,000 76%
10H30H(K) B AP 82 10,000 76%
10H31H(&) RS AN 82 10,000 76%
1151H(XL) =] AP 82 10,000 76%
1182H(H) RS KB 82 10,000 76%
1183H(H) =] AP 82 10,000 76%
11H48X) RS AN 82 9,000 78%
1185H(K) B AP 82 9,000 78%
11H6H(K) RS KB 82 9,000 78%
1187HGER) =] AP 82 9,000 78%
11H8H(L) RS AN 82 9,000 78%
11H9H(H) =] AP 82 9,000 78%
11810H(H) RS KB 82 9,000 78%
11H11HCN) B ABR 82 9,000 78%
11H12H(K) RS AP 82 9,000 78%
11H13H(K) B ABR 82 9,000 78%
11H14H (&) RS AP 82 9,000 78%
11H15H(X) =] ABR 82 9,000 78%
11516H((H) RS AP 82 9,000 78%
11817H(H) B ABR 82 9,000 78%
11H18H(CXN) RS AP 82 9,000 78%
11H19H0K) B ABR 82 9,000 78%
11H20H(K) RS AP 82 9,000 78%
11H21H(&) =] ABR 82 10,000 76%
11H22H (%) RS AP 82 10,000 76%
11823H(H) =] ABR 82 10,000 76%
11H24H(H) =] AP 82 10,000 76%
11H25H(CN) =) N 82 9,000 78%
11H26H(K) =] AP 82 9,000 78%
11H27H(K) =) N 82 9,000 78%
11H28H (&) =] AP 82 9,000 78%
11H29H(X) =) ABR 82 9,000 78%
118308 (H) =] AP 82 9,000 78%
12H1H(H) =) N 82 9,000 79%
12H2H(X) =] AP 82 8,500 80%
12H3H(K) =) N 82 8,500 80%
12H4H(K) =] KB 82 8,500 80%
12H5H(E) =) ABR 82 8,500 80%
12H6H(L) =] KB 82 8,500 80%
12A7H(H) BE KB 82 8,500 80%
12H8H(H) =] AP 82 8,500 80%
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12H9H(X) BS AP 82 8,500 80%
12H10H(K) RS AN 82 8,500 80%
12H11H(K) BS AP 82 8,500 80%
12H12H(%&) RS AN 82 8,500 80%
12H13H(%) =] AP 82 8,500 80%
12H14H(H) RS N 82 8,500 80%
12H15H(H) =] AP 82 8,500 80%
12H16H(N) RS AN 82 8,500 80%
12H17H(K) BS AP 82 8,500 80%
12H18H(K) RS AN 82 8,500 80%
12H19H (&) =] AP 82 8,500 80%
12H20H(X) RS N 82 8,500 80%
12H21H(H) =] AP 82 8,500 80%
12H22H(H) RS AN 82 8,500 80%
12H23H(N) B AP 82 8,500 80%
12H24H(K) RS AN 82 8,500 80%
12H25H(K) B AP 82 8,500 80%
1A5H(RA) == KB 82 9,500 77%
1H6H(X) B AP 82 8,500 79%
1H7H(K) RS KB 82 8,500 79%
1H8H(K) B ABR 82 8,500 79%
1H9H (&) RS AP 82 9,500 77%
1H10H(L) =] ABR 82 9,500 77%
1811H(H) RS AP 82 9,500 77%
1H12H(H) B ABR 82 9,500 77%
1H13HX) RS AP 82 9,500 77%
1H14H(K) B ABR 82 8,500 79%
1H15H(K) RS AP 82 8,500 79%
1H16H(E) =] ABR 82 8,500 79%
1H17H(XL) RS AP 82 8,500 79%
1H18H(H) =] ABR 82 8,500 79%
1819H(H) RS AP 82 8,500 79%
1H20H(X) B ABR 82 8,500 79%
1H21H(K) & AP 82 8,500 79%
1H22H(K) =) N 82 8,500 79%
1H23H(GER) & AP 82 8,500 79%
1H24H(L) =) ABR 82 8,500 79%
1H25H(H) & AP 82 8,500 79%
1H26H(H) =) N 82 8,500 79%
1H27H(X) & AP 82 8,500 79%
1H28H(K) =) N 82 8,500 79%
1H29H(K) & AP 82 8,500 79%
1H30H(ER) =) ABR 82 8,500 79%
1H31H(L) & KB 82 8,500 79%
10H26H(H) =lid it 83 11,700 80%
10H27H(H) &l it 83 11,700 80%
10H28H(N) =lid it 83 10,200 82%
10H29H(K) &l it 83 10,200 82%
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10H30H(K) &l it 83 11,700 80%
10H31H(%&) &l ot 83 12,700 78%
1151H(L) &l it 83 14,700 74%
1182H(H) &l ot 83 11,700 80%
1183H(H) &l it 83 11,700 80%
11H4HX) &l ot 83 11,700 80%
11H5H0K) &l it 83 11,700 80%
11H6H(K) &l ot 83 10,200 82%
11H7HGER) &l it 83 12,700 78%
11H8H(L) &l ot 83 12,700 78%
1159H((H) &l it 83 11,700 80%
11510H(A) &l ot 83 10,700 81%
11H11HCN) &l it 83 11,700 80%
11H12H(K) &l it 83 10,200 82%
11H13H(K) &l ok 83 10,700 81%
11H14H (&) &l it 83 10,700 81%
11H15H(%) &l ok 83 13,700 76%
11H16H(H) &l it 83 11,700 80%
11H17H(H) &l ok 83 10,200 82%
11818HCX) G=lid Goibis) 83 10,700 81%
11H19H0K) &l ok 83 10,200 82%
11H20H(K) fe M) ik 83 10,700 81%
11H21H(£) &l ok 83 11,700 80%
11H22H(%) &l it 83 13,700 76%
11823H(H) &l ok 83 12,700 78%
11824H(H) &l it 83 11,700 80%
11H25H(CN) &l ik 83 11,700 80%
11H26H(K) &l it 83 10,200 82%
11H27H(K) &l ik 83 11,700 80%
11H28H(E) &l it 83 10,200 82%
11H29H(X) &l ik 83 11,700 80%
115308 (H) &l it 83 11,700 80%
12H1H(H) &l ik 83 11,700 81%
12H2H(X) &l it 83 10,200 83%
12H3H(K) &l ik 83 9,700 84%
12H4H(K) i1 it 83 9,700 84%
12H5H(ER) &l ik 83 11,700 81%
12H6H(L) &l it 83 11,700 81%
12H7H(H) &l ik 83 10,200 83%
1258H(H) &l it 83 11,700 81%
12H9H(X) =lid it 83 9,700 84%
12H10H(K) &l it 83 9,700 84%
12H11H(K) =lid it 83 9,700 84%
12H12H(%&) &l it 83 10,200 83%
12H13H(%) =lid ot 83 12,700 79%
12H14H(H) &l it 83 12,700 79%
12H15H(H) =lid it 83 10,700 82%
12H16H(XN) &l it 83 9,700 84%
12H17H(0K) =lid it 83 9,700 84%
12H18H(K) &l it 83 9,700 84%
12H19H (%) =lid it 83 10,200 83%
12H208H(XL) &l it 83 10,700 82%
12821H(H) &l e 83 10,200 83%
12H22H(H) &l it 83 10,200 83%
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12H23H(N) &l it 83 9,700 84%
12H24H(K) &l ot 83 9,700 84%
12H25H(K) &l it 83 10,200 83%
185H(H) &l ot 83 10,200 82%
1H6B(X) f& ] it 83 9,700 83%
1H7HCK) &l ot 83 9,700 83%
1H8H(K) f& ] it 83 9,700 83%
1H9H(E) &l ot 83 9,700 83%
1H10H(L) &l it 83 10,700 81%
1811H(H) &l ot 83 9,700 83%
1H12H(H) &l it 83 9,700 83%
1H13HX) &l ot 83 9,700 83%
1H14H(K) &l it 83 9,700 83%
1H15H(CK) &l it 83 9,700 83%
1H16H(E) &l ok 83 11,700 80%
1H17H(XL) &l it 83 10,700 81%
1H18H(H) &l ok 83 10,200 82%
1819H(H) &l it 83 9,700 83%
1H20H(KX) &l ok 83 9,700 83%
1H21H(K) &l it 83 9,700 83%
1H22H(K) &l ok 83 9,700 83%
1H23H(E) &l it 83 9,700 83%
1H24H(L) &l ok 83 9,700 83%
1825H(H) &l it 83 9,700 83%
1H26H(H) &l ok 83 9,700 83%
1H278H0X) &l it 83 9,700 83%
1H28H(K) &l ik 83 9,700 83%
1H29H(K) &l it 83 9,700 83%
1H30H(GER) &l ik 83 9,700 83%
1H31H(L) &l it 83 10,700 81%
10H26H(H) b, ] 84 13,700 76%
10H27H(H) Eoibi) ] 84 12,700 78%
10H28H(N) b, ] 84 12,700 78%
10H29H(K) Eoibi) &[] 84 13,700 76%
10H30H(K) b, ] 84 11,700 80%
10H31H(E) Eoibi) ] 84 12,700 78%
1182H(H) o) ] 84 12,700 78%
1183H(H) Eoibi) &[] 84 11,700 80%
11H4H(KN) b, ] 84 10,200 82%
11H5H0K) poibi) @] 84 11,700 80%
11H6H(K) o) ] 84 12,700 78%
1187HGE) poibi) @] 84 11,700 80%
11H8H(L) o) ] 84 11,700 80%
1189H((H) poibi) @] 84 11,700 80%
118510H(H) b e ] 84 11,700 80%
11H11H(CN) poibi) @] 84 10,200 82%
11H12H(0K) b e ] 84 11,700 80%
11H13H(K) poibi) @] 84 11,700 80%
118148(%&) o) e ] 84 13,700 76%
11H158(%) Eoibi) &[] 84 11,700 80%
11816H(H) o) e ] 84 11,700 80%
11H17H(H) Eoibi) &[] 84 10,200 82%
11H18H(N) it &l 84 11,700 80%
11H19H(K) ok @] 84 10,200 82%
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11H20H(K) b @] 84 11,700 80%
11H21H(&) oI &l 84 12,700 78%
11H22H(%) b f& 84 14,700 74%
11823H(H) it &l 84 12,700 78%
11H24H(H) b @] 84 12,700 78%
11H25H(CN) ik &l 84 14,700 74%
11H26H(K) b @] 84 10,200 82%
11H27H(K) it &l 84 11,700 80%
11H28H (&) b @] 84 11,700 80%
11H29H(%) oI &l 84 14,700 74%
11H30H(H) b @] 84 12,700 78%
1281H(H) it &l 84 11,700 81%
12H2H(KX) b @] 84 10,700 82%
12H3H(K) ik e ] 84 11,700 81%
12H4H(K) Eolb) @] 84 10,700 82%
12H5H(E) ik fa ] 84 11,700 81%
12H6H(XL) o) @] 84 11,700 81%
1287H(H) Eoibi) e ] 84 11,700 81%
12H8H(H) Eolb) @] 84 11,700 81%
12H9H(X) ik e ] 84 11,700 81%
12H10H(K) o) @] 84 11,700 81%
12H11H(K) ik e ] 84 10,700 82%
12H12H(£) Eolb) @] 84 11,700 81%
12H13H(%) ik e ] 84 11,700 81%
12H14H(H) Eolb) @] 84 11,700 81%
12H15H(H) ik e ] 84 11,700 81%
12H16H(N) o) ] 84 10,700 82%
12H17H(K) Eoibi) ] 84 10,700 82%
12H18H(XK) b, ] 84 10,700 82%
12H19H(%&) Eoibi) &[] 84 10,700 82%
12H20H(x) b, ] 84 11,700 81%
12H21H(H) Eoibi) ] 84 11,700 81%
12H22H(H) b, ] 84 10,700 82%
12H238(XN) Eoibi) &[] 84 10,700 82%
12H24H(K) b, ] 84 10,700 82%
12H25H(K) Eoibi) ] 84 11,700 81%
1H5H(A) o) ] 84 11,700 80%
1H6H(X) Eoibi) &[] 84 10,200 82%
18780K) b, ] 84 10,200 82%
1H8H(XK) poibi) @] 84 10,200 82%
1H9H (%) o) ] 84 11,700 80%
1H10H(TL) poibi) @] 84 11,700 80%
1H11H(H) o) ] 84 10,200 82%
1812H(H) poibi) @] 84 10,200 82%
1H13H(KN) b e ] 84 10,200 82%
1H14H(K) poibi) @] 84 10,200 82%
1H15H(K) b e ] 84 10,200 82%
1H16H(GE) poibi) @] 84 10,200 82%
1H17H(L) o) e ] 84 10,700 81%
1H18H(H) Eoibi) &[] 84 10,200 82%
1H19H(H) o) e ] 84 10,200 82%
1H20H(X) Eoibi) &[] 84 10,200 82%
1H21H(K) it &l 84 10,200 82%
1H22H(K) ok @] 84 10,200 82%
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1H23H(&E) e &l 84 10,700 81%
1H24H(XL) Ealbs) &l 84 10,700 81%
1H25H(H) e &l 84 9,700 83%
1H26H(H) Ealbs) &l 84 10,200 82%
1H27HCN) e &l 84 10,200 82%
1H28H(K) Ealbs) &l 84 10,700 81%
1H29H(K) e &l 84 10,200 82%
1A30H(E) Ealbs) &l 84 10,200 82%
1H31H(XL) e &l 84 10,700 81%
10H26H(H) & oAb 87 14,700 74%
10H27H(H) &l i 87 10,200 82%
10H28H(AN) &l oAb 87 10,200 82%
10H29H(K) &l R 87 10,700 81%
10A308(K) 18 e 87 12,700 78%
10A31H(&) &l i) 87 11,700 80%
11H1H(L) &l oAb 87 12,700 78%
11H2H((H) &l i) 87 13,700 76%
11346 (4) 18 e 87 13,700 76%
11H5H0K) &l i) 87 12,700 78%
11H6H(K) &l oAb 87 11,700 80%
11/87H(E) &l i) 87 12,700 78%
11H8H(L) &l oAb 87 13,700 76%
11H9H(H) &l i) 87 14,700 74%
11H10H(H) &l oAb 87 11,700 80%
11H11HCN) &l o) 87 10,200 82%
11H12H0K) &l oAb 87 10,200 82%
11H13H(K) &l i) 87 12,700 78%
11H14H(&) &l s 87 12,700 78%
11H15H(%) &l i) 87 12,700 78%
11H16H(H) &l oAb 87 12,700 78%
11H17H(H) &l i) 87 12,700 78%
113186 (X) 8 275 87 11,700 80%
11H19H(0K) &l i 87 10,200 82%
115208 (K) 8 275 87 11,700 80%
11821H(&) &l i) 87 11,700 80%
11H22H(%) &l s 87 11,700 80%
11H23H(H) &l i) 87 11,700 80%
115256 () 8 275 87 11,700 80%
11H26H(0K) &l i 87 10,200 82%
11H27H(XK) &l s 87 13,700 76%
11828H(&) &l Eiibs) 87 12,700 78%
11H29H(%) &l s 87 11,700 80%
11H30H(H) &l Eiibs) 87 12,700 78%
12H1H((AH) &l s 87 11,700 81%
12H2H(X) &l i) 87 11,700 81%
12H3H(K) &l s 87 11,700 81%
12H4H(K) &l Eiibs) 87 11,700 81%
12H5H(E) &l s 87 11,700 81%
12H6H(L) &l Eiibs) 87 12,700 79%
12A7H(H) &l s 87 11,700 81%
12H8H(AH) &l Eiibs) 87 12,700 79%
12H9H(X) &l R 87 10,200 83%
12H10H(K) & poib) 87 10,700 82%
12H11H(K) &l o) 87 11,700 81%
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128128(%) & e 87 11,700 81%
128138 (1) & it 87 10,700 82%
128148(8) & e 87 10,700 82%
128158(8) & it 87 10,700 82%
12816H(N) & e 87 10,200 83%
12817H(K) & it 87 10,200 83%
12818H(K) & e 87 10,700 82%
12H198(2) & it 87 10,700 82%
128208 (1) =l e 87 10,200 83%
128218(8) & it 87 12,700 79%
128228(8) & e 87 11,700 81%
128238(N) & it 87 10,200 83%
128248 (K) & e 87 10,200 83%
128258(K) & it 87 10,700 82%
185H((8) & e 87 10,700 81%
1H6H(N) & it 87 9,700 83%
18780K) & e 87 10,200 82%
1H8H(XK) &l 8 87 9,700 83%
1H9H(&) & e 87 10,700 81%
1810H(1) & it 87 9,700 83%
18118(H) & e 87 10,700 81%
18128((8) & it 87 10,700 81%
18138(N) & e 87 9,700 83%
181480K) & it 87 9,700 83%
1815H(K) & e 87 9,700 83%
1816H(®) & it 87 10,700 81%
18178(L) =l e 87 9,700 83%
1818H(H) & b 87 10,200 82%
1819H(8) =l e 87 10,700 81%
18208(N) & b 87 9,700 83%
1821H0K) =l e 87 9,700 83%
1822H(K) & b 87 10,200 82%
18238(2) =l e 87 10,700 81%
1824H(1) =]k b 87 9,700 83%
1825H(H) =l e 87 11,700 80%
1826H(8) & b 87 10,700 81%
182780XN) =l e 87 9,700 83%
1828H(K) & b 87 9,700 83%
1H29H(K) =l e 87 9,700 83%
1830H(2) =l b 87 9,700 83%
1831H(1) gl e 87 10,200 82%
10826H(8) 8 =] 88 13,700 76%
108278H(8) 8 =) 88 11,700 80%
10828H(N) 8 =] 88 10,200 82%
108298 (7K) i & 88 11,700 80%
108 30H(K) 8 =] 88 12,700 78%
11818(%) 8 & 88 11,700 80%
1182H(H) 8 =] 88 12,700 78%
1183H(8) i & 88 12,700 78%
1184H(XN) e =] 88 10,700 81%
118580(K) i & 88 10,200 82%
1186H(K) e =] 88 10,700 81%
11878((&) 8 &I 88 11,700 80%
1188H (1) 8 =) 88 11,700 80%
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11H9H(H) e &l 88 11,700 80%
11H10H(H) Ealbs) &l 88 12,700 78%
11811HCN) e &l 88 10,200 82%
11H12H(0K) Ealbs) &l 88 10,200 82%
11813H(K) e &l 88 11,700 80%
11H14H(&) Ealbs) &l 88 12,700 78%
11H15H(%) e &l 88 11,700 80%
117316E(H) e 8 88 11,700 80%
11H17H(H) e &l 88 10,200 82%
11H18H(AN) Ealbs) &l 88 10,200 82%
11819H0K) e &l 88 10,200 82%
113208 (K) e 8 88 11,700 80%
11821H(&) e &l 88 13,700 76%
11H22H(%) s &l 88 11,700 80%
11H23H(H) e &l 88 11,700 80%
11H24H(H) s &l 88 12,700 78%
11H25H0N) e &l 88 10,200 82%
11H26H0K) e &l 88 10,200 82%
11H27H(K) e &l 88 10,700 81%
11H28H(%E) oI &l 88 10,200 82%
11H29H(%) e &l 88 10,700 81%
11H30H(H) e &l 88 10,200 82%
12H1H(H) e &l 88 10,200 83%
12H2H(X) oI &l 88 9,700 84%
12H3H(K) e &l 88 9,700 84%
12H4H(K) e &l 88 10,700 82%
12H5H(E) e &l 88 11,700 81%
12H6H(L) e &l 88 10,200 83%
12H7H(H) e &l 88 11,700 81%
12H8H(AH) e &l 88 10,200 83%
12H9H(X) e &l 88 9,700 84%
12H10HCK) e &l 88 9,700 84%
12H11H(K) e &l 88 9,700 84%
12H12H(&) e &l 88 10,700 82%
12H13H(X) e &l 88 10,200 83%
12H14H(H) e &l 88 12,700 79%
12H15H(H) e &l 88 11,700 81%
12H16H(N) e &l 88 9,700 84%
12H17H(OK) e &l 88 9,700 84%
12H18H(XK) e &l 88 9,700 84%
12H19H(&) e &l 88 11,700 81%
12H20H(%) e &l 88 10,200 83%
12H21H(H) e &l 88 10,700 82%
12H22H(AH) e &l 88 10,200 83%
12H23HN) e &l 88 10,200 83%
12H24H(0K) e &l 88 10,700 82%
12H25H(K) e &l 88 11,700 81%
1H5H(A) e &l 88 10,200 82%

1H6H(N) e &l 88 9,700 83%

1H78H(0K) e &l 88 9,700 83%

1H8H(XK) e &l 88 9,700 83%

1H9H(E) e &l 88 10,700 81%

1H10H(XL) Ealbs) &l 88 9,700 83%
1H11H(H) e &l 88 9,700 83%




IBEX43
pEERE P B2, — -

EELE 5|
1812H(H) e =[] 88 10,200 82%
1813H(N) s f& ) 88 9,700 83%
18148 0K) e =[] 88 9,700 83%
18315H(K) s f& i) 88 9,700 83%
1816H(E) e =[] 88 10,700 81%
18178(L) e f& ) 88 9,700 83%
1H18H(H) e =[] 88 9,700 83%
1H19H(A) e f& ) 88 10,200 82%
18208 (XN) e =[] 88 9,700 83%
182180K) s f& ) 88 9,700 83%
1822H(K) e =[] 88 9,700 83%
1823H (&) s f& i) 88 10,700 81%
1H24H(L) e =[] 88 9,700 83%
1H25H(H) e & 88 9,700 83%
1H26H(A) e =[] 88 9,700 83%
18278(N) e &[] 88 9,700 83%
1H28H(K) v =[] 88 9,700 83%
1H29H(K) e &[] 88 9,700 83%
183308 (&%) e =[] 88 10,700 81%
1831H(L) e & 88 9,700 83%

BT EE IS ERZEE - PEERRZEE (oY) - KIRERREZE (R - RRZEERERR T MESIEADRR.
ZEEE CINZ Tl HREFEERERR | 2B NS CDh>TRUZRITED,

e (1R1XEAE)

F% : AA3701 (ME180M3)

& : KA2901 (ME150M)

ER . KA440M (/N2220M)

73 . KA34081 (MNE170M)

L5 : KA3408 (/NE170M)

t&kE : KA110M (/NE50M)




